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INTRODUCTION

There is considerable data available for the use of stabilization of soils with pozzolan
additives such as lime, cement kiln dust (CKD), and fly ash. While the data exists, there is
currently no database available for the Nebraska Department of Roads (NDOR) to store and/or
retrieve this data for the prediction of soil properties. The conventional methods used to
determine many soil properties can be repetitious, labor intensive, and time consuming (e.g.
maximum laboratory density, optimum moisture content, percent pozzolan additive, optimum

compressive strength, and modified plasticity index).

Purpose

The purpose of this research was to develop a computerized model to predict soil
properties stabilized using additives such as lime, CKD, and flyash. Properties were based on
specified soils using the Nebraska Group Index (NGI). The model is able to predict the
maximum laboratory density and optimum moisture content for native soils. It will also predict
the soil properties of NGI soils stabilized with pozzolan additives, including maximum
laboratory density, optimum moisture content, unconfined compressive strength, and modified
plasticity index. A review of the literature demonstrated that is it is very possible to create a soil
prediction model through specialized software applications like artificial neural networks
(ANN). The research Team and NDOR elected to use Microsoft Excel 2007 to create the model

due to ease of use and the commonality of the program within NDOR staff.



LITERATURE REVIEW

The literature review for research of prediction models of soil stabilized properties
showed limited information available in this area. Models were found that depicted stabilized
soil properties consisting of charts, diagrams, and computer models. Many studies exist showing
computer aided modeling of different soil properties using ANNs but no research could be found

that implemented Microsoft Excel models or programs.

Prediction Models

Several government agencies have developed manuals for researched soils and properties
of stabilized soils. Research established criteria for improving engineering properties of soils
used for pavement base structures. In theses manuals, the optimum types of additives were
determined for different soil types. Based on soil type, plasticity index, and amount passing the
#200 sieve, a recommended additive can be found. The manuals also provide estimated contents
for hydrated lime, cement, and bitumen contents .

Research efforts developed a soil moisture strength prediction model, not for predicting
soil stabilized strengths, but for predicting soil strengths for native soils and providing
documentation of the model’s ability to determine soil strengths®. In one particular study, a
model was used to predict soil moisture characteristic from particle size distribution and bulk
density data. The study concluded that the overall predictive ability of the model was
reasonable’.

Another study demonstrated how a model was developed to predict the resilient modulus
of soils; however, this study was performed only on Ohio native soils and only tested identified
problem soils (noted as A-4, A-6, and A-7-6 AASHTO soil types). This model was designed for
native soils. Stabilized soils were excluded from laboratory testing. The experimental program
used typical key components (i.e. liquid limits, plasticity index, etc.; same used in this NDOR
study) and successfully demonstrated how ANNSs can be used to predict resilient modulus along
with unconfined compressive strength and resilient modulus .

Numerous other studies have been completed over the years showing the use of ANNs

and their application. Since the early 1990’s, ANNs have been effectively used in almost every
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aspect of geotechnical engineering. The documentation from ANNS illustrate its use for the
prediction of axial and lateral load capacities in uplift of pile foundations and compression o
ground anchors '>'*2! and drilled shafts®®. Many researchers have deemed this type of
computerized modeling reliable and practical alternative for determining constitutive monotonic
and hysteretic behavior of geomaterials >,

ANN’s applications have been used in the development of estimating several soil
properties such as: soil density*’, soil classification®®, pre-consolidation pressure*’, compaction,

47,50-55 58-59

permeability . The same concepts

, shear strength , stress history"*?’, and swell pressure
have been applied to settlement prediction of shallow foundations on cohesionless soils by
researchers' 8206068

Estimating the bearing capacity of shallow foundations was also investigated using

ANNs 7% Other geotechnical applications include; tunnels and underground openings 77,

75,79-86

. . . E i . .87 A E
geoenvironmental engineering 78 site characterization rock mechanics *, retaining walls

91-92 93

Sl blasting 2l mining , and dams .

It was observed that the neural network successfully modeled the pile load capacity **°
while predicting ultimate bearing capacity of piles. Predicted values from the software matched
the measured values better than that calculated by Meyerhof’s equation . Additionally, research
found three ANN computerized models predicting capacity of driven piles in cohesionless soils.
Results showed high coefficients of determination (0.95) for all data in computer model, while
other methods only had coefficients of determinations between 0.52 and 0.63 °.

In related research, ANNs were developed to predict the settlement in shallow
foundations. While traditional methods overestimated the settlement by two to three times, the
computer predictions appeared to be extremely accurate °. In a separate but similar study,
researchers developed a computerized model to predict soil properties and behavior between
relative density and cone penetration test. The model was found to have high coefficients of
correlation 0.97 and 0.91 for training and testing data, which indicated the ANN had successfully
modeled the non-linear relationships '***. When an ANN was used in the determination of
liquefaction (phenomenon that loose and saturated sands caused by earthquakes) it was found to
have a 94% success rate °°. Application of a similar type computer model was developed to
estimate maximum wall deflections for braced excavation in soft clays. The results from this

study produced coefficients of correlation of 0.984 and 0.967 and additional testing (from actual



cases) confirmed the performance of the trained ANN model **. When an ANN was used for
slope stability, several hypothetical slopes were evaluated by analytical and ANN models. The
results were in favorable agreement when compared to the analytical model .

ANNSs have also been used in several other areas in heavy highway construction.
Research of a computerized system was developed for predicting earthmoving production and
demonstrated its use in predicting earthmoving operations °°. Documented uses of ANNs for the
use of concrete mix designs were tested. Results determined the designs were within acceptable
ranges, thus validating the use of computerized modeling %7 Research involving use of ANN for
construction cost estimation *%, estimating construction productivity 9 and modeling
construction management '°° has shown success. Other research has focused on the use of ANNs
for backcalculation of layer moduli obtaining data from a falling weight deflectometer. They
found the ANNSs to be successful in determining layer moduli further providing pavement
engineers and designers the ability to rapidly analyze huge numbers of pavement deflections '*'.

UNL researchers found only one study similar to one contained within this report. This
particular study utilized a model to predict the maximum dry density (MDD) and optimum
moisture content (OMC) of stabilized soil. To the best of the researchers’ knowledge, this was
the first time radial basis function (RBF) neural networks were used to predict MDD and OMC.

The literature demonstrates that the use of a computerized prediction model would avoid
extensive and cumbersome laboratory testing ', Although there is limited information on
computer aided models for the prediction of stabilized soils, the information found demonstrates
the ability of computer programs (e.g. ANNs) to model different soil properties. NDOR and the
research team chose to utilize Microsoft Excel 2007 this research project. Excel has the internal
software needed to statically analyze data while being user friendly. This software is readily
available to NDOR. It is commonly used by their staff and server operations. Changes to the

develop software program could be easily accomplished by their current technology support

personnel.

Research Objectives

Primary objectives expected from this research study:

. Allow designers, contractors, and managers to develop a better understanding of soil types
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and characteristics for designing, bidding and constructing purposes.

. Provide accurate soil property predictions with considerably less resources than required
when completing soil test procedures

0 Decrease project delay time by providing designers with the ability to predict soil
properties as soils change throughout construction process.

. Provide better compaction confidence given the ability to predict soil properties on
demand with multiple soil types on projects.

. Establish a soils database with stabilized soil properties.

Implementation

The Nebraska Group Index (NGI) is the basis for the soil classification system used in the model.
If the NGI is unknown and the native soil properties are entered, the NGI can be determined. The
model was originally developed as a prototype functioning with limited data collected from
previous research performed for the NDOR. It allows the user to input raw data to build the
database. Once inside “view/modify” database mode, the user is able to insert, edit, or delete data.
The software also allows the user to enter the “design mode™. In this mode the user picks from
options such as type and percent of pozzolan additive, liquid limit (LL), plasticity index (PI), and
percent minus #200 of native soil. The model then predicts results for design specifications based
upon NDOR guidelines. The user is allowed to choose a specific pozzolan percentage from
within a range. Results from the design mode include

o NGI,

e maximum laboratory density (MLD),

e optimum moisture content (OMC),

e unconfined compressive strength (UCS),

e plasticity index (PI),

e r-squared value, and

e number of samples used in the prediction of the modified soil.
The user may also select the “native option” inside this same mode, which provides native soil
properties for maximum laboratory density, optimum moisture content, and number of samples

used in the prediction.



METHODOLGY

This section contains a description of methods used in this study. The data used for creating and
testing the prediction model was retrieved from a previous NDOR project. Figure 1 shows the
flow chart for the prediction model.

Figure 1: Flow chart of the analytical process
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Native Properties

The native soil properties were averaged to predict MLD and OMC. The six native soil
properties utilized in the historical database are NGI, LL, PI, percent passing #200 sieve, MLD,
and MLD OMC.

Modified Properties

Additive type, Additive percent, MLD, MLD OMC, maximum UCS, UCS OMC, and PI are the
modified properties used in the historical database. The modified properties for flyash and CKD

were statistically analyzed with the following equation.
y= (2 *x%) +(cl *x) +b

Whereas

c2 = Index(Linest(y, x"{1,2},1)

cl = Index(Linest(y, x*{1,2},1,2)

b = Index(Linest(y, x*{1,2},1,3)

This equation is used so data such as MLD vs. percent additive will create a statistical
trendline thus making it possible to predict properties from a given percent of additive. The
model works with different soil types that are established by the NDOR developed NGI group.
The LL, PI, and percent passing #200 entries will be used in calculating NGI and shown on the
output screen. When the soil data is entered into the model it searches the database for only that
NGI soil type. The NGI is calculated from equations that were derived from the Nebraska
Group Index Charts. It then statistically develops a trendline for that same soil type using
additive and percentages associated with that NGI. Once the equation for the line is determined,

modified properties can be predicted for the percent of additive required to meet NDOR criteria.

Soil that has been modified with lime will be displayed showing only one lime percentage which
corresponds to the percentage determined by the Eades and Grim test. This test uses pH to
estimate the optimal lime proportion required for soil stabilization. CKD and flyash additives are

evaluated at three commonly used percentages each (5, 7, and 9 percent for CKD and 10, 13, and



15 percent for flyash). For lime a single concentration is used to calculate MLD, MLD OMC,
maximum UCS, UCS OMC, and PI. Consequently, the only method to predict properties for

lime modified soil is by averaging data.

CONCLUSION

The soil prediction model for stabilized road bases was successfully developed as a
prototype functioning with limited data. Once researchers completed testing, all test data was
removed from the software. It now returns with a “no data” error until loaded with actual
laboratory date. Once filled, it will predict the maximum laboratory density and optimum
moisture content of native soils. Additionally, the model will determine a maximum laboratory
density, optimum moisture content, unconfined compressive strength, and plasticity index of
specified pozzolan percentages for soil stabilization using lime, flyash, and CKD. Native and
stabilized soils will have 14 data points obtained for each Nebraska Group Index (NGI). These
key inputs will include: highway, mile marker, soil type (NGI), liquid limit, plasticity index,
percent passing the #200 sieve, maximum lab density (native), optimum moisture content (native),
percent pozzolan additive, maximum lab density (modified), optimum moisture content

(modified), maximum unconfined compressive strength, plasticity index (modified), and year.

The prediction model operates using Microsoft Excel and Visual Basic
Applications (VBA). The use of these particular computer applications is important because of
the statistical analysis they provide while making the overall program simple to operate. The
system provides NDOR with an almost unlimited database. It is set up so field and office
personel can enter laboratory stabilized soil properties into the database. Once the database is
filled, the software can be used to predict properties of pozzolan modified soils and specified
percentages of pozzolan needed to stabilize road bases. Appendix A contains a Manual with
screens shots depicting the operation of the prediction model. It also shows the interface design
and output screens. Appendix B is an archive of the algorithms and macro codes used in the

development of this software.
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APPENDIX A — Manual: Prediction of Soil Characteristics
Using Various Pozzolans for Road Stabilization
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MAIN MENU - DESIGN

Main Menu to start design mode! or view/modify database

Prediction Model For Soill Mix Designs

MAIN MENU ‘pa:nm"fkm

PREDICTION MODEL FOR SOIL MIX DESIGNS

Press button

to begin
design
BEGIN DESIGN
VIEW/MODIFY Df-'\TAB.ﬂ\SE‘
CLOSE ‘
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DESIGN

Inserting data into design fields:

Example — Flyash for all Design Pozzolan Percentages

Prediction Model For Soil Mix Designs

Pozzolan Additive Type

Design Pozzolan Percent

Liguid Limit

Plasticity Index

INSERT DESIGN DATA oo o oo

Choose Pozzolan Type
FLYASH ¥
/— Choose design
All v percent
30— | Enter Liquid Limit

30—

Enter Plasticity Index

e RS e e N ==— Enter Percent Passing #200 sieve
Main Menu Clear Form Perform Anaiyslsé
/ \L T — 'f

/

Return to Main Menu

o

Press button to Press button to
Clear Form Perform Analysis
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Output is Predicted Modified Soil Properties for Flyash

Example of 10, 13, and 15%

Prediction Model For Soil Mix Designs

PREDICTED MODIFIED SOIL PROPERTIES

Project Number | \

Nebraska Group Index [ 10 | w| 30 | PI| 30 |

thratas
ment of Roads

:

Enter Proiect Number for printout

Pozzolan Additive FLYASH

_— Outputs r2 values for
/ra

Percent Pozzolan [ w0 | [ B3] [ 15 | each property
Maximum Lab Density [ 104 | [ 106 | | 108 | 0.98

Optimum Moisture Content (%) | 174 | | 18 | | 188 |

Unconfined Compressive Strength osl) | 165 | [ 185 | [ 200 ]

Plasticity Index [ 17 ] [ 12 ] |—5—|

Indlvidual n = Total n=
Print Main Menu \

Number of values
Back Total number of
of each percentage

values used to

\_ create r?
\— Go back to last Press for printout
screen of data Return to
Main Menu
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Choosing single pozzolan percentage. Example: Flyash @ 10%

Prediction Model For Soil Mix Designs

Pozzolan Additive Type

Design Pozzolan Percent

Liguid Limit

Plasticity Index

Percent Passing #200

Main Menu

INSERT DESIGN DATA

FLYASH ,,/_

10 -

o Nebeasha
Oopartmont of Roads

Choose Pozzolan Type

Choose design

percent

30

Enter Liquid Limit

P—

Enter Plasticity Index

Clear Form

N——

Enter Percent Passing #200 sieve

;iPerform Analysis

Press button to
Perform Analysis
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Output is Predicted Modified Soil Properties. Example: Flyash @10%

Prediction Model For Soil Mix Designs

PREDICTED MODIFIED SOIL PROPERTIES LA
Project Number [
Nebraska Group Index I 10 I LLf 30 | PI
Pozzolan Addltive | FLYASH J
Percent Pozzolan 10 r2
Maximum Lab Density (PCF) 104 0.98
Unconfined Compressive Strength (psi) 165 0.998
Optimum Moisture Content (96) 17.4 0.943
Plasticity Index | 17 ] 0.935
Individual n = llomha =
=
Back Print | Main Menu
[ —
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Inserting data into design fields:

Example — Lime with all percentages

Prediction Model For, Soil Mix Designs

X

A AT
INSERT DESIGN DATA ’
Pozzolan Additive Type LIME ~
Design Pozzolan Percent All -
Liquid Limit 30
Plasticity Index 30
Percent Passing #200 50
Main Menu Clear Form Perform Analysis
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Output is Predicted Lime Soil Properties.

Prediction Model For Soil Mix Designs

PREDICTED MODIFIED SOIL PROPERTIES @DOR

Nedeasha
el of Roads

Project Number | |
Nebraska Group Index 10 | | 30 | PI[ 30 |

Pozzolan Additive LIME

Percent Pozzolan 3 ] [ 4] [ s ] | & |
Maximum Lab Density | 99 | | 95 | | 956 | | 9.2 |
Optimum Moisture Content (%) | 18 | | 183 ] [ 184 | | 183 |
Uncorfined Compressive Strength (psl) | 155 | [ 160 | [ 161 | | 160.3 |
Plasticity Index o | | o | | o | | o |
Individual n = [ 6]

Back Print Main Menu

Format is the same as other forms except, it shows percentages of 3, 4, 5, and 6. This form will not have
any r? values because soil properties are performed on only one percentage determined from the Eades
and Grim test. There would not be multiple lime percentages evaluated for each soil type, only the one
determined form the Eades and Grim test
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Inserting data into design fields:

Example — Native Soil (no pozzolan)

Prediction Model For Soil Mix Designs

QY Nobraska
vepariment of Roads

INSERT DESIGN DATA

Pozzolan Additive Type | NONE j

Design Pozzolan Percent

Liguid Limit 30
Plasticity Index 30
Percent Passing #200 50
Main Menu Clear Form Perform Analysis
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Output is Predicted Native Soil Properties.

Prediction Model For Soil Mix Designs

e

PREDICTED NATIVE SOIL PROPERTIES %

9k,
nariment of Roads

Project Number | |

Nebraska Group Index [ 10 ] LL| 30 | Pl

,//— Outputs

Maximum Lab Density (PCF) 95.9

Optimum Moisture Content (%6) 20.5

Number of values
of each percentage

Back \ Print Main Menul |

n =

1




MAIN MENU - VIEW/MODIFY DATABASE

Main Menu screen: Select View/Modify Database Option.

gﬁOR
MAIN MENU AT T

PREDICTION MODEL FOR SOIL MIX DESIGNS

Prediction Model Far Soil Mix Designs

BEGIN DESIGN ‘ Press button to
/ view or modify
database design
VIEW/MODIFY DATABASE
CLOSE
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VIEW DATA

Viewing Data for Flyash, CKD, or Lime.

Choose additive

VIEW DATA MODE Select Additive
i [ Click Sort button twice to sort
Data Titles | | NATIVE SOIL PROPERTIES | [ MODIFIED SOIL PROPERTIES |
SORT | SORT SORT
Bample Mile 1] [Cead] [P1 Add] [MD] [MLD ] [Max | [OCS| [PT | [Year
No. Marker Limit 200 | %6 | oM JLES | IOME] ||
4 s |[w][ = [(10] [(104] [(185] [(165] [17.4] (7] [ 2 T
Database 5 57 | [1w0][ s ][ =] [ 15] [108] [ 16 ][ 200] [es] [ S][ 2] '
information L 1 ][o][ 1 J[1][1] [13][ 106] [1rs][ies][aa ][] [ ‘
5 3] [0] [ | [=5] [eo] [ 13] [[206] [175]) [aes] 18 ] [12] [ 1
8 o |[x][as |[zs] [eo] [15] [0e] [ 15 ] [2m0] [1e8] [ 5] [ = EIRE
7 9 |[ ][ 45 |[=5] =] [13] [(106] [175] [(1es] [ae | [ 2] [ 2
9 s |[22][ss | [=s] (0] [ 10] [[104] (18] [(1es] [74] [17] [ 1
1 u ][22 [ ][] [ea] [ 13] [[106] [175] [aes] (e ] (2] [ 2 /
14 u ] [22][4s | [2s] [eo] [13] [(206] [75] [1es] [1s | (2] [ ¢ Scroll thru
10 4| 45 | [ 2] 95 | [10] [1o0d [1e5] [16s] [174] (7] [ 1] data by 1 or
10 at a time
DELETE MODE EDIT MODE MAIN MENU DOR
" Netersaa
\ partment of Roads
In the View
Data Mode

select delete,
edit, or insert
data mode




DELETE MODE

Delete Mode allowing user to delete unwanted inputs. Choose additive

Check here DELETE MODE Select Additive
| Click Sort button twice to sort
sort | soxr | ot | NATIVE SOIL PROPERTIES | [ MODIFIED SOIL PROPERTIES |
Feliz] Bample] Fidhway] [ Mile 1] Liguid] [P1 ] [Pet] [vLD] D] [Add] [MLD | [MLD] [Max | [ucs E Year
1N, Markes Limit] | | {200 ChC % [EMC ] JUCS | IGMC
I Optional Tngat
r 4 9 5 |[0][ s |[=s][e0][ s ][ 20 [10] [(104] [385] [3es] (4] (] [ 2
r 6 9 67 | [o] [ a5 | [[z5] [eo] 21 [ 15] [(108] 16 | [(200] [ze8] [ s ][ 2
I 100 v [l [ )]0 2] ] [3] [os] [75] [1es] [ 18] (2] [ 2
r 5 7es [ 3 | 4 | ][] ][ 9] w6 [ 17.5] [(1es] 18] [22] [ 2
r 8 3 0[] 4s |[=s][e0][ ][ 2] 108] [ 16 ] [200] [188] [ 5] [ 1
r 7 5 o | [ [ s ] [=s] (0] 19| [13] [aos] [75] [aes] [ 18 | (2] [ 2
r 9 1 s |[22][Cas ) [2s][eo] [ss ][ 2] [1o][104] [2es] [1e5] [a7a] [17] [ 2
r 11 5 1 | [ 12][ 45 ][ 25][ e0] 19 106] [17.5] [1es] [ ] [22] [ 2
r 14 5 u | [2][Ces ] [zs) (o) [ 1 ][9] [G3][aoe] [azs] [1es] (18] [22] [
m o[ 21 4 J[22][as 1 [=s][sa] [e5][ 2] [[x0] [(roed [es] [1es] [17.4] (7] [ 2

Press here to delete

EXIT DELETE t [m

A
L Nreenda
“Crpwrmenr of Rosay

Check the row in the delete column that is to be deleted and then press the delete button.
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EDIT MODE

Choose additive

Edit Mode allowing user to change values inputted incorrectly.

Check here EDIT MODE Select Additive -
| Click Sort button twice to sart
som] som] sort | NATIVE SOIL PROPERTIES | [ MODIFIED SOIL PROPERTIES |
Eﬂ."t Bample HIghwavJ Mile | NGI] [Liquid] [PT ] [Pct] [MD] [MD]  [Add] [MD] [MD] [Max | [OCS | [P1 | [Vear
No. Marker Limit 200] lome| (9] omc| [ucs | fome) ||
“’_ S Ciptional Input —
[ ] - — = [ ]
. ] (]
i ] - ] [ |
3 ]
r ] (I | = ]
r ]
T 1] 1] ] [ ]
~—— | Press here to edit _
EXIT EDIT A
k\#.’.'n-‘!a.'#u»‘l

Check the row in the edit column that is to be edited and then press the edit button. Then make the
changes to individual inputs.

32



INSERT MODE
Insert Mode used to input data in database to be used for prediction model.

Select Additive l—j INSERT MODE
Choose additive [ NATIVE SOIL PROPERTIES | [ MODIFIED SOIL PROPERTIES |
ighway| [ Mile ﬂ Liquid E pet] MO [MO]  [Add] [MCD] [MLD] [Max | [UES] [PT ] [Vear
Marker Limit 200 - (OMMC % OMC| [UCS| [T | |
] - - - | ]
| o o -
| (O ]
[ ]I [ [ [ [ ]
] ] = |
] 1] = L
[ ] I ] [ []
[ 1] [ . i L] I ]
—_—
EXIT INSERT N[JOR
- AT

Choose an additive to start the input mode. Then input all required data inputs. Each record must have
Highway, Mile Marker, NGI, and Modified Soil Properties to be inserted into database. IMPORTANT: If
data does not disappear after clicking insert button, then Highway, Mile Marker, NGI, and Modified Soil
Properties data MUST be entered.
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APPENDIX B - Macro Codes and Alogorithyms for Prediction
Model Software

34



Private Sub Bl _Click()
ThisWorkbook.format _datainput
MainMenu.Hide
Datainput.Show

End Sub

Private Sub 82 _Click()
MainMenu.Hide
data, FORMATVIEWMODE
data.CLEARFORM
data.Show

End Sub

Private Sub B3 _Click|)
prompt = “Save file if data has been added or modified to database"
status = MsgBox(prompt, vbOKOnly + vbApplicationMedal, “Message")
MainMenu.Hide
End Sub

DESIGN — INPUT DESIGN DATA

Private Sub MMDI Click() NIALE 2= ! Iz
Datalnput . Hide
MainMenu.Show

End Sub
Private Sub CBCFDI Click() !
ThisWerkbook.format_datainput

End Sub

Private Sub CBDPP_Change ()
tbdpp.Visible = False
tidpp . Text = """
If CBDPP.Value = "Other"™ Then
thdpp.Visible = True
tbdpp.SetFocus
End If

End Sub

Private Sub CBMMDI_Click() 'S0 s=ooonE T EBACY D=
Datalnput.Hide

MainMenu.Show

End Sun

Private Sub Cﬂ?nDIiclick{J ’
Dim prompt, status

Dim wks As Worksheet

If TBLL.Value = "" Then
prompt = "Missing Liguid Limig"
status = MsgBox({prompt, vbOKOnly + wbApplicationModal, "Missing Data")
TBLL.SetFocus
BElse
I1f TBPI.Value = "" Then
prompt = "Missing Plasticity Index"
status = MsgBox (prompt, vbOKOnly + vbApplicationModal, "Missing Data")
TBPI.SetFocus
Else
If TBPP.Value = "" Then
prompt = “"Missing Percentage Passing #200"
status = MsgBox (prompt, vbhbOKOnly + vbApplicationModal, "Missing Data")
TBPP.SetFocus
Else
If CBPAT.Text = "" Then
prompt « "Missing Pozzolan Additive Type”
status = MsgBoXx(prompt, vbOKOnly + vbApplicationModal, “Missing Data")
CBPAT.SetForcus

Else
If CBDPP.Text = "" And CBPAT.Text <> "NONE" Then
prompt =« "Missing PDesired Pozzolan Percent"

35



sStatus
CBODPP.SetFocus
Else

1€ CBDPP.Text

MsgBoux (prompt, vbOKOnly + vbApplicationModal,

"Missing Data")

"Other" And tbdpp.Value = """ Then

prompt = "Missing Desired Pozzolan Percent" N
status = MsgBox (prompt, vbOKOnly + vbApplicationModal, "Missing Data")

thdpp. SetFocus

Eilse

if CBDPP.Text = "Other" Then

Sheetl
Else
Sheetl
End If
Sheetl
Sheetl
Sheetl

Sheet!.Range ("bed93145")

With PSP

.Range ("be433197") = thdpp.Value
.Range ("beq493197") = CBOPP.Value
.Range ("bp493198") = TBLL.Value
-Range ("bp493200") = TBPl.Value
.Range ("bg493201") = TBPP.Value

CRPAT,Value

=

«nindividual.Value = Sheetl.Range("BL493210")
Datalnput.Hide

If CRBDPP.Value = "AlLl" Then
With MultipleProperties
.lLabeld.Caption = "Unconfined Compressive Strength (psi)"
.Labeld Caption = "Optimum Moisture Content (%)"
.1l.Value = Datalnput.TBLL
.pi.Value = Datalnput,TBPI

.ngi.value = Sheetl Range("bed93193")
.pat.Value = Sheetl,Range ("bed93195")
.ppl.Value = Sheetl,Range ("bdd53200")
.pp2.Value = Sheetl.Range ("bf493200")
.pp3.vValue = Sheetl.Range("bh493200")
.pp4.Value = Sheetl,Range ("bi493200")

(mldl.valua = Sheetl,Range ("bdd93202")

.mld2.value

Sheetl.Range ("bf493202")

.mld3.Value = Sheetl.Range("bh493202")
.mld4,Value = Sheetrl.Range("bid493202")
«omel.Value = Shestl.Range("bd493206")
Jomc? . Value = Sheetl.Range ("bf493206")
Jomc3.Value = Sheeatl.Range ("bh493206")
.omcd.Value = Sheatl.Rangs("bid423206")
Juesl.Value = Sheetl.Range("bd493204")
(ues2,.Value = Sheet] . Range ("bEf493204")
.ues3.Value = Sheetl.Range ("bh493204")

Juecsd . Value

~BI1
~BI2
+PI3
JBIA

~rmld.Value
~rome.Value
~rucs.Value

.Tpi

Sheetl.Range ("bi493204")
.Value = Sheetl.Range("bdd93208")
.Value = Sheetl.Range("bf493208")
.Value = Sheetl.Range("bh493208")
Value = Sheatl.Range("bid93208")
Sheetl.Range ("bj4923202")
Sheetl.Range ("bi493206")
Sheetl.Range ("bj4923204")
Value = Sheetl.Range("bj493208")

.nmult.Value = Sheetl.Range("bj493197")

.n3.Value = Sheetl.Range ("BDAS3Z10")

«ni.Value = Sheetl.Range("BF493210")

.ni.Value = Sheetl.Range ("BH493210")

n6.Value = Sheetl.Range("BI493210")
If .pat.Value = "LIME" Then

.ppd.Visible = True
.mld4.Visible = True
«omed.Visible = True
+ucsd.Visible = True
+PI4.Visible = True
crome,.Visible = False
Jrucs.Visible = False
rmld,.Visible = False
+cpi.Visible = False
.Labell,Visible = False
.Labell5.Visible = False
.nmult.Visible = False
.Labell6.Visible = True
.n3.Visible = True
«nd.Visible = True
nH.Visible = True
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.n6.Visible = True
Else
.rome.Visible = True
.Tucs.Visible = Tryue
.rmld,Yisible = True
.rpi,Visible = True
.Label9.Visible = True
ppd.Visible = False
.mid4.Visible = False
.omed . Visible = False
~ucsd.Visible = False
.P14.Visible = Falge
.n6.Vigible =« False
.Labells . Visible = True
.Labells, Left = 588
nmult.Visible = True

Hnd If
. Show
End With

Else

With PSP
.PPSP,.Visible = True
.PP5P1.Vigible = False

.Labeld.Caption = "Unconfined Compressive Strength (psi)"

+Labell.Left = 0

«Labell.Caption = "PREDICTED MODIFIED SOIL PROPERTIES"
.Labell.Left = ,Labell.Left + PSP.Width / 2 - .Labell.Width / 2

.1l.Value = Datalnput.TBLL

.piorig.Value = Datalnput.TBPI

.ngi.Value = Sheetl.Range("ba493193")

.pat.Value = Sheetl.Range ("bed93195")

«pp.Value = Sheetl.Range ("bl493200")

.mld.Value = Sheetl.Range{"bl493202")

.omc.Value = Sheetl.Range ("b1493204")

sues.Value = Sheetl.Range ("bl1493206")

.pi.Value = Sheetl.Range ("bl493208")
.emld.Value = Sheetl.Range ("bj493202")
.rome.Value = Sheetl.Range ("bj493206")
.rucs.Value = Sheetl.Range ("bj493204"™)
«rpi.Value = Sheetl.Range("bj493208")
«nsingle.Value = Sheetl.Range ("bj493197")

JLabeld.Visible = True

.Label’.Visible = True

.LabelB.Visible = True

.Label3.Visible = True

.Labelq.Visible = True

.Label5.Visible = True

Jpat.Visible = True

ipp.¥isible = True

Jucs.Visible = True

comc.Visible = True

pi.Visible = True

.nnative.Visible = False

Labell6.Visible = True

nsingle.left = 414

Labell5.Visible = True

Labelld.Left = 324

.nindividual.Visible = True

,nsingle.Visible = True

If .pat.Value = "LIME" Then
,romc.Visible = False
«kucs.Visible = False
~xmld.Visible = False
.rpi.Visible = False
.Label9.Visible = False
.nnative.Visible = False
.Labell5.Visible = False
.nsingle.Left = 252
.Labell6.Visible = True
.nindividual.Visible = Falsge

Else

givig T e T et o

If .pat,.Value = "NONE" Then
LPPSP Visible = False
PPSP1,Visible = True

.mld.value = Sheetl, Range("bd493202")
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«omc.Value = Sheetl.Range ("bd493206")
nsingle.Value =« Sheetl.Range("bj493197")
.romc.Visible = False
.rucs.Visible = False
.rmld,.Visible = False
.rpi.Visible = False
JLabel9.visible = False
.Label?.Visible = False
.Label8.visible = False
.Label3.Visible = False
.Label5.Visible = False
.pat.Visible = False
.pp.Visible = False
s, Visible = False
pi.Visible = False
.Label4,Caption = "Optimum Moisture Content (%)"
.Labell ,Caption = “PREDICTED NATIVE SOIL PROPERTIES"
.Labell,Left = 0
.Labell.lLeft = ,Labell,.Left + PSP.Width / 2 - ,(Labsll . Widch / 2
.nsingle.Visible = False
JLabell5,Visible = True
.Labell6.Visible = Falsze
.Labell5.Left = 18
.nnative,Visible = True
.nindividual.vigible = Falge
.nnative, Value = Sheetl,Range ("bj493197")
Els=
~rome.Visible = True
.Tucs,.Visible = True
.rmld.Visible = True
.rpi.Visible = True
.Label9,Visible = True

L

End If
End If
. Show
End With
End IE
End With
End If
End IE
End If
End It
End 1f
End If
End_Sub
Private Sub CBFAT Change(} g
CBODRP.Clear
thdpp.Visible = False
CBDPP.Visible = True
Tf CBPAT.Value = “FLYASH" Then 'FLYASH
With CBDPP
~AddItem ("10")
AddItem (“13")
<AddItem ("13")
SAddItem ("ALl™)
JAddItem ("Other")
End With
Else
If CBPAT.Value = "CKD" Then 'CKD
With CBDPP
AddItem ("5")
AddItem ("77)
JAdditem ("9")
LAddItem ("ALL™)
.Additem ("Other")
End With
Else 'LIME
1£f CBPAT.Value = "LIME" Then
With cBpPP
JAddItem ("3%)
Additem ("4m)
Additem ("5")
JAddItem (&™)
JAddItem ("All")
End With
Else
With CRDPP
.Visible = False
End With
End Tf
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End If
End Lf
End Sub

Private Sub MMPSEM_Click()
MultipleProperties,.Hide
MainMenu.Show

End Sub

Private Sub nmult Change()

End Sub

Private Sub ppl Change()

End Sub

Private Sub PPSPM Click()

If pat = "FLYASH" Then
Sheetd ,Range ("g7").Value = projnum.Value
Sheetd.Range{"d4:024") . PrintOut

Else

If pat = "CKD" Then

Sheetd .Range("g7") .Value = projnum.Value
Sheetd . Range ("d4:024") . PrintOut

Else

If pat = "LIME" Then
Sheet4.Range ("g7") .Value = projnum.Value
Sheetd.Range {"d71:091") .PrincOut

End If

End IE

End If

End Sub

REDIC INGLE SOIL PROPERTIE:!

Private Sub BPSP Click()
prajnum.Text = "
projnum.SetFoous

PSP, Hide

Datalnput,Show

End Sub

Private Sub MMPSP_Click()
PSP.Hide
MainMenu.Show

End Sub

Private Sub nlime Changel)

End Sub

Private Sub FPSP Click() 8 RESULTS
Sheetd . Range ("g32") .Value = projnum.Value
Sheetd . Range ("d29:n49") . PrintOut

End Sub

Private Sub PPSP1_Click() 'CODE FOR PRINT AREA OF NATIVE RESULTS
Sheerd,Range ("g56") .Value = projnum.Value
‘Sheetd ,Rangs ("d53:n66") . PrintQut

End Sub

VIEW/MODIEY DATABASE

Dim row As Integer
Dim INSMOD, DELMOD, VIEWMODE As Boolean
Public Sub FORMATVIEWMODE ()
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data.CLEARFORM

Label36.Visible = True
Label32,.Visible = True
cl.Visible = True
el.Locked = False
c2,Visible = Trye
el.locked = False
c3.Visible = True
c3.Locked = False
cd.Visible = True
cd,Locked = False
€5.Visible = True
¢5. Locked = False
c6.Visible = True
cé.Locked = False
c7.Visgible = True
ol.Locked = False
cB.Visible = True
cB, Locked = False
c9,Visible = True
€9, Locked = False
cl0.visible = True
cl10.Locked = False
H1l ,Visible = True

H2 Visible = True
E3.Visible = True
B4 .,Visible = True
H5.Visible = True

HG6.Visible = True

H7.Visible = True

HE8.Visible = True

H9.Visible = True

H10.Visible = True
MMI.Visible = True
MM2.Visible = True
MM3.Visible = True
MM4.Visible = True
MMS.Visible = True
MM6.Visible = True
HMM7.Visible = True
MMB.Visible = True
MM9.Visibie = True
MM1Q.Visible = True
NGI1.Visible = True
NGIZ.Visible = True

NGI3.Visible = True
NGIA.Visible = True
NGIS.Visible = True
NGI6.Visible = True
NGIT.Visible = True
NGIS.Visible = True
NGI9.Visible = True

NGI10.Visible = True
LL1.Visible = True
LL2.Visible = True
LL3.Visible = True
LL4.Visible = True
LL5.Visible = True
LL6.Visible = True
LL7.Visible = True
LLB.Visible = True
LL9.Visible = True
LL10.Visible = True
PIl.Visible = True
PI2.Misible = True

Pi3.visible = True
PId.Visible = True
PI5.Visible = True
PI6.Visible = True
PI7.Visible = True
PI8.Visible = True
P19.Visible = True
PI10.Visible = True
BTl visible = True
Pr2.Visible = True
Pri.Visible = True
P4 .Visible = True
Pr5.Visible = True
PT6,Visible = True
PT7.Visible = True
pT8.Visible = True



PT9.Visible = True
PT10.Visible = True

Ml.Visible = True
M2.Visible = True
M3.visible = True
M4 . Visible = True
M3.Visible = True
M6.Visible = True
M7.Visible = True
Ma.Visible = True
M2.Visible = True
M10.Visible = True
01.Visible = True
02.Visible = True
03.Visible = True
04.Visible = True
05.Visible = True
06,Visible = True
07.Visible = True
08.Visible = True

09.Visible = True
010.Visible = True
Pl.Visible = True

P2.Visible = True

P3.Visible = True

P4.Visible = True

B5.Vvisible = True

P&.Vigsible = True

P7.Visible = True

PB.Visible = True

P9.Visible = True

P10.Visible = True
MBl.Visible = True
MD2.Visible = True
MpD3.Visible = True
MD4 . Visible = True
MBS .Visible = True
MD6.Visible = True
Mb7.Vigible = True
MDB.Visible = True
MD9.Visible = True
MD10.Visible = True
MO1.Visible = True
MO2.Visible = True
MO3.Visible = True
MO4 . Visible = True
MOS.Visibla = True
MO6.Visible = True
MOT7.Visible = True
MOB.Visible = True
MO9.Visible = True

MO10.Visible = True
Ul.Visible = True
True
True

U2.Visible =
U3.visible =
U4.Visiole =
Us.visible =
U6.visible =
U7.visible =
Ug.Visible =

True
True
True
True
True

U9.visible = True

Ul0.Visible
Uol.Visible
Uo2.visible
U03.visible
Uo4.Visible
Uob.Visible
Uoe.Visible
UO7.Visible
uos.Visible
U09.Visible
U010.Visible
MPIl.Visible
MPI2.Visible
MPI3.Visible
MPI4.Visible
MPIS,.Vigible
MPI6.Visible
MPIT.Visible
MPIg.Visible
MPID.Visible

L 2R e BN DR R R A B ]

True
True
True:
True
True
True
True
True
True
True
True
True
True

True
True
True
True
True

LR RO RO I N B B

True
True



MPI10.Visible = True
¥l.Visible = True

Y2.Visible = True

Y3.visible = True
Y4.Visible = True
¥5.Visible = True
¥6.Visible = True

¥7.Visible = True
¥8.Visible = True
¥9.Visible = True

¥10.Visible = True
SortSample.Visible = True
sorthighway.Visible = True
sortngl.Visible = True
Label34.Visible = False
dl.Visible = False

d2.Visible = False
d3.Visible = False
dd.Visible = False
d5.Visible = False
dé.Visible = False
d7.Visible = False

d8.Visible = False
d9.Visible = False
dl0,Visible = False
delete.Visible = False
INSERTMODE.Visible = True
exitmode.Visible = False
MMENU.Visible = True
Labell35.Visible = False
edit.Visible = False
editmode.Visible = True
editinsert.Visible = False

With data
With .Labell '-2 -,
.ForeColor = &HB0000012 ' . "
.Caption = "VIEW DATA MODE"
Jdeft = 0
JLeft = Labell.Left + data.Width / 2 - lLabell.Width / 2
End With
LADDINSERT.Visible = False ' - - YPE FOANLE CMTH
With data.add ' - =l
.Clear
hddicem ("FLYASH")
L Additem ("CKD")
JAdditem ("LIME™)
.Left = data.Widch - ,Width - 10
MVisible = True
End With
With .LabellQ - 3
Left = add.Left - 2 - .Width
.ForeColor = &4HBODOQOL12
End With

LMOVEZ2.Visible = True
.movell,Visible = True
Jadd.Visible = True
'HIDE LABELS
.Label28.visible = True
.Label30.Visible = True
.Label3l.Visible = True
.Label29.Visible = True

,DELETEMODE.Caption = "DELETE MODE®
.DELETEMODE . ForeColor = &HB0O000012
. INSERTMODE .Caption = "INSERT MODE"
. INSERTMODE . ForeColor = &HBON00012
MMENU.ForeColor = FHB0000012
With .Label3d * = [

ForeColor = &HBOOOOO12

«Caption = "Delete"

End With

VIEWMODE = True
INSMOD = False
DELMOD = False

End With
End Sub

Public Sub FORMATINSERTMODE () ) E 2
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VIEWMODE = False
INSMOD = True

Label34.Visible = False
Labell3b.Visible = False
With data

With .Labell
ForeColor = EHFES ~
.Caption = "INSERT MODE"
JLeft = 0
JLeft = Labell.Left + data.Width / 2 - Labell.Width / 2

End With

With .ADDINSERT
Cleax
JAddItem ("FLYASH")
AddItem ("CKD")
JAddItem (“LIME")
Visible = True

End With

With .Labell0
Lefe = 2
.ForeColor = &HFFE °

End With
'HIDE BUTTONS
+MOVE2 ,Visible = False
.movell.Visible = False
.add.Visible = False

'HIRE LABELS

Label28.Visible = False
.Label30.Visible = False
.Label3l.Visible = False

JLabel29,.Visible False

.DELETEMODE .Caption = "EXIT"

. DELETEMODE . ForaColor = &HB0000012
. INSERTMODE.Caption = "INSERT"

. INSERTMODE . ForeColor = &LHFF&
JMMENU.ForeColor = SHFFg

End With
End Sub

Private Sub EDITMODE Click()
SortSample.Visible = True
Label32.Visible = True
cl.Visible = True
cl.Locked = True
c2.Visible = True
c2.Locked = True
e3.Visible = True
c3.Locked = True
cq.Visible = True
¢4.Locked = True
c5.visible = True
¢S, Locked = True
c6.Visible = True
cb.Locked = True
e7.Visible = True
c7.Locked = True
¢8.Vigible = True
¢8.Locked = True
c9.Visible = True
¢Y. Locked = True
clb.Visible = True
cl0.Locked = True

dl = False
d2 = False
d3 = False
dd = False
dh = False
d6 = False
d7 = False
d8 = False
d9 = ralse
d10 = False

Label3d . Visible = True
dl.Visible = True

d2.vVisible = True
d3.Visible = True
d4.Visible = True
d5.Visible = True
d6.Visible = True
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d7.Visible = True
dB.Visible = True
d9.Visible = True
d10.Visible = True

delete.Visible = False
INSERTMODE.Visible = False
exitmode.Visible = True
MMENU.Visible = False
edit.Visible = True

With data

With .Label34 e
.ForeColor = §HEFE '
.Caption = "Edic"
End With

With .Labell ' ot
ForeColor = &HFFS
.Caption = “EDIT MODE"
JLeft =0
eft = Labell,lLeft + data.Width / 2 - lLabell.Width / 2
End With

With .LabellC &
.ForeColor = GHFFE& '

End With
End With

End Sub
Public Sub EDIT eclick()

If add.value <> "FLYASH" And add.Value <> "CKD" And add.Value <> "LIME" Then
prompt = "Missing Additive Type"
status = MsgBox (prompt, vbOKOnly + vbApplicationModal, "Error")

Else

If dl.Value = False And d2.value = False And d3.Value = False And d4.Value = False And d5.Value = False And
d6.Value = False And d7.Value = False And d8.Value = False And d9.Value = False And dl0.Value = False Then
prompt = "Please select data to edit"
status = MsgBox(prompt, vbOKOnly + vbApplicationModal, “Error")
Else
If add.value <> "FLYASH" And add,Value <> "CKD" And add.Value <> "LIME" Then
prompt = "Missing Additive Type"
status = MsgBox(prompt, vbOKOnly + vbApplicationModal, "Error")

Else

If dl = True Then

editinsert.Visible = True
d2.Visible = False
d3.Visible = False
d4.Visible = False
d3.Visible = False
db.Visible = False
d7.Visible = False
dB.Visible = False
d9.visible = False
dif.visible = False

¢2.Visible = False
c3.Visible = False
cd.Visible = False
ch.Visible - False
cb.Visible = False
¢7.Visible = False
c8.Visible = False
c9.Visible = False

cl0.Visible = False
H2.Visible = False
H3.Visible = False
H4.Visible = False

H5.Visible = False
H6.Visible = False
H7.Visible = False
H8.Visible = False
H9.Visible = False

H10.Visible = False
MM2.Visible = False
MM3.Visible = False
MMA . Visible = False
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MM5.Visible
MM6.Visible
MM7.Visible
MMEB.Visikle
MM9.Visible
MM10.visibl
NGIZ2.Visibl

e
2

NGI3.Visible
NGI4.Visible
NGIS.Visible
NGI6.Visible
NGI7.Visible
NGIB.Visible
NGIS.Visible
NGI10.Visible

LL2.Visible
LL3.Visible

LL4.Visible
LL5.Visible

LL6.Visible
LL7.Visible
LLB.Visible
LL2.Visible

LI ]

=
=
=
=
=

[

ORI

False
False
False
False
False
False
False
False
False
False
False
False
False
False
= False
False
False
False
False
False
False
False
False

LL10.Visible = False

Pi2.Visible
PI3.Visible
PI4.Visible
PI5.Visible
PI6.Visible

PI7.Visible

PI8.Visible
PI9.Vigible

UL I AR M B S A )

False
False
False
False
False
False
False
False

PI10.Visible = False
PT2.Visible = False

PT3.Visible = False
PT4.Visible = False
PT5,Visible = False
PT6.Visible = False
PT7.Visible = False
PT8.Visible = False
PT9.Visible = False
PT10.Visible = False
M2.Visible = False
M3.Visible = False
M4q.Visible = False
M5.Visible = False
M6.Visible = False
M7.Visible = False

M8.Visible = False
M9.Visible = False
M10.visible = False
02.Vvisible = False

03.Visible = False
04.Visible = False
05.Visible = False
06.Visible = False
07.Vigible = False
08.Visible = False
09.Visible = False
010.Visible = False
P2.Visible = False
P3.Visible = False
P4.Visible = False
P5.Visible = False
P6.Visible = False
PT.Visible = False
P8.Visible = False
P9.Visible = False
Pi0.Visible = False
MD2.Visible = False
MP3.Visible = False
MP4.Visible = False
MD5.Visible = False
MD6.Visible = False
MD7.Visible = False
Mp8.Visible = False
Mp9.Visible = False

MD10.Visible = False
MO2.Visible = False
MO3.Visible = False
MO4 . Visible = False



MO5.Visible = False
Ho6.Visible = False
MOD7.Visible = False
MOB.Visible = False
MO9.Yisible = False
MO10.Visibhie = False
U2.Visible = False
U3.Visible = False
Ud.Visible = False
U5.Visible = False
U6.Visible = False
U?.Visible = False
UB.Visible = False
U%.¥isible = False

Ul0.Visible = False
Uo2.Visible = False
U03.Visible = False
UG4.Visible = False
Uo5.Visible = False
U06.Visible = False
U07.Visible = False
U0B.Visible = False
UD9.Visible = False
Uol10.Visible = False
MPI2.Visible = False
MPI3,Visible = False
MPI4.Visible = False
MPI5.Visible = False
MPI6.Visible = False
MPI7.Visible = False
MPIB.Visible = False
MPI9.Visible = False

MPI1C.Visible = False
¥Y2.Visible = False

¥3.Visible = False
¥4.Visible = False
¥5.Visible = False
¥6.Visible = False
¥7.Visible = False
¥8.Visible = False
¥9.visible = False

¥10.Visible = False
edit Vigible = False
Label35.visible = True
Label35.Top = 252
editmode.Visible = False
End If
End If

If d2 = True Then

editinsert.Visible = True

dl.visible = False
d3.Visible = False
d4.Vigsible = False
dj.Visible = False

d6.Visible = False
d7.Visible = False
d8.Visible = False

d%.Visible = False
dlQ.Visible = False
cl.Visible = False
c3.Visible = False

ci.Visible = False
c5.Visible = False
c6.Visible = False
c7.Visible = False
cB.Visible = False
c9.Visible = False

clf.Visible = False
Hl.Visible = False
H3.Visible = False
H4.Visible = False

H5.Visible = False
H6.Visible = False
H7.Visible = False

H8.Visible = False
H9.Visible = False
H10.Visible = False
MML.Visible = False
MM3.Visible = False
MM4.Visible = False
MM5.Visible = False



MM6.Visible = False
MM7.Visible = False
MME.Visible = False
MM9.Visible = False
MM10.Visibkble = False
NGIl1.Visible = False
NGI3.Visible = False
NGI4.Visible = False
NGIS.Visible = False
NGI6.Visible = False
NGI7.Visible = False
NGI8.Visiple = False
NGI9.Visible = False
NGI110.Visibie = False
LLl.Visible = False
LL3.Visible = False
LL4.Visible = False
LL5.Visible = False

LLé.Visible = False
LL7.Visible =
LLB.Visible = False
LL9.Visible =
LL10.Visible = False
PI1.Visible =
PIj.Visible =
PI4.Visible =

PIS.Visible
PI6.Visible

P17.Visible =

PIB.Visible

PI9.Visible =
P110.visible
PT1.Visible = False
PT3.Visible
PT4.Visible
PIS,Visible

PT7.Visible
PT8.Visible
PT9.Visible
PT10.Visible = False

Ml.visible
M3.visible
Mi.visible
M5.Visible
M6.Visible
M7.Visible
M8.Visible

PT6.Visible =

False
False
False

False
False

= False
= False

False

= False

False
= False

False
False
False
False
False
False
False

False
False
False
False
False
False
False

M9,vVisible = False
M10.visible = False

01.visible
03.visible
04.visible
05.Visible
06.Visible
07.Visible
08.Visible
09.Visible

False
False
False
False
False
False
False
False

010.visible = False
Pl.Visible = False

Pl.Visible
P4.Visible
P5.Visible
P6.Visible
P7.Visible
Bg.Visible
Pg.Visible

=
=
=
=
=

Fl0.Visible
MPl1.Visible
MD3.Visible
MDA Visible

MDb.Visible
MD7.Visihle
MDB.Visible
MD9.Visible
MD10.Visible = False
MOl1.Visible = False
MO3.Visible = False
MO4.Visible = False
MO5.Visible = False

MD5.Visible =

False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False

a7



MDE.Visible = False
MO7.Visible = False
MO8 ,.Visible = False
MOS.Visible = False
MO10.Visible = False
Ul.visible = False
U3.Visible = False
U4.Visible = False
U5.Visible = False
U6.Visible = False
U7.Visible = False

ug.visible = False
U9,Visible = False
Ull.visible = False
Upl.Visible = False
UD3.Visible = False
UD4.Visible = False
UQ5.Visible = False
UO6.Visible = False
Uo7 ,.visible = False
UOB,Visible = False
UD9.Visible = False
UQi0.Visible = False
MPI1.Visible = False

MPI3.Visible = False
MPI4.Visible = False
MPIS.Visible = False
MPI6.Visible = False
MPI?.Visible = False

MPI8.Visible = False
MP19.Visible = False
MPI10.Visible = False
Y1l.Visible = False
¥3.Visible = False
¥4.Visible = False
¥5.Visible = False
Y6.Viaible = False
Y7.Visible = False
Y8.Visible = False
Y9.visible = False
Y10.visible = False
Label35.Visible = True
Label35.Top = 252
edit.Visible = False
editmode.Visible = False
End If

End If
If d3 = True Then
editinsert.Visible = True
d2.Visible = False

dl.Visible = False
d4.Visible = False
d5.Visible = False
dé.Visible = False
d7.Visible = False
dB.Visible = Falge
d9.Visible = False
dl0.Visible = False
¢Z2.Visible = False
cl.Visible = False
cd.Visible = False
¢5.Visible = False
c6.Visible = False
c7.Visible = False
cB.Visible = False
c9.Visible = False

cl0.Visible = False
H2.,Visible = False
Hl.Visible = False

H4.Visible = False
H5.Visible = False
HE.Visible = False
H7.Visible = False
H8.Visible = False
H9.Visible = False
H10.Visible = False
MM2.Visible = False
MM1.Visible = False
MM4.Visible = False

MM5.Visible = False
MM6.Visible = False



MM?.Visible = False
MMB,Visible = False
MM8.Visible = False

MMLO.Visible
NGI2.Vislble
NGI!.Visible
NGI4.Visible
NGIS.Visible
NGI6.Visible
NGIT7.Visible
NGIB.Visible
NGI9.visible

NGI1D.Visible = False

LL2 ,Vigible =
LLl.Visible
LL4.Visible
LLS.Visible
LL6.Visible
LLT.Visible
LL8.visible =

LI I A U

False
False
False
False
False
False
False
False
False

False
False
False
False
False
False
False

LL9.Vigible = False
LL10.Vigible = False
PI12.Visible = False
P11,Visible = False

PI4.Visible =
PI5.Visible =
PI6.Visilile =
P17.visible =
PI8.Visible =
PIO.Visible =

False
False
False
False
False
False

P110.Visible = False

BT2.Visible =
PT1.Visible =
PT4.Visible =
PT5.Visible =
PT6.Visible =
PT7.Visible =
PT8 .Visible =

False
False
False
False
False
False
False

PT9.Visible = False

PT10.Visible
M2.Visible =
Ml.Visible =
M4, visible =
M5.Visible =
M6.Visible =
M7.Visible
MB.Visible
M9.Visible

wowon

Gl.Visible =
04.Visible =
05.Visible =
06.Visible =
07.Visible =
08.Visible =
09.Visible =

F.

False
alse
False
False
False

False

False

E

alse

False
Mi0.Visible = False
02.Visible = False
False

F
F
F
¥
#
E

alse
alse
alse
alse
alse
alse

010.Visible = False
P2.Visible = False

Pl.Visible
P4.Visible
P5.Visible =
P6.Visible =
P7.Visible =
PB.Visible =

=
=

MD7.Visible =

F,
i

alse
alse

False
False
False
False
P9.Visible = False
P10.Visible =
MD2.visible =
MD1.Visible =
MDA .Visible =
MD5.visible =
MDE.Visible =

False
False
False
Falge
False
False
Falge

MDB,Visible = False
MDY . Visible =

MD10.Visible

Falze

= Falge

MO2 ,Visible =

MOl .Visible
MO4 . Visible
MO5.Visible
MO6.Visible

False
False
False
False
False
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MO7.Visible = False
Mo8.Visible = False
M09.visible = False
MO10.Visible = False
U2.Vigible = False
Ul.visible = False
U4.Visible = False
U5.Visible = False
U6.Visihle = False
U7.visible = False
UB.Visible = False
U9.visible = False
UlD.visible = False
Uo2.Visible = False
Uel.Visible = False

Uod.visible = False
UD5.visible = False
U06.Visible = False
Uo7 .visible = False
Uo8.Visible = False
Uo9 ,Visible = False
Uoi0.Visible = False
MPI2.Visible = False
MPI1.Visible = False
MPIdq.visible = False
MPI5.Visible = False
MPI6.Visible = False
MPI7.Visible = False
MPIB.Visible = False
MP19.Visible = Palse

MP110.Visible = False
Y2.Visible = False
Yl.Visible = False
¥Y4.Visible = False
¥5.vVisible = False
Y6.Visible = False
Y7.visible = False
YB8.(Visible = False
¥9.Visible = False
Y10.Visible = False
Label35.Visible = True
Label3s5.Top = 252
edit.Visible = False
editmode.Visible = False
End If

If d4 = True Then
editingsert.Visible = True
d2.Visible = False
d3.visible = False

dl.Visible = False
d5.Visible = False
d6.Visible = False
d7.Visible = False
dB.Visible = False
d9.Visible = False

d10.Visible = False
c2.Visible = False
¢3.Visible = False
gl.Visible = False
£5.Visible = False
c6.Visible = False
al.Visible = False
c8.Visible = False
c9.Visible = FPalse
cl0.Visible = False
H2.Visible = False
H3.Visible = False
Hl.Visible = False

H5.Visible = False
HB6.Visible = False
H7.Visible = False
HB.Visible = False

H9.Visible =« False
H10.Visible = False
MM2.Visible = False

MM3.Visible = False
MMl.Visible = False
MM5.Visible = False
MM6.Visible = False
MM7.Visible = False



MM8.Visihle = False
¥MM9.Visible = False

MM10.Visible
NGI2.Visible
NGI3.Visible
NGIL1.Visible
NGI5.Visihle
NGI6.Visible
NGIT.Visible
NGI8.Visible
NGI9.Visible
NGI10.Visible
LL2.Visible =
LL3.Visible =
LL]l .Visible =
LL5.Visible =
LLG6.Visible =
LLT . Visible =
LLB,Visible =
LLE Visible =

=
=
=
=
=
=

False
False
False
False
False
False
False
False
False
= False
False

False
False

False
False
False
False
False

LL10.Visible = False
PI2.visible = False
PI3.Visible = False
PIl.vVisible = False

PI5.V¥isible =

False

PI6.Visible = False

PI7.Visible =
PIB.Visible =
PI9.Visible =

False
False
False

PI10.Visible = False
PT2.Visible = False

PT3.Visible =
PT1.Visible =

False
False

PT5.Visible = False
PTG .Visible = False

PT7.Visible =
PT8.Visible =
BT%.Visible =
PT10.Visible
MZ.Visible =
Mi.Visible =
Ml.Visiblie =
M3.Visible =
Mé.Visibie =
M7.Visible =
MB.Visibie =

False
False
False

= False

F

alse
Falss
False

False

False
False
False
M9.Visible = False
M1G.Visible = False
02.Visible = False

03.Visiple = False
01.Visible = False
05.Visible = False
06.Visible = False
07.Visible = False
08.Visible = False
09.Visible = False
010.Visible = False
P2.Y¥isible = False
P3.Visible = False
P1.Visible = False
P5.Visible = False
P6,Visible = False
P7.Visible = False
P8.Visible = False
P9.Visible = False
P10.Visible = False
MD2.Visible = False
MD3.Visible = False
MD1.Visible = False
MDS.Visible = False
MDE.Visible = False
MD7.Visible = False
MDB.Visible = False
MD9.Visible = False

MD10.Visible = False
MD2.Visible = False

MO3.visible =
MOl,Visible =
MOS . visible =
MO6.Visible =
MO7.visible =

False
False
False
False
False
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MOB.Visible = False
MO%.Visible = Faise
MO10.Visible = False
U2.Visible = False
U3.Visible = False
Ul.Visible = False
U5.Visible = False

Us.Visible = False
U?.Visible = False
UB.Visible = False

U9.Visible = False

Ul0.Visible = False
uo2.visible = False
U03.Visible = False
Uol.visible = False
U05.Visible = False
U06.Visible = False
U07.Visible = False
U0B.Visible = False
U09.Visible = False

U0l10.Visible = False
MP12.Visible = False
MPI3.Visible = False
MPIl.Visible = False
MF15.Visible = False
MP16.Visible = False
MPI7.Visible = False
MPI8,Visible = False
MPI9.Visible = False

MPI10,Visible = False
Y2.vigible = False
¥3.Visible = False

Y1.Visible = False
¥5.Visible = False
¥6.Visible = False
¥Y7.Visible = False
¥B.Visible = False
¥9,.Vvisible = False

¥Y10,.visible = False
Label35 Visible = True
editmode.Visible = False
Labell35 . Top = 252
edit.Visible = False
End If

If d5 = True Then
editinsert.Visible = True
d2.Visible = false
d3.Visible = False
d4.Visible = False
dl.Visible = False
d6.Visible = False
d7.Visible = False
d8.Visible = False
d9.Visible = False
dl0.Visible = False
c2.Visible = False

c3.Visible = False
c4.Visible = False
cl.Visible = False
chb.Visible = False
c?.Visible = False
c8.Visible = False
¢9.Visible = False

clf.Visible = False
H2.Visible = False
H3.Visible = False
H4.Visible = False
Hl.Visible = False

H6.Visible = False
H7.Visible = False
HB.Visible = False
H9.Visible = False

H10.Visible = False
MMZ.Visible = False
MM3.Visible = Palse
MMA.Visible = False
MM1.Visible = False
MH6.Visible = False
MMT.Visible = False
MMB.Visible = False



MM2.Visible = False
MM1O . Visible = False

NGI2.Visible
NGI3.Visible
NEGI4 . Visible
NGI1.Visible
MGIs.Visible
NGI7.Visible

=

MNEIB . Visible =
NGI9.Visible = False

NGI10.Visible = False
LL2 .Yisible = Falsge
LL3,Visible = False
LL4 Visible = False
LL1.Visible = False
LL6.Visible = False
LL7.Visible = False
LL8.visible = False
LL9.Vigible = False
LL10.Vigible = False
P12 Visible = False
PI3.Visible = #alse
PI4,.Visible = False
PIl.Visible = False
PI6,.Visible = False
PI7.Visible = False
PI8.Visible = False
PI9.Vigible = False
PI10.Visible = False
PT2.Vigsible = False
PT3.Visible = False
PT4.Vigsible = False
PTl.Visible = False
PT6.Visible = False
PT7.Visible = False
PT8.Visible = False
PT9.Visible = False
PT10.Visible = False
M2.Visible = False
M3.V¥isible = False
M4.Visible = False
Ml.Visible = False
M6.Visible = False
M7.Visible = False
M8.Visible = False
M9.Visible = False
Mi0.Visible = False
02.Visible = False
03.Visible = False
04.Visible = False
0l.Visible = False
06.Visible = False
07.Visible = False
08.Visible = False
09.Visible = False

False
False
False
False
False
False
False

010.Visible = False
P2.Visible = False

P3.visible =
P4.visible =
Pl1.Visible =
P6.Visible =
P7.Visible =
P8.Visible =

Mp2.Visible
MD3.Visible
MD4 ,Visible
Mpl1,Visible
MDG.Visible
MD7.Visible
MD8,Visible

F,

alse
False
False

Falsge

False
False
P9.Visible = F
P10.Visible = False

=

=

alse

False
False
False
False
False
False
False

MpY,Visible = False
MDi0.visible = False
M02 .¥isible = False

MO3.Visible
MO4.Visible
MOl .Visible
MO6.Visible
MO7,Visible
MO8 ,Visible

False
False
False
False
False
False
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MO9.Visible = False
MO10.Visible = False

UZ,Visible = False
U3, visihle = False
U4, Visihle = False
Ul.visible = False
U6.visible = False
U7.Visible = False

UB.Visible = False
U9.Visible = False

Ul0.visible = False
up2.visible = False
U03.visible = False
Uo4.Visible = False
Uol.Visible = False
U6 .Visible = False
Uo7 .Visible = False
U088 .Visible = False
U09.Visible = False

U010.Visible = False
MPI2,Visible = False
MPI3,.Visible = False
MPI4 . Visible = False
MPI1.Visible = False
MPI6.Visible = False
MPI7.Vigible = False
MPI8.Visible = False
MPI9.Visible = False
MPI10.Visible = False
Y2.Visible = False
¥3.Visible = False
¥4.Visible = False
Yl.Visible = False
¥6.Visible = False
Y7.Visible = False
¥8.Visible = False
¥9.Visible = False
¥10.Visible = False
Label35.Visible = True
editmode.Visible = False
Label35.Top = 252
edit.Visible = False
End If

If d6 = True Then
editinsert.Visikle = True
d2.Visible = False

d3.Visible = False
dd.Visible = False
d5.Visible = False
dl.Visible = False
d7.Vigible = False

d8.¥isible = False
d9.Visible = False
d10.Visible = False
©2.Visible = False
«3.Visible = False
c4,Visible = False
c5.Visible = False
<l.Visible = False
cl.Visible = False
c8,Visible = False
c2.Visible = False
c10.Visible = False
H2.Visible = False
Hi.Visible = Falss
H4.Visible = False
H5.Visible = False
Hl.Visible = False
H7.visible = False
HB.Visible = False
H9.,Visible = False
H10.visible = False
MM2.Visible = False
MM3.Visible = False

MMd . Visible = False
MM5.Visible = False
MM1.Visible = False
MM7.Visible = False
MMB.Visible = False
MMI.Visible = False



MM10.Visibl
NGIZ.Visibl
NGI3.Visibl
NGI4.Visibl

e
e
e
e

NGI5.Visible

NGI1.Visibl

e

NGI?7.Visible
NGI8.Visible
NGI9.Visible

NGI10.Visible = False

LL2.Visible
LL3.visible
LLA.Visible
LL5.Visible
LLl.Visible
LLY.Visible
LLB.Visible
LL9.Visible

=
=
-
-

=
=
=

=
=
-
-

False
False
False
False
False
False
False
False
False

False
False
False
False
False
False
False
False

LL10.Visible = False
PI2.Visible = False

PI3.Visible = False
P14 . Visible = False
P15.Visible = False
PIl.Visible = False
PI7.visible = False
PI8.Visible = False
PI9.visible = False
PI10.Visible = False
PT2.Visible = False
PT3.Visible = False
PT4.Visible = Falge
PT5.Visible = False
Prl.Visible = False
PT7.Visible = Falsge
PTB.Visible = False
PT9.Visible = False

PT10.Visible = False
M2.visible = False

M3.Visible = False
Md.Visible = False
Mi.Visible = False
Ml.Visible = False
M7.Visible = False
MB.Visible = False
M9.Visible = False
M10.Visible = False
02.Visible = False
03.Visible = False
04.Visible = False
05.Visible = False
Ol.Visible = False
07.Visibie = False
08.Visible = False

0%.Visible = False
010.Visible = False
P2.Visible = False
P3.Visihle = False

P4.Visible = False
P5.Visible = False
Pl.Visible = False
PT.Visible = False
P8.Visible = False
P9.Visible = False
P10.Visible = False
MD2 .Visible = False
MP3.Visible = False
MD4 . Visible = False
MD5.Visible = False
MD1.Visible = False
MD7.Visible = False
MD8.Visible = False
MD9.Visible = False
MD10.Visible = False
Mo2.Visible = Palse
MO3.Visible = Palse
HM04.Visible = False
MOS.Visible = False
Mol.Visible =« False
MO7.Visible « False
MOB.Visible = False
MO9.Visible = False
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MD10.Visible = False

G2.Visible = False
U3.Visible = False
U4.Visible = False
U5.Visible = False
Ul.Visible = False
U?.Visible = False
U8.Visible = False
U9.Visible = False

Ul0.visible = False
U02.visible = False
U03.visible = False

Uo4.visible = False
U05.Visible = False
Uol.Yisible = False
Uo7.Vvisible = False
uo8.visible = False
U09.Vigible = False

U010.Visible = False
MPI2.Visible = False

MPI3.Visible = False
MPI4.Visible = False
MP15.Visible = False
MP11.Visible = False
MPI7.Visible = False
MPI8.Visible = False
MPI9.Visible = False

MPI10.Vigible = False
Y2.vVisible = False
¥3.visible = False
Y4.Visible = False

¥5.Visible = False
¥1l.Visible = False
¥7.Visible = False

¥8.Visible = False
¥9.vigible = False
Y10.visible = False
Label35.Visible = True
editmode.Visible = False
Label35.Top = 252
edit.Visible = False
End If

If d7 = True Then
editinsert.Visible = True
d2.Visible = False
d3.Visible = False

d4.Visible = False
d5.Visible = False
d6.Visible = False
di.Visible = False
d8.Visible = False
d9.Visible = False

di0.Visible = False
¢2.Visible = False
¢3.Visible = False
cd.Visible = False
¢5.Visible = False
chb.Visible = False
cl.Visible = False
cB.Visible = False
c9.Visible = False
cl0.Visible = False
H2.Visible = False
H3.Visible = False
H4,Visible = False
H5.Visible = False
H6.Visible = False
Hl.Visible = False
H8.Visible = False
H9.Visible = False
H10.Visible = False
MM2.Visible = False
MM3.Visible = False
MM4 .Visible = False
MM5.Visible = False
MM6.Visible = False
MMI .Visible = False
MMB.Visible = False
MM9.Visible = False
MM10.Visible = False



NGI2,Visible =
NGI3.Visible =
NGI4.Visible =
NGIS.Visible =
NGIG.Visible =
NGI1.Visible =
NGI8.Visible =
NGI9.Visible =
NGI10.Visible

LL2.Visible
LL3,Visible
LL4 . Visible
LL5 ., Visible
LLG.Visible
LL1 .visible
LLB.visible
LLS.visible =

nn R oe N

False
False
fFalse
False
Falsge
False
False
False
= False
Falzse
False
False
False
False
False
False
False

LL10,Visible = False

PI2.Visible
PI3.Visible
PI4.Visible
PI5.Visible
PI6.Vigible
PIl.Visible =
PI8.Visible =
PI9.Visible =
PI10.Visible =
PT2.Visible =
PT3.Visible =
PT4.Visible =
PT5.Visible =
PT6E.Visible =
PT1.Visible =
PTE.Visible =
PTS9.Visible =

False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False

PT10.Visible = False
M2.Visiblie = False

M3.Visible =
M4 . Visible = F
M5.Visible =

M6.Visible = False

False

alse

Falae

Ml.Visible = False
M8.Visible = False
M9.Visible = False

M10.Visible =

False

02.Visible = False
03.Visible = False

04.Visible = False
05.Visible = False
06.Visible = False
©1.Visible = False
08.visible = False

09.Visible = False

O10.Visible =

False

P2.Visible = False
P3.Visible = False
P4.Visible = False
P5.Visible = False
P6.Visible = False

Pl.Visible = False

P8.Visible « False
P9.Visible = False

P10.Visible =
MD2.Visible =
MD3.Visible =
MD4.Visible =
MD5.Visible =
MD6.Visible =
MD1.Visible =
MDB.Visible =
MP9.Visible =

False
False
False
False
False
False
False
False
False

MD10.Visible = False

MOZ,Visible =
MO3,Visible =
MO4 . Visibla =
MO5.Visible =
MOG . Visible =
MO1.visible =
MOB.Visible =
MD9.Visible =

False
False
False
False
False
False
False
False

MO10.Visible = False



U2.Visible = False

U3.Visible = False
U4.Visible = False
U5.Visible = False
U6.Visible = False

Ul.Visible = False
UB.Visible = False
U9.Visible = False

U10.visible = False
Uo2.visible = False
Uo3.Visible = False
U04.Visible = False
U05.Visible = False
U06.Visible = False
Uo0l.Visible = False
UoB.Visible = False
U09.Visible = False
Uol0,.Visible = False
MPI2.Visible = False
MPI3.Visible = False
MPI4.Visible = False
MPI5.Visible = False
MPI6.Visible = False
MPI1.Visible = False
MPIB.Visible = False

MPI9.Visible = False
MPI10.Visible = False
¥2.Visible = False

¥3,visible = False
¥4.visible = False
¥5.visible = False
¥6.Visible = False
¥1.visible = False

¥8.visible = False
¥9.visible = False
¥10.Visible = False
Labell5.Visible = True
Labal35.Top = 144
edit.Visible = False
editmode.Vigible = False
End If

1f d8 = True Then
editinsert.Visible = True
d2.,Visible = False

d3,Visible = False
dd4.Visible = False
d5.Visible = False
d6.Visible = False
d7.Visible = False
dl.Visible = False

d9.Visible = False
dl0.Visible = False

c2.Visible = False
c3.Visible = False
c4d.Visible = False
cS.Visible = False
c6.Visible = False
cl.Visible = False

cl.Visible = False
c%.Visible = False
clf.Visible = False
H2.Visible = False
H3.Visible = False

H4.Visible » False
H5.Visible = False
H6.Visible = False
H7.Visible = False
Hl.Visible = False
H9.Visible = False

H10.Visible = False
MM2.Visible = False
MM3.Visible ~ False

MMA.Visible = False
MM5.Visible « False
MM6.Visible = False
MM7.Visible = False
MML.Visible = False
MM3.Visible = False

MM10.Visible = False
NGI2.Visible = False



NGI3.Visible = False
NG14.Visible = False
NGI5.Visible = False
NGi6.Visible = False
NGI?.Visible = False
NGI1.visible = False
NGT9.Visible = False
NGT10,.Visible = False
LL2,Visible = False
LL3.Visible = False
LL4.visible = False
LL5.Visible = False
LL6.Visible = False
LL7 ,Visible = False
LL1,Visible = False
LL9.Visible = False
LL10.Visible = False
PI2.Visible = False
Fl3.visible = False
PI4.Visible = False
PIS.Visible = False
PI6.Visible = False
PI7.Visible = False
PI11.Visible = False
PI19.Visible = False

PI10,.Visible = False
P72 . Visible = False

PT3.Visible
PT4 . Visible
PT5,.Visible
PT6.Visible
PT7.Visible
PT1.Vigible
PT9.Visible
PT10.Visible
M2.Visible =
M3.Visible
Md.Visible

Mé.Visible

-
-
-

False
False
False
False
False
False
False

= False
False

MS.visible =

M7.Vvisible
Ml.Visible =

False
False
False
False
False
False

M9.Visible = False
M10.Visible = False
02.Visible = False

03.Visible =~ False
@4.Visible = False
Q5.Visible = False
Q6.Visible = False
Q7.Visible = False
01.Visible = False
0Y%.Visible = False
010.vVisible = False
p2.vVisible = False
P3.Visible = False
P4.Visible = False
P5.Visible = False
P6.Visible = False
PT.Visible = False
Pl.Visible = False
P9.Visible = False
P10.Visible = False
Mbp2.Visible = False
MD3.Visible = False
MD4.Visible = False
MDS.Visible = False
MD6.Visible = False
MD7.Visible = False
MD1.Visible = False
MD2.Visible = False

MD10.Visible = False
MO2.visible = False

MO3.Visible
MO4 . Visible
MO5.Visible
MO6.Visible
MOT.Visible
MO1.Visible
MO9.Visible

=
=
-
=

False
False
False
False
False
False
False

MO10.Visible = False
U2.visible = False



U3.Visible = False
U4.Visible = False
Us.Visible = False
Ub.Visible = False
U7.Visible = False
Ul.Visible = False
U9.Visible = False
Ul0.visible = False
Uo2.visible = False
U03.Visihle = False
Uo4.Visible = False

U05.visible = False
UoE.Visible = False
Uo7.visible = False
Uol.visible = False
Uo9.visible = False
Uo10.visible = False
MP12,Visible = False
MPI3.Visible = False
MPI4 ,Visible = False
MPIS.Visible = False
MPI6.Yisible = False
MPI7.Visible = False
MPI1.Visible = False
MPI9.Visible = False

MPI10.Visible = False
Y2.Visible = False
Y3.Visible = False
¥4.Visible = False
¥3.Visible = False
Y6.Visible = False
Y7.Visible = False
Y1i.visible = False
¥9.Visible = False
Y10.visible = False
Label35.Visible = True
Label35.Top = 144
edit.Visible = False
editmode.Visible = False
End If

It d9 = True Then
editinsert.Visible = True
d2.Visible = False
d3.Visible = False
d4.Visible = False
d5.Visible = False
dé.Visible = False
d7.Vigible = False
dB.Visible = False
dl.Visible = False
dl0.Visible = False
c2.Visible = False
c3.Visible = False
cd.Visible = False

¢5.Visible = False
c6.Visible = False
c?.Visible = False
cB.Visible = False
cl.Visible = False

¢l0.Visible = False
H2.Visible = False
H3.Visible = False
H4.Visible = False
H5.Visible = False
H6.Visible = False
H7.Visible = False
HB8.Visible = False
Hl.visible = False

H10.Visible = False
MM2.Visible = False
MM3.Visible = False
MM4.Visible =« False
MMS.Visible = False
MM, Visible = False
MM7,Visible = False
MMB,Visible = False
MML,visible = False

MM10.Visible = Falszse
NGI2.Visible = False
NGI3.Visible = False



NGI4.Visible
NGI5.Visible
NGIG.Visible
HGIT.Visible
NGI8.Visible
NGI1.Visible
NGI10.Visibl
LL2.Yisible
LL3.Visible
LL4.Visible
LL5.Visible
LLG.Visible
LL7.Visible
LLB.Visible
LLl.Visible

=
=
-
-

=

B B 1}

False
False
False
False
False
False
= False
False
False
False

False

False
False
False
False

LL10.Visible = False

P12 .Visible
P13, Visible
P14,.Visible
P15.Visible
PI6.Visible
PI7.Visible
PI8.Visible
PI1.Visible

(U R U OO 1 ']

False
False
False
False
False
False
False
False

PI10.Vigible = False

PT2.Visible
BPT3.Visible
BT4.Vigible
PT5.Visible
PT6,.Visible
PT7.Visible
PTB.Visible
PT1.Visible
PT10.Visible

nmn R NN

M2.Visible =
M3.Visible =

M4.Visible
M5.Visible
M&.Visible
M7.Visible
M8.Visible
Ml.Visible

L T T

05.Visible =
06.Visible =
07.Visible =
08.Visible = False
01.Visible = False
010.Visible = False
P2.Visible = False
False
False
False
False

P3.Visible =
P4.Visible

P6.Visible

P5.Visible =

Pl.Visible

PB.Visible =
Pl.Visible =
P10.Visible = False

MB2.Visible
MD3.Visible
MD4,Visible
MD5.Visible
MDE.Visible
MD7.Visible
MDp8,Visible

=

=
-
-
-
-

False
False
False
False
False
False
False
False

= False
False
False
False
False
False
False
False
False
Mi0.Visible = False
02.Visible = False
03.Visible = False
04.Visible = False

False
False
False

False
False
False

False
False

- False

False
False
False
False

Mil.Visible = False
MD1C.Visible = False
MO2.Visible = False

MO3.Visible
MO4.Visible
MO5.Visible
MO6.Visible
MO7.Visible
MO8.Visible
MO1,.Visible

=

False
False
False
False
False
False
False

MO10.Visible = False
u2,visible = False
U3.visible = False



U4.Visible = False

U5.Visible = F
U6,visible = F

alse
alse

U7.visible = False
UB.Visible = False

Ul.visible = F
Ul0.visihle =
U02.Visihle =
Uo3.visible =
U04.Visible =
Ug5.Visible =
Uds.Visible =
Uo?.Visible =
UpB.Visible =
vol.visible =
U010.visible =
MPI2 Visible
MPI3.Visible
MPI4 . Visible
MP15.Visible
MPI6. Visible
MPI? . Visible
MPIB.Visible =
MPI1 . Visible =
MPI10,visible

Wowowod n

alse
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False

= False

¥2.Visible = False
¥3.Visible = False
¥Y4,Vigible = False
¥5.Visible = False

¥Y6.Vigible = F

Y7.Visible = F

alse
alse

Y8.Visible = False
Yl.Visible = False

¥10.Visible =
Label35,Visibl
Label35.Top =

False
e = True
144

edit.Visible = False

editmode.Visib
End If

le = False

If dl0 = True Then

editinsert.Vis

ikle = True

d2.Visible = False

d3i.Visible = False
dd4.Visible = False
dd.Visible = False
d6.Visible = False
dl.Visible = False
d8.Visible = False
d9.Visible = False
dl.Visible = False
c2.Visible = False
cl.Visible = False
c4.Visible = False
ch.Visible = False
cb.Visible = False
c7.Visible = False
cB.Visible = False
c9.Visible = False
cl.Visible = False
H2.Visible = False
H3.Visible = False
H4.Visible = False
H5.Visible = False
H6.Visible = False
H7.Visible = False
H8.Visible = False

H9.Visible = False
Hl.Visible = False

MM2.Visible =
MM3.Visible =
MM4 . Visible =
MM5.Visible =
MM6.Visible =
MM7.Visible =
MMB.Visible =
MM9,.Visible =
MM1.Visible =

False
False
False
False
False
False
False
False
False

NGI2,Visible = False

NG13,Visible =
NGIA,Visible =

False
False



NGI5.Visible
NG16.Visible
NGIY . Visible
NGIf.Visible
NGI9,.Visible
NGIl.Visible
LL2.Visible
LL3.Visible
LL4.Visible
LL5.Visible
LLE.Visible
LL7.Visible
LLB.Visible
LL9.Visible
LL1.Visible
P12 .Visible
PI3.Visible
PI4.Visible
PI5.Visible
PI6.Vigible
PIT.Visible
PIB.Visible
PI9.Visible
PI1.Visible
PT2 .Visible
PT3.Vigible
PT4.visible
PT5.Visible
PT6.Visible
PTT.Visible
PT8.Visible
PT9.Visible
PT1.Visible

=

L |
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=

False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False
False

M2.,Vigible = False
M3.Visible = False

Md.Visible = False
M3.Visible = False
MG6.Visible = False
M7.Visible = False
MB.Visible = False
M9.Visible = False
Ml.Visible = False
02.Visible = False
03.Visible = False
04.Visible = False
05.Visible = False
06.Visible = False
07.Visible = False
08.Visible = False
0%.Visible = False
01.Visible = False
F2.Visible = False
P3.Visible = False
B4.Visible = False
P5.Visible = False
P6.Visible = False
P7.Visible = False
PB.Visible = False
P9.Visible = False
Pl.Visible = False
Mp2.Visible = False
Mp3.Visible = False
MDA . Visible = False
MPS.Visible = False
MDB,Wisible = False
MD7.Visible = False
MOB.Visible = False
MD2.Visible = False
MD1.Visible = False
MO2.Visible = False
MO3.Visible = False
MO4.Visible = False
MO5.Visible = False
MO6.Visible = False
MO7.Visible = False
MOB.Visible = False
Mo9.visible = False
Mol.visible = False

U2.Visible = False
U3.visible = False
U4.Visible = False



U5.Visible = False
U6.Visible = False
U7.Visible = False
UB.Vvisible = False
G9.Visible = False
Ul.vigible = False
U02.Visible = False
U03.Visible = False
uo4.visible = False

Uo5.vVisible = False
UD6.Visible = False
U07.Visible = False
U0B.,Visible = False
Up9.Visible = False
U0l ,Vigible = False
MPIZ2.Visible = False
MPI3.vigible = False
MPI4.Vigible = False
MPI5.Vigible = False
MPI6.Visible = False
MPI7.Visible = False
MPI8.Visible = False
MPIS.Visible = False
MPI1.Visible = False

Y2.vigible = False
¥3.visible = False

Y4 .Visible = False
Y5.Visible = False
¥Y6.Visible = False
¥7.Visible = False
Y8.Visible = False

¥9.Visible = False
¥Y1l.Visible = False
Label35.Visible = True
Label35.Top = 144
edit.Visible = False
editmode.Visible = False
End If
End If

End Sub

Public Sub CLEARFORM() PR
With data
'CLEAR VALUES

«cl.Value = "»
«c2.Text = ""
«c3.Text = "
~cl.Text = »°
«cH.Text e
.ch.Text
.c7.Text
.cB.Text
2% . lext
+cl0.Text = """
+Hl.Value = ""
«H2.Valug = “"
LH3.vValue
JHe . Value
H5 . Value
LHB, Value
JH7.valuye = "v
.HB.vValuye = ""
+H9.Value = "v
+H10.Value = "¢
MML.Value
MM2.Value
M3 Value
MMA L Value
MM5 . Value
MMG.Value
M7 Value = "0
JMMB.Value = "
MM . Value = "
JMM10,Value = "
.NGI1,Valye I¥
LNGIZ2,Value
.NGI3,.value
NNGIA  Value
NGI5.Value
JNGIG.Value
NGIT7.Value
NGIB.Value

w
wn
wa
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gt
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e
0
{0
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=
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- nm
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JNGI%.Value =

+NGIL0.Value
+LL1 . Value =
JLL2 Malue =

JLL3 . Valus
LLL4 . Value
.LL3.Value
.LLE.Value
LLL7.Value
.LL8.Value
+LL2.Value

Wi

+LL10.Value = "

+PIl.Value
«PI12,Value
+P13.Value
.PI4.Value
.PI5.Value
.P16.Valua
LPI7,.Value
P18 . Value

-

=

=

=

=

W

Wi

.PI9.Value = "
.PI10.Value = "V
LPTL.Value = "

LPT2 . Value
LBT3 . Value
LPTe Value
P75 . Value
.PT6.Value
. BT Value
.PTB.Value
LBT9.Value
L BT10.Valu
M1, Value
M2.Value
.M3.Value
A Value

e

=

«M5.Value =

«M6.Value
M1, Value
.MB.Value
«M3.Value

e
i
wi
whn
"
L]
e
e

-

2l

"

W

wa

wa
wn

w

wn

Ml0.value = "

.01.value
.02.Value
.03.vValue
.04 .Value
.05.Value
.0D6.Value
.07.Value
.0B.Value

09.Value =
.010.Value =

+Pl.Value
+PZ.Value
.P3.Value
BAValue
.B5.value
.P6.Value
SP1.value
P8.Value
PO, Value

=
=
=
=
=

"
e
(0
e
e
e
W
o
R
R0
e

.Pl0:vValue = ""

LMPIL.Valu
JMPIZ2,Valy
LMPT3.Valu
MPIA.Valu
JMPI5.Valu

e
e
=]
(=]
{3

JMPI6.Value
MPI7.Value

MPIB.Valu
\MP19,Valu
.MP110.Val
.MP1.Value
.MD2 . Value
.MD3.Value
MDY . Value
MBS . Value
.MD6.Value
M7 . Value
.MD8.Value
MDY . Value

-]
B
A

2

=
-
-

I I

wa
wn
i
(0
W
"
L

W
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LMD10.Valye = "
MO1.Valuye = "V
MO2.Valuye = "
«MO3.Value =
JMO4 . Valug = "
.MD5.Value =
MO6.Value =
0T, Value =
M08, Valug = "
M09, Value = "
JMD10.Value = "
Jul.Valuye = "0
2. value
JU3.value
Ui .value
LJU5.Value
Ub.Value
JU7.Value
.U8.Value
U8 . Value
LU10.Value = “»
LU0l .Valuye = "
Juo2.Value = "¢
LJU03.value = "
LU04 . Valye = ""
.U05.valuye = "
LUO6 . Value = "
LU07 . value = "
LU08 ., Value = "»
LU09 . Valye = """
.Uol0.value = "
.¥1.Valye = "¢
¥2 . value =
¥i.value =
Y4.value =

-¥5.Value
¥6.Value
Y7, Value
.¥B.Value = "¢
-Y9.value = "»
.¥Y10.value = ™"

wn

End With

End Sub

Public Sub SHOWFLYASH(} ’
'Dim ROW As Integer
'works on the flyash data sheet?
'Rata for Centrol Number
data.cl.Value = Sheet2.Range("z" & (row)).Value

data.c2.Text = Sheetr2.Range("z" & (row + 1)).Value
data.c3.Text = Sheet2.Range("z" & (row + 2)).Value
data.cd.Text = Sheet2.Range("z" & (row + 3)).Value
data.ch.Text = Sheet2.Range("z" & (row + 4)).Value
data.ch.Text = Sheet2.Range("z" & (row + 5)).Value
data.c7.Text = Sheet2.Range("z" & (row + 8)).Value
data.c8.Text = Sheet2.Range("z" & (row + 7)).Value
data.c9.Text = Sheet2.Range("z" & (row + 8)).Value

data.cl0.Text = Sheet2.Range(“z" & (row + 9)).Value

'Data for Highway
data.Hl.Value = Sheet2.Range("r" & (row)).Value

data.H2.Text = Sheet2.Range("r" & (row + 1)).Value
data.H3.Text = Sheet2.Range("r" & (row + 2)).Value
data.H4,Text = Sheet2.Range("r"” & (row + 3)).Value
data,H5.Text = Sheet2.Range("r" & (row + 4)).Value
data.H6.Text = Sheet2.Range("r" & (row + 5)).Value
data.H7.Text = Sheet2.Range("r" & (row + 6)).Value
data.H8.Text = Sheet2.Range("r" & (row + 7)).Value
data.H9,Text = Sheet2.Range("r" & (row + B)).Value

data.H10.Text = Sheet2.Range("r" & (row + 9)).Value

‘Data for Mile Marker

data,.MM1.Value = Sheet2.Range("s" & (row)).Value
data,MM2,Text = Sheet2,Range("s" & (row + 1)).value
data.MM3.Text = Sheet2.Range("s" & (row + 2)).Value
data.MM4.Text = Sheet2.Range("s" & (row + 3)).Value
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data.MM5.Text = Sheet2.Range("s" & (row + 4)).Value
data.MM6.Text = Sheet2.Range("s" & (row + 5)).Value
data.MM7.Text = Sheet2.Range("s" & (row + 6)).Value
data.MM8.Text = Sheet2.Range("s" & (row + 7)) .Value
data.MM9.Text = Sheet2.Range("s" & (row + 8)).Value

data.MM10.Text = Sheet2.Range("s" & (row + 92)).Value

'Data for NGI
data.NGIl.Value = Sheet2.Range ("t" & (row)).Value

data.NGI2.Text = Sheet2.Range("t" & (row + 1)).Value
data.NGI3.Text = Sheet2.Range("t" & (row + 2}).Value
data.NGI4.Text = Sheet2.Range("t" & (row + 3)}).Value
data.NGI5.Text = Sheet2.Range("t" & (row + 4)).Value
data.NGI6.Text = Sheet2.Range("t" & (row + 5)).Value
data.NGI7.Text = Sheet2.Range("t" & (row + 8)).Value
data.NGI8.Text = Sheet2.Range("t" & (row + 7)) .Value
data.NGI9.Text = Sheet2.Range("t" & (row + 8)).Value

data.NGI10.Text = Sheet2.Range("t™ & {(row + 9)).Value

'Data for LL
data.LLl.Value = Sheet2.Range("u" & (row)).Value

data.LL2.Text = Sheet2.Range ("u" & (row + 1)).Value
data.LL3.Text = Sheet2.Range("u" & (row + 2)).Value
data.LL4.Text = Sheet2.Range({"u" & (row + 3)).Value
data.LL5.Text = Sheet2.Range({"u" & (row + 4)).Value
data.LL6.Text = Sheet2.Range ("u" & (row + 5)).Value
data.LL7.Text = Sheet2.Range("u" & (row + 6)).Value
data.LL8.Text = Sheet2.Range("u" & (row + 7}).Value
data.LL9.Text = Sheet2.Range("u" & (row + 8)).Value

data.LL10.Text = Sheet2.Range("u" & (row + 9)).Value

'Data for PI

data.PIl.Value = Sheet2.Range("v" & (row}).Value
data.PI2.Text = Sheet2.Range("v" & (row + 1)).Value
data.PI3.Text = Sheet2.Range("v" & (row + 2)).Value
data.PI4.Text = Sheet2.,Range("v" & (row + 3)).Value
data.PI5.Text = Sheet2.Range("v" & (row + 4)).Value
data.PI6.Text = Sheet2,Range("v" & (row + 5)).Value
data.PI7.Text = Sheet2,Range("v" & (row + 6)).Value
data.PI8.Text = Sheet2.Range("v" & (row + 7)).Value
data.PI9.Text = Sheet2.Range("v" & (row + 8)).Value
data.PI10.Text = Sheet2.Range("v" & (row + 9)).vValue

'Data for Percent #200
data.PTl.Value = Sheet2.Range("w" & (row)).Value

data.PT2.Text = Sheet2.Range("w" & (row + 1)).Value
data.PT3.Text = Sheet2.Range ("w" & (row + 2)).Value
data.PT4.Text = Sheet2.Range("w" & (row + 3)).Value
data.PT5.Text = Sheet2.Range ("w" & (row + 4)).Value
data.PT6.Text = Sheet2.Range("w" & (row + 5)).Value
data.PT7.Text = Sheet2.Range{"w" & (row + 6)).Value
data.PT8.Text = Sheet2.Range("w" & (row + 7}).vValue
data.PT9.Text = Sheet2.Range("w" & (row + 8)).Value

data.PT10.Text = Sheet2.Range("w" & (row + 9)).Value

'Data for MLD

data.Ml.Value = Sheet2.Range("x" & (row)).Value
data.M2.Text = Sheet2.Range("x" & (row + 1)).Value
data.M3.Text = Sheet2.Range("x" & (row + 2}}.value
data.M4.Text = Sheet2.Range("x" & (row + 3)).value
data.M5.Text = Sheet2.Range ("x" & (row + 4})).value
data.M6.Text = Sheet2.Range ("x" & (row + 5)).Value
data.M7.Text = Sheet2.Range ("x" & (row + 6)}).Value
data.MB8.Text = Sheet2.Range ("x" & (row + 7)).Value
data.M9.Text = Sheet2.Range ("x" & (row + 8)).Value
data.M10.Text = Sheet?.Range("x" & (row + 9}).vValue

'Data for MLD OMC

data.0l.Value = Sheet2.Range("y" & (row)).Value
data.02.Text = Sheet2.Range("y" & (row + 1l}).Value
data.03.Text = Sheet2.Range("y" & (row + 2)).Value
data.04.Text = Sheet2.Range("y"” & (row + 3)}.Value
data,05.Text = Sheet2.Range("y" & (row + 4}).Value
data,06.Text = Sheet2.Range("y" & (row + 5)).Value
data.07.Text = Sheet2.Range("y" & (row + 6)).Value
data.08.Text = Sheet2.Range("y" & (row + 7)).Value
data.09.Text = Sheet2.Range("y" & (row + 8)).Value
data.010.Text = Sheet2.Range ("y" & (row + 9)).Value

'‘Data for PERCENT ADD
data.Pl.Value = Sheet2.Range("ab" & (row)) .Value
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data.P2.Text = Sheet2.Range("ab" & (roew + 1)).Yalue
data.P3.Text = Sheet2.Range ("ab" & (row + 2)).Value
data.P4.Text = Sheet2.Range ("ab" & ([row + 3)).Value
data.P5.Text = Sheet2.Range("ab" & (row + 4)).Value
data.P6.Text = Sheet2.Range("ab" & [row + 5)).Value
data.P7.Text = Sheet2.Range("ab" & ({row + 6)).Value
data.P8.Text = Sheet2.Range("ab" & {(row + 7)) .Value
data.P9.Text = Sheet2.Range("ab" & (row + B)).Value
data.Pl0.Text = Sheet2.Range("ab" & (row + 9)).Value

'Data for MODIFIED PI
data.MPIl.Value = Sheet2.Range("aG" & (row)).Value

data.MPI2.Text = Sheet2.Range("aG" & (row + 1)).Value
data,MPI3.Text = Sheet2.Range ("aG" & (row + 2)).Value
data,MPI4.Text = Sheet2.Range ("aG" & {(row + 3)).Value
data.MPI5.Text = Sheet2.Range("aG" & {(row + 4)).vValue
data.MPI6.Text = Sheet2.Range("aG" & (row + 5)).Value
data.MPI7.Text = Sheet2.Range("aG" & (row + 6)}).Value
data.MPI8.Text = Sheet2.Range("aG" & (row + 7)).vValue
data.MPI9.Text = Sheet2.Range("aG" & (row + 8)).Value

data.MPI10.Text = Sheet2.Range("aG" & (row + 9)).Value

'Data for MODIFIED MLD

data.MDl.Value = Sheet2.Range("aC" & (row)) .Value
data.MD2.Text = Sheet2.Range("aC" & (row + 1)) .Value
data.MD3.Text = Sheet2.Range("aC" & (row + 2)).Value
data.MD4.Text = Sheet2.Range("aC" & (row + 3)).Value
data.MD5,Text = Sheet2.Range("aC" & (row + 4)).Value
data.MD6.Text = Sheet2.Range("aC" & (row + 5)).vValue
data.MD7.Text = Sheet2.Range("aC" & (row + 6)).vValue
data.MD8.Text = Sheet2.Range("aC" & (row + 7)).Value
data.MD9.Text = Sheet2.Range("aC" & (row + 8)).value
data.MD10.Text = Sheet2.Range("aC" & (row + 9)}.Value

'Data for MODIFIED OMC
data.MOl.Value = Sheet2.Range("aD" & (row)) .Value

data.MO2.Text = Sheet2.Range("aD" & (row + 1)) .Value
data.MO3.Text = Sheet2.Range("aD" & (row + 2)).Value
data.MO4.Text = Sheet2.Range ("aD" & (row + 3)).Value
data.MO5.Text = Sheet2.Range("aD" & (row + 4)).Value
data.MO6.Text = Sheet2.Range("aD" & (row + 5)).Value
data.MO7.Text = Sheet2.Range("aD" & (row + 6)).Value
data.MO8.Text = Sheet2.Range("aD" & (row + 7)).Value
data.M0O9.Text = SheetZ.Range ("aD" & (row + 8)).Value

data.MO10.Text = SheetZ.Range("aD" & (row + 9)).vValue

'Data for UCS
data.Ul.Value = Sheet2.Range("aE" & (row)).Value

data.U2.Text = Sheet2.Range("aE" & (row + 1)) .Value
data.U3.Text = Sheet2.Range("aE" & (row + 2)).Value
data.U4.Text = Sheet2.Range("aE"™ & (row + 3)).Value
data.U5.Text = Sheet2.Range("aE" & (row + 4)).Value
data.U6.Text = Sheet2.Range("aE" & (row + 5)).Value
data.U7.Text = Sheet2.Range("aE" & (row + 6)).Value
data.UB.Text = Sheet2.Range("aE" & (row + 7)) .Value
data.U9.Text = Sheet2.Range("aE" & (row + 8)).Value

data.U1l0.Text = Sheet2.Range ("aE" & (row + 9)).Value

'Data for UCS OMC
data.U0l.Value = Sheet2.Range("aF" & (row)).Value

data.U02.Text = Sheet2.Range("aF" & (row + 1)) .Value
data.UO3.Text = Sheet2.Range ("aF" & (row + 2)).Value
data.U04.Text = Sheet2.Range ("aF" & (row + 3)).Value
data.U05.Text = Sheet2.Range("aF" & {(row + 4)).Value
data.UO06.Text = Sheet2.Range ("aF" & (row + 5)).Value
data.UQO7.Text = Sheet2.Range("aF" & (row + 6)).Value
data.UO08.Text = Sheet2.Range("aF" & (row + 7)) .Value
data.U09.Text = Sheet2.Range ("aF" & (row + B)).Value

data.UOl0.Text = Sheet2.Range("aF" & (row + 9)).Value

'Data for YEAR
data.Yl.Value = Sheet2.Range ("ah" & (row)).Value

data.Y¥2.Text = Sheet2.Range{"ah" & (row + 1)).Value
data.Y3.Text = Sheet2.Range{"ah" & (row + 2)).Value
data.Y4.Text = Sheet2.Range("ah" & (row + 3)).Value
data.Y¥5.Text = Sheet2.Range("ah" & (row + 4)).Value
data.Y6.Text = Sheet2.Range("ah" & (row + 5)).Value
data.Y7.Text = Sheet2.Range("ah" & (row + 6)).Value
data.Y¥8.Text = Sheet2.Range("ah" & (row + 7)) .Value
data.¥9.Text = Sheet2.Range("ah" & (row + 8)).Value

data.Y10.Text = Sheet2.Range("ah" & (row + 9)).vValue
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End Sub

Public Sub SHOWCKD () !
'Dim row As Integer

'works on the CKD data sheeté6
'Data for Control Number
data.cl.Value = Sheet6.Range ("z" & {(row)).Value
data.c2.Text = Sheet6.Range{"z" & (row + 1)).Value
data.c3.Text = Sheet6.Range("z" & (row + 2)).Value
data.cd.Text = Sheet6.Range("z" & (row + 3}).Value
data.c5.Text = Sheet6.Range("z" & (row + 4)).Value
data.c6.Text = Sheetb6.Range("z" & (row + 5)).Value
data.c7.Text = Sheet6.Range("z" & (row + B}).Value
data.c8.Text = Sheet6.Range("z" & (row + 7}).Value
data.c9.Text = Sheet6.Range("z" & (row + B8)).Value
data.cl0.Text = Sheet6.Range("z" & (row + 9)).Value

'Data for Highway
data.Hl.Value = Sheet6.Range("r"™ & (row)).vValue

data.H2.Text = Sheet6.Range ("r" & (row + 1)).vValue
data.H3.Text = Sheet6.Range{"r" & (row + 2)).Value
data.H4.Text = Sheet6.Range("r" & (row + 3)).Value
data.H5.Text = Sheet6.Range("r” & {row + 4)).Value
data.H6.Text = Sheet6.Range("r" & {row + 5)).Value
data.H7.Text = Sheet6.Range("r" & (row + 6)).Value
data.H8.Text = Sheet6.Range("r" & (row + 7)).Value
data.H9.Text = Sheeté6.Range("r" & (row + 8)).Value

data.H10.Text = Sheet6.Range("r" & (row + 9}).Value
'Data for Mile Marker
data.MMl.Value = Sheet6.Range("s" & (row)).Value

data.MM2.Text = Sheet6.Range ("s" & {row + 1)) .Value
data.MM3.Text = Sheet6.Range("s" & (row + 2)).Value
data.MM4.Text = Sheet6.Range("s" & (row + 3)).Value
data.MM5.Text = Sheet6.Range("s" & (row + 4)).Value
data.MM6.Text = Sheet6.Range("s" & (row + 5)).Value
data.MM7.Text = Sheet6.Range("s" & (row + 6)).Value
data.MM8.Text = Sheet6.Range("s" & (row + 7)).Value
data.MM9.Text = Sheetb.Range("s" & (row + 8)).vValue

data.MM10.Text = Sheeté6.Range("s" & (row + 9)).Value
'Data for NGI
data.NGIl.Value = Sheet6.Range("t" & (row)).Value

data.NGI2.Text = Sheet6.Range("t" & (row + 1)) .Value
data.NGI3.Text = Sheet6.Range("t" & (row + 2)).Value
data.NGI4.Text = Sheet6.Range("t" & (row + 3)).Value
data.NGI5.Text = Sheet6.Range ("t" & (row + 4)).vValue
data.NGI6.Text = Sheet6.Range("t" & (row + 5)).Value
data.NGI7.Text = Sheeté6.Range("t" & (row + 6)).Value
data.NGIB.Text = Sheet6.Range("t" & (row + 7)).Value
data.NGI9.Text = Sheet6.Range("t" & (row + 8)).vValue

data.NGI10.Text = Sheet6.Range{"t" & (row + 9)).Value
'Data for LL

data.LLl.Value = Sheet6.Range("u" & (row)).Value
data.LL2.Text = Sheet6.Range ("u".& (row + 1)).Value
data.LL3.Text = Sheet6.Range("u" & (row + 2)).Value
data.LL4.Text = Sheet6.Range("u" & (row + 3)).vValue
data.LL5.Text Sheetb6.Range ("u" & (row + 4)).Value
data.LL6.Text = Sheet6.Range("u" & (row + 5)).Value
data.LL7.Text = Sheet6.Range ("u" & (row + 6)).Value
+
+

1

data.LL8.Text = Sheet6.Range ("u" & (row 7)) .Value
data.LL9.Text = Sheet6.Range("u" & (row 8)) .Value
data.LL10.Text = Sheeté6.Range ("u" & {row + 9)).Value
'Data for PI

data.PIl.Value = Sheet6.Range("v" & (row)).Value
data.PI2.Text = Sheet6.Range("v" & (row + 1)) .Value

data.PI3.Text = Sheet6.Range("v" & (row + 2)).Value
data.PI4.Text = Sheet6.Range("v" & (row + 3)).Value
data.PI5.Text = Sheet6.Range("v" & (row + 4)).Value
data.PI6.Text = Sheet6.Range("v" & (row + 5)).Value
data.PI7.Text = Sheeté6.Range("v" & (row + 6)).Value
data.PI8.Text = Sheeté6.Range("v" & (row + 7)).Value
data.PI9.Text = Sheeté6.Range("v" & (row + 8)).Value

data.PI10.Text = Sheet6.Range("v" & (row + 9)).Value
'Data for Percent #200

data,.PTl.vValue = Sheet6.Range ("w" & (row)).Value
data.PT2.Text = Sheet6.Range ("w" & (row + 1)) .Value
data.PT3.Text = Sheetb6.Range ("w" & {(row + 2)).Value
data.PT4.Text = Sheeté6.Range("w" & (row + 3}).Value
data.PT5.Text = Sheet6.Range("w" & (row + 4)).Value
data.PT6.Text = Sheet6.Range ("w" & (row + 5)).vValue
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data.PT7.Text = Sheet6.Range("w" & (row + 6)).Value
data.PT8.Text = Sheet6.Range("w" & (row + 7)) .Value
data.PT9.Text = Sheet6.Range ("w" & (row + 8)).Value
data.PT10.Text = Sheet6.Range("w" & (row + 9)).Value
'Data for MLD

data.Ml.Value = Sheeté6.Range("x" & (row)).Value

data.M2.Text = Sheet6.Range("x™ & (row + 1)).Value
data.M3.Text = Sheeté6.Range("x" & (row + 2)).Value
data.M4.Text = Sheet6.Range("x" & (row + 3)).Value
data.M5.Text = Sheet6.Range("x" & (row + 4)).Value
data.Mé.Text = Sheeté6.Range("x" & (row + 5)).Value
data.M7.Text = Sheetb6.Range ("x" & {row + 6)).vValue
data.M8.Text = Sheet6.Range ("x" & (row + 7)) .vValue
data.M9.Text = Sheet6.Range ("x" & {row + B)).Value

data.M10.Text = Sheet6.Range{"x" & (row + 9)).Value
'Data for MLD OMC

data.O0l.Value = Sheet6.Range("y" & (row)).Value
data.02.Text = Sheet6.Range("y" & {(row + 1)) .Value
data.03.Text = Sheet6.Range("y" & (row + 2)).Value
data.04.Text = Sheet6.Range("y" & (row + 3)).Value
data.05.Text = Sheet6.Range("y" & (row + 4})).Value
data.06.Text = Sheet6.Range("y" & (row + 5)).Value
data.07.Text = Sheet6.Range("y" & (row + 6)).Value
data.08.Text = Sheet6.Range ("y" & (row + 7)).Value
data.09.Text = Sheet6.Range("y" & (row + B8)).Value
data.010.Text = Sheet6.Range("y" & (row + 9)).Value
'Data for PERCENT ADD

data.Pl.Value = Sheet6.Range("ab" & (row)).Value

data.P2.Text = Sheet6.Range("ab™ & (row + 1)) .Value
data.P3.Text = Sheet6.Range ("ab"™ & (row + 2)).Value
data.P4.Text = Sheet6.Range ("ab" & (row + 3)).Value
data.P5.Text = Sheet6.Range("ab" & (row + 4)).Value
data.P6.Text = Sheet6.Range("ab" & (row + 5)).Value
data.P7.Text = Sheet6.Range ("ab" & (row + 6)).Value
data.P8.Text = Sheet6.Range ("ab" & (row + 7)) .Value
data.P9.Text = Sheet6.Range ("ab" & (row + 8)).Value

data.Pl0.Text = Sheet6.Range("ab" & (row + 9)).Value
'Data for MODIFIED PI

data.MPIl.Value = Sheet6.Range("aG" & (row)) .Value
data.MPI2.Text = Sheet6.Range(”aG" & (row + 1)).Value
data.MPI3.Text = Sheet6.Range("aG" & (row + 2)).Value
data.MPI4.Text = Sheet6.Range("aG" & (row + 3)).vValue
data.MPI5.Text = Sheet6.Range("aG" & (row + 4)).Value
data.MPI6.Text = Sheet6.Range("aG" & (row + 5)).Value
data.MPI7.Text = Sheeté6.Range("aG" & (row + 6)).Value
data.MPI8.Text = Sheett6.Range("aG" & (row + 7)).Value
data.MPI9.Text = Sheeté6.Range("aG" & (row + 8)).Value
data.MPI10.Text = Sheet6.Range ("aG" & (row + 8)).Value
'Data for MODIFIED MLD

data.MDl.Value = Sheet6.Range("aC" & (row)).Value

data.MD2.Text = Sheet6.Range("aC" & (row + 1)) .vValue
data.MD3.Text = Sheet6.Range("aC" & (row + 2)).value
data.MD4.Text = Sheet6.Range("aC" & (row + 3)).Value
data.MD5.Text = Sheeté6.Range("aC" & (row + 4)).Value
data.MD6.Text = Sheet6.Range ("aC" & (row + 5)).Value
data.MD7.Text = Sheet6.Range("aC" & (row + 6)).Value
data.MD8.Text = Sheet6.Range ("aC" & (row + 7)) .Value
data.MD9.Text = Sheet6.Range ("aC" & (row + 8)).Value

data.MD10.Text = Sheet6.Range("aC" & {(row + 9)).Value
'Data for MODIFIED OMC
data.MOl.Value = Sheet6.Range("aD"” & (row)) .Value

data.MO2.Text = Sheet6.Range ("aD" & (row + 1)) .Value
data.MO3.Text = Sheet6.Range ("aD" & (row + 2)).Value
data.MO4.Text = Sheet6.Range("aD" & (row + 3)).Value
data.MO5.Text = Sheet6.Range("aD" & (row + 4)).Value
data.MOb6.Text = Sheet6.Range("aD" & (row + 5)).Value
data.MO7.Text = Sheet6.Range("aD" & (row + 6)}.Value
data.MO8.Text = Sheet6.Range("abD" & (row + 7)) .Value
data.MO9.Text = Sheet6.Range("”ab™ & (row + 8)).vValue

data.MO10.Text = Sheet6.Range("aD" & (row + 9)).Value
'Data for UCS
data.Ul.Value = Sheet6.Range ("aE" & (row)) .Value

data.U2.Text = Sheet6.Range("akE" & (row + 1)).Value
data.U03.Text = Sheet6.Range("akE" & (row + 2}).Value
data.U4.Text = Sheet6.Range("aE" & (row + 3)).Value
data.U5.Text = Sheet6.Range("aE" & (row + 4)).Value
data.U6.Text = Sheet6.Range("aE" & (row + 5)).Value
data.U7.Text = Sheet6.Range("aE" & (row + 6)).Value
data.U8.Text = Sheeté6.Range("aE" & (row + 7)) .Value
data.U9.Text = Sheet6.Range ("aE"™ & (row + 8)).Value

data.Ul0.Text = Sheeté6.Range ("aE" & (row + 9)).Value
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'Data for UCS OMC

data.U0Ol.Value = Sheet6.Range("aF" & (row)).Value
data.U02.Text = Sheet6.Range("aF" & (row + 1)) .Value
data.U03.Text = Sheet6.Range("aF" & (row + 2)).Value
data.U04.Text = Sheet6.Range("aF" & (row + 3)).Value
data.UO05.Text = Sheet6.Range ("aF" & (row + 4)).Value
data.Uo6.Text = Sheetb6.Range ("aF" & (row + 5)).Value
data.U07.Text = Sheet6.Range ("aF" & (row + 6)).Value
data.U08.Text = Sheet6.Range{"aF" & (row + 7)) .Value
data.U09.Text = Sheet6.Range("aF" & (row + 8)).Value
data.U0010.Text = Sheet6.Range("aF" & (row + 9)).value
'Data for YEAR

data.Yl.Value = Sheet6.Range("ah" & (row)).Value

data.Y2.Text = Sheet6.Range("ah" & (row + 1)).value
data.Y3.Text = Sheet6.Range("ah" & (row + 2)).vValue
data.Y4.Text = Sheet6.Range("ah" & (row + 3)).Value
data.Y5.Text = Sheet6.Range("ah" & (row + 4)).Value
data.Y6.Text = Sheet6.Range("ah" & (row + 5)).Value
data.Y7.Text = Sheet6.Range("ah" & {(row + 6)).Value
data.Y8.Text = Sheet6.Range("ah” & (row + 7)) .Value
data.Y¥9.Text = Sheet6.Range ("ah" & (row + 8)).Value

data.Yl0.Text = Sheeté6.Range("ah" & (row + 9)).Value

End Sub

Public Sub SHOWLIME () 1SN T =
' Dim row As Integer
'works on the lime data sheet3
'Data for Contreol Number
data.cl.Value = Sheet3.Range("z" & (row)).Value
data.c2.Text = Sheet3.Range("z" & (row + 1}).Value
data.c3.Text = Sheet3.Range("z" & (row + 2)).Value
data.cd.Text = Sheet3.Range({"z" & (row + 3)).Value
data.c5.Text = Sheet3.Range ("z" & (row + 4)).Value
data.c6.Text = Sheet3.Range ("z" & (row + 5)).Value
data.c7.Text = Sheet3.Range("z" & (row + 6)).Value
data.cB.Text = Sheet3.Range("z" & (row + 7)).Value
data.c9.Text = Sheet3.Range("z" & (row + 8)).Value
data.cl0.Text = Sheet3.Range("z" & (row + 9)).Value

'‘Data for Highway
data.Hl.Value = Sheet3.Range("r" & (row)).Value

data.H2.Text = Sheet3.Range("r" & (row + 1}).Value
data.H3.Text = Sheet3.Range("r" & (row + 2}).Value
data.H4.Text = Sheet3.Range("r" & (row + 3)).Value
data.H5.Text = Sheet3.Range ("r" & (row + 4)).Value
data.H6.Text = Sheet3.Range("r" & (row + 5)).Value
data.H7.Text = Sheet3.Range({"r" & (row + 6}).Value
data.H8.Text = Sheet3.Range("r" & (row + 7)).Value
data.H9.Text = Sheet3.Range ("r" & (row + 8)).Value

data.H10.Text = Sheet3.Range("r" & (row + 9)).Value
'‘Data for Mile Marker
data.MMl.Value = Sheet3.Range("s" & (row)).Value

data.MM2,Text = Sheet3.Range("s" & (row + 1)) .vValue
data.MM3.Text = Sheet3.Range("s" & (row + 2)).Value
data.MM4.Text = Sheet3.Range("s" & (row + 3)).Value
data.MM5.Text = Sheet3.Range("s" & (row + 4)).Value
data.MM6.Text = Sheet3.Range("s" & (row + 5)).Value
data.MM7.Text = Sheet3.Range("s” & (row + 6}).Value
data.MM8.Text = Sheet3.Range("s" & (row + 7}).value
data.MM9.Text = Sheet3.Range("s" & (row + 8}).value

data.MM10.Text = Sheet3.Range("s" & (row + 9}).Value
'‘Data for NGI

data.NGI1.Value = Sheet3.Range ("t" & (row)).Value
data.NGI2.Text = Sheet3.Range("t" & (row + 1)).Value
data.NGI3.Text = Sheet3.Range("t" & (row + 2)).Value
data.NGI4.Text = Sheet3.Range("t" & (row + 3)).Value
data.NGI5.Text = Sheet3.Range("t"” & (row + 4)).Value
data.NGI6.Text = Sheet3.Range{"t" & (row + 5)).Value
data.NGI7.Text = Sheet3.Range{("t" & (row + 6)).Value
data.NGI8.Text = Sheet3.Range("t" & (row + 7)) .Value
data.NGI9.Text = Sheet3.Range("t" & (row + 8)).Value
data.NGI10.Text = Sheet3.Range("t" & (row + 9)).Value
'Data for LL

data.LLl.Value = Sheet3.Range("u" & (row)).Value

data.LL2.Text = Sheet3.Range("u" & (row + 1)) .Value
data.LL3.Text = Sheet3.Range("u" & (row + 2)).Value
data.LL4.Text = Sheet3.Range("u" & (row + 3)).Value
data.LL5.Text = Sheet3.Range("u" & (row + 4)).Value
data.LL6.Text = Sheet3.Range("u" & (row + 5)).Value
data.LL7.Text = Sheet3.Range ("u" & (row + 6)).Value
data.LL8.Text = Sheet3.Range ("u" & (row + 7)) .Value
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data.LL9.Text = Sheet3.Range{"u" & (row + 8)).Value
data.LL10.Text = Sheet3.Range("u" & (row + 9)).Value
'Data for PI

data.PIl.Value = Sheet3.Range("v" & (row)).Value
data.PI2.Text = Sheet3.Range("v" & (row + 1}).value
data.PI3.Text = Sheet3.Range ("v" & (row + 2)).Value
data.PI4.Text = Sheet3.Range ("v" & (row + 3)).value
data.PI5.Text = Sheet3.Range("v" & (row + 4)).Value
data.PI6.Text = Sheet3.Range("v" & (row + 5)).Value
data.PI7.Text = Sheet3.Range("v" & (row + 6)).Value
data.PI8.Text = Sheet3.Range("v" & (row + 7)) .Value
data.PI9.Text = Sheet3.Range("v" & (row + 8)).Value
data.PI10.Text = Sheet3.Range("v" & (row + 9)).Value
'Data for Percent #200

data.PTl.Value = Sheet3.Range("w" & (row)).Value
data.PT2.Text = Sheet3.Range("w" & (row + 1)).Value
data.PT3.Text = Sheet3.Range("w" & (row + 2)).Value
data.PT4.Text = Sheet3.Range ("w" & (row + 3)).Value
data.PT5.Text = Sheet3.Range ("w" & (row + 4)).Value
data.PT6.Text = Sheet3.Range ("w" & (row + 5)).Value
data.PT7.Text = Sheet3.Range ("w" & (row + 6)).Value
data.PT8.Text = Sheet3.Range("w" & (row + 7)).Value
data.PT9.Text = Sheet3.Range("w" & (row + 8)).Value
data.PT10.Text = Sheet3.Range("w" & (row + 9)).Value
'Data for MLD

data.Ml.vValue = Sheet3.Range ("x" & (row)).Value

data.M2.Text = Sheet3.Range{"x" (row + 1)) .Value
data.M3.Text = Sheet3.Hange ["x" (row 2)) .Value
data,M4,Text = Sheet3.Range("x" (row 3)) .Value

(row 4)) . Value
(row 5)) .Value

‘
+
data,M5,Text = Sheet3.Range("x" +
+

(row + 6)).Value
+
¥

data.M6,Text = Sheet3.Range ("x"
data.,M7,Text = Sheet3.Range("x"
data.M8.Text = Sheet3.Range("x" (row 7)) .Value
data.M9.Text = Sheet3.Range("x" (row 8)) .value
data.M10.Text = Sheet3.Range ("x" & (row + 9)).Value
'Data for MLD OMC

data.0l.Value = Sheet3.Range("y" & (row)).Value

PP RE R R R

data.02.Text = Sheet3.Range("y" & (row + 1)).Value
data.03.Text = Sheet3.Range("y" & (row + 2)).Value
data.O4.Text = Sheet3.Range ("y" & (row + 3)).Value
data.05.Text = Sheet3.Range ("y" & (row + 4}).Value
data.06.Text = Sheet3.Range("y"” & (row + 5)).Value
data.07.Text = Sheet3.Range("y" & (row + 6)).Value
data.08.Text = Sheet3.Range ("y" & (row + 7)).Value
data.09.Text = Sheet3.Range("y" & (row + 8)).Value

data.010.Text = Sheet3.Range("y" & (row + 9)).vValue
'Data for PERCENT ADD
data.Pl.Value = Sheet3.Range{"ab" & (row)).Value

data.P2.Text = Sheet3.Range("ab" & (row + 1)}.Value
data.P3.Text = Sheet3.Range("ab" & (row + 2)).Value
data.P4.Text = Sheet3.Range("ab" & (row + 3)).Value
data.P5.Text = Sheet3.Range("ab" & (row + 4)).Value
data.P6.Text = Sheet3.Range("ab" & (row + 5)).Value
data.P7.Text = Sheet3.Range ("ab" & (row + 6)).Value
data.P8.Text = Sheet3.Range ("ab" & (row + 7)) .Value
data.P9.Text = Sheet3.Range("ab" & (row + 8)).Value

data.P10.Text = Sheet3.Range ("ab" & (row + 9)).Value
'Data for MODIFIED PI
data.MPIl.Value = Sheet3.Range("aG" & (row)).Value

data.MPI2.Text = Sheet3.Range("aG" & {(row + 1)).Value
data.MPI3.Text = Sheet3.Range("aG" & {row + 2)}.Value
data.MPI4.Text = Sheet3.Range("aG" & {row + 3}}.Value
data.MPI5.Text = Sheet3.Range ("aG" & (row + 4})}.Value
data.MPI6.Text = Sheet3.Range("aG" & (row + 5}}).Value
data.MPI7.Text = Sheet3.Range("aG" & (row + 6)}).Value
data.MPI8.Text = Sheet3.Range("aG" & (row + 7)).Value
data.MPIS.Text = Sheet3.Range("aG" & (row + 8)).Value

data.MPI10.Text = Sheet3.Range("aG" & (row + 9)).Value
'Data for MODIFIED MLD
data.MDl.Value = Sheet3.Range("aC" & (row)).Value

data.MD2.Text = Sheet3,Range("aC" & (row + 1)).Value
data.MD3.Text = Sheet3.Range("aC" & (row + 2)).Value
data.MD4.Text = Sheet3.Range ("aC" & (row + 3)).Value
data.MD5>.Text = Sheet3.Range("aC" & (row + 4)).Value
data.MD6.Text = Sheet3.Range("aC" & (row + 5)).Value
data.MD7.Text = Sheet3.Range("aC" & (row + 6)).Value
data.MD8.Text = Sheet3.Range("aC" & (row + 7)) .Value
data.MD9.Text = Sheet3.Range{("aC" & (row + 8)).Value

data.MD10.Text = Sheet3.Range("aC" & (row + 9)).Value
'‘Data for MODIFIED OMC3
data.MOl.Value = Sheet3.Range("aD" & (row)).Value
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data.MO2.Text = Sheet3.Range("aD" & (row + 1)) .Value
data.MO3.Text = Sheet3.Range("aD" & (row + 2}).Value
data.MO4.Text = Sheet3.Range("aD" & (row + 3)).Value
data.MO5.Text = Sheet3.Range("aD" & (row + 4)).Value
data.MO6.Text = Sheet3.Range("aD" & (row + 5)).Value
data.MO7.Text = Sheet3.Range("aD" & (row + 6)).Value
data.MOB.Text = Sheet3.Range("aD" & (row + 7))}.Value
data.MO9.Text = Sheet3.Range ("aD" & (row + 8)).Value

data.MO10.Text = Sheet3.Range("aD" & (row + 9)).Value
'Data for UCS

data.Ul.Value = Sheet3.Range("akE" & (row)) .Value
data.U2.Text = Sheet3.Range("aE" & (row + 1)).Value
data.U3.Text = Sheet3.Range("aE" & (row + 2)).Value
data.U4.Text = Sheet3.Range("aE" & (row + 3)).Value
data.U5.Text = Sheet3.Range("aE" & (row + 4)).Value
data.U6.Text = Sheet3.Range("aE" & (row + 5)).Value
data.U7.Text = Sheet3.Range("aE" & (row + 6)).Value
data.U8.Text = Sheet3.Range("aE" & (row + 7)) .Value
data.U9.Text = Sheet3.Range{"aE" & (row + 8)).Value
data.Ul0.Text = Sheet3.Range("ak" & (row + 9)).Value
'Data for UCS OMC

data.U0l.Value = Sheet3.Range("aF" & (row)).Value
data.UO2.Text = Sheet3.Range("ar" & (row + 1)) .Value
data.U03.Text = Sheet3.Range("aF" & (row + 2)).Value
data.UO4.Text = Sheet3.Range ("aF" & (row + 3}).Value
data.U05.Text = Sheet3.Range("aF" & (row + 4)).Value
data.U06.Text = Sheet3.Range ("aF" & (row + 5)).Value
data.U07.Text = Sheet3.Range ("aF" & (row + 6)}.Value
data.U0B8.Text = Sheet3.Range("aF" & (row + 7)).Value
data.U09.Text = Sheet3.Range("aF" & (row + 8)).Value
data.U010.Text = Sheet3.Range("aF" & (row + 9)).Value
'Data for YEAR

data.Yl.Value = Sheet3.Range("ah" & (row)) .Value

data.Y2.Text = Sheet3.Range("ah" & (row + 1}).Value
data.Y3.Text = Sheet3.Range ("ah" & (row + 2)).Value
data.Y4.Text = Sheet3.Range("ah" & (row + 3}).Value
data.Y5.Text = Sheet3.Range ("ah"™ & (row + 4)).Value
data.Y6.Text = Sheet3.Range("ah" & (row + 5)).Value
data.Y7.Text = Sheet3.Range ("ah" & (row + 6)).Value
data.Y¥8.Text = Sheet3.Range("ah" & (row + 7)) .Value
data.Y¥9.Text = Sheet3.Range("ah" & (row + 8)).Value

data.Y10.Text = Sheet3.Range{"ah" & (row + 9)).Value
End Sub

Private Sub add_Change() AL Aava Pd oA DSy SEEl ae
data.MOVE2.Value = 31

row = 31
I1f add.value = "FLYASH" Then 'works on the flyash data sheet2

SHOWFLYASH
U0l.Visible = True
U02.Visible = True
U03.visible = True
U0O4.visible = True
U05.Visible = True
U06.Visible = True
U07.Visible = True
UCB.Visible = True
U009.Visible = True
0010.Visible = True
Label35.Visible = False
Label2l.Visible = True

Else
If add.Value = "CKD" Then 'works on the CKD data sheet6
SHOWCKD

UO0l.visible = True
U02.Visible = True
UO3.Visible = True
U04.visible = True
U05.vVisible = True
U06.Visible = True
U07.visible = True
U08.Visible = True
U09.Visible = True
U010.Visible = True
Label35.Visible = False
Lapel2l.Visible = True

Else

If add.value = "LIME" Then 'works on the lime data sheet3
SHOWLIME

UOl.vVisible = False
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Uo2.Visible = False
UD3.Visible = False
Uo4.Visible = False
UoS5.Visible = False
U06.Visible = False
Uo7.visible = False
Ucg.Visible = Falsge
U09.Visible = False

U0l0.Visible = False
Label35.Vigible = False
Label2l.Vigsible = False

End If
End If
End If
End Sub

Private Sub ADDINSERT Change()
If ADDINSERT.Value = "LIME" Then
Label2l.Visible = False
Uol.Visible = False
Uo2.Visible = False
UO3.Visible = False
Uo4.Visible = False

Ues.Vizible = False
J06.Visible = False
U07.visible = False
UD8.Visible = False
UD9.Visible = False
U0l0.Visible = False
Else
If ADDINSERT.Value = "FLYASH" Then
Uol.Visible = True
U02.Visible = True
U03.Visible = True
Uo4.Visible = True
Uos5.Visible = True
U06.Visible = True
Uo7.Visible = True
UoB.Visible = True
UQ9.visible = True
Uo10.Visible = True
Label35.Visible = False
Label2l.Visible = True
Else
I1f ADDINSERT.Value = "CKD" Then
Uol.Visible = True
UO2.Visible = True
Uo3.Visible = True
Uo4.Visible = True
Uo5.Visible = True
Uob.Visible = True
uo?7.Visible = True
UOB,.Visible = True
Uo9.Visible = True
Uo10.visible = True
Label35.Visible = False
Label2l.Visible = True
End If
End If
End If
End Sub

Private Sub delete Click()
I1f dl.Value = True Then
If add = "“FLYASH" Then
Sheet2,Range ("v3") = e¢l.Value
a = Sheet2.Range("w3")
Sheet2.Rows (a) .EntireRow.delete
dl.vValue = False

el = "n
s1 = "®

Hl-llﬂ

ml:ﬂ“
NGIL = v
LLl = "¢
PIL = "¢

pTL = M



Ml = ne

01 = "w
Pl -
MD1 = e
HO1 = e
gl = o
Upl = ¢
MPI1 = "
V1 o=

Sheets{"Flyash") .Select

Range ("T31") ,Select

Activevorkbook.Worksheets("Flyash") ,sort,.SortFields.Clear
ActiveWorkbook.Worksheets ("Flyash") .sort,SortFields,add Key:=Range ("T31"), _

SortOn:=x1SortOnValues, Order:=xlAscending; DataOption:=xlSortNormal

With ActiveWorkbook.Worksheets("Flyash") . sort

End

IE

SetRange Range ("R31:AH1048000")
.Header = xlNo

MatchiCase = False

.Orientation = x1TopToBottom
.SortMethod = x1Pin¥in

.Apply

Sheets ("Sheetl") .Select

with

End If

End If

d2.Value = True Then

I1f ‘add = "FLYASH" Then
Sheet2.Range("v3") = c2.Value

a = Shest2.Range ("w3i")
Sheet2.Rows{a) .EntireRow.delece
dZ.Value = False

cZ = "
52 = mn
HZ = mv
MMZ =
NGIZ = ¢
LLZ = e
FIZ2 = v
PTZ - N
M2 = mm
02 = mn
Pz =
Mp2 =
MO2 = v
P2 = nw
uoz = "
MPI2 = "
rz = Hu

' O

Sheatst“Flyaah”i.Salect
Range ("T31") .Select
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.Clear

ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.add Key:=Range("T31"), _

SortOn:=xlSortOnValues, Order:=xlAscending, PataOption:=xlSortNormal

With ActiveWorkbook.Worksheets("Flyash"),sort

End

-SetRange Range ("R3IL:AH1048000")
-Header = x1lNo

.MatchCase ~ False

.Orientation = x1TopToBottom
.SorcMethod = x1PinYin

Apply

Sheets ("Sheetl") .Select

With

End If

End If

1f d3.value = True Then

If add = "FLYASH"™ Then
Sheet2.Range{"v3i") = ¢3.Value

a = Sheat2, Range ("w3")
Sheet2.Rows{a) .EntireRow.delete
d3.Value = False

g3 =nn
53 = nn
H3 = wn
MM3 = mv
NGI3 = "»
LL3 = "»
PI3 = "»
PT3 = "»
M3 = mn
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03 = “»
P3 = Ww
MD3 = v
MO3 = "»
U3 = "n
UO3 = "h
MPI3 = "»
Y3 = mw

Sheets ("Flyash") .Select
Range ("T31").Select
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.Clear
AcetiveWorkbook.Worksheers {"Flyash") .sort.SortFields.add Key:=Range ("T31"), _

SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets("Flyash").sort

.BetRange Range (“"R31:AH1048000")

.Header: = xlNo

MatchCase = False

.Orientation = x1TopToBottom

JSortMethed = %1Pin¥Yin

-Apply

Sheets ("Sheet1") .Select
End With

End If
End If

If d4.Value = True Then
If add = "FLYASH" Then
Sheet2.Range("v3") = cd.Value
a = Sheet2.Range("w3")
Sheat2.Rows(a) .EntireRow.delete
d4.Value = False

cd = n
54 = un

HA = nn
MMq -
NGI4 = "
LL4 = anw
PI4 =00
?’rq - Hu
Mq - nn
04 = uw
Pq - Wi
M4 = B
MOG = um
Ug = mo
uoq -
MPI4 = "0
Y4 - W

. a2
Sheats (“Flyash") .Select

Range ("T31") .Select

ActiveWorkbook.Worksheets ("Flyash").sort.SortFields.Clear

ActiveWorkbook.Worksheets ("Flyash").sort.SortFields.add Key:=Range("T31"), _

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets("Flyash").sort

.SetRange Range ("R3I1:AHI048000")

.Header = xlNo

MatchCase = False

-Orientation = x1lTopToBottom

.SortMethod = xlPinYin

-Apply _

Sheets ("Sheetl") .Select
End With

End If
End 1f

If d5.Value = True Then
If add = "FLYASH"™ Then
Sheet? ,Range ("v3") = c5.Value
a = Sheet2.Range ("w3")
Sheet2.Rows {4) .EntireRow.delete
d5.Value = False

€5 =
§5 = nm
HS = mm
MMS = "
NGIS = ""
LL3 = "%
BIS = "™
PTS = "%
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M5 = mn
g5 = "w
p5 = "w
MD5 = M0
MOS = wn
us = "w
ygs = v
MPIS = v
¥5 = uw

Sheets("Flyash") .Select
Range ("T31") .Selact
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.Clear
NetiveWorkbook . Worksheets ("Flyash") .sort, SortFilelds.add Key:=Range("T31"),
SortOn:=x1SortOnValues, Order:-xlascending, DataOption:=xlSortNormal
With ActiveWorkbook,Worksheets("Flyash").sort
.SetRange Range ("R3I1:AH1048000")
.Header = xlNo
.MatchCase = False
.Orientation = x1TopToBottom
JSortMethod = x1Pin¥Yin
JApply
Sheets("Sheetl") .Select
End With

End If
End If

If d6.vValue = True Then
If add = "FLYASH" Then
Sheet2.Range ("vi") = gc6.Value
a = SheetZ.Range("w3")
Sheet?.Rows (a) .EntireRow.delete
df.Value = False

c6 = "
56 = ¥
HG = v
MME = "¢
NGI6 = "
LLE = "o
PIG = "¢
PTG = M
Mg = "»
O = "
PG = "m
MDBE = "M
MOB = "
Ue = nu
Uos = "*
MPI6 = ""
Y6 = "n

. 1
Sheets("Flyash") .Select
Range ("T31") .Select
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.Clear

ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.add Key:=Ranpge ("7T31"), _

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xzlSortNormal
wWith ActiveWorkbook.Worksheets("Flyash").sort

,5etRange Range ("R31:AH1048000")

(Header = xlNo

MatchCase = False

.Orientation = xlTopToBottom

.SortMethod = xlPinYin

+Apply

Sheets ("Sheetl") .Select
End With

End If
End If

If d7.Value = True Then
1£ add = "FLYASH" Then
Sheet2.Range ("v3") = c7.Value
a = Sheet2,Range("w3")
Sheet2,Rows (a) .EntireRow.delete
d7.Valye = False

el o= mn
s“r = mn
HT = w»
MM = M
NGI7 = "
LL7 = wm
P17 = "v
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PT7 = Wi
M7 = nn
07 = "n
P = nw
MDY = n
MOT = W
U7 = mm
ugy = o
MP1T =
Y7 = mn

Sheets ("Flyash") .Select
Range ("T31"),Selsct
hctiveWorkbook .Worksheets ("Flyash") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("Flyash") .sort,SortFields.add Key:=Range("T31"),
SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook,Worksheets ("Flyash"),.sort
.SetRange Range ("R31:AH1048000")
.Header = xlNo
-MatchCase = False
-Orientation = xlTopToBottom
.SortMethod = xlPin¥in
-Apply
Sheets ("Sheetl") .Select
End With

End If
End Tf

If d8.Value = True Then
If add = "FLYASH" Then
Shest2.Range("v3”) = cB.Value
a = Sheet2.Range("w3")
Sheet2.Rows(a) .EntireRow.delete
d&.Value = False

cB = "
58 = "
HE = mw
M'MB - e
NGIB = ""
LLE = ¥
PIg = "M
PTE = "o
M8 = wo
08 = Wn
PR = nw
MDE = W
MO8 = 0o
UR = mn
yog = “»
Mpig = "
YE = un

) . i
Sheets("Flyash") .Select
Range ("T31") .Select
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.Clear

ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.add Key:=Range("T31"), _

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortMormal
With ActiveWorkbook.Worksheets{"Flyash").sort

.SetRange Range ("R31:AH1048000")

.Header = xlNo

.MatchCase = False

.Orientation = x1TopToBottom

~SortMethod = x1PinYin

-Apply

Sheets ("Sheetl").Select
End With

End If
End If

If d%.Value = True Then
If add = "FLYASH" Then
Sheet2.Range ("v3") = c9.Value
a = SheetZ.Range ("w3")
Sheet?.Rows (a) .EntireRow.delete
d9.value = Falsge
cg = nn
59 = Mn
HE = m»
MME = #n
NGI9 = "¢
LL9 = ""
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PIG = "m
gl U
MG = "w
09 = "w
PO = ww
MDY =
MOG = 0
g =
o9 =

Sheets ("Flyash") .Select
Range ("T31").Selsct
hetivellorkbook . Worksheetrs ("Flyash") .sort ,SortFields.Clear
ActiveWorkbook.Worksheats ("Flyash") .sort,.SortFields,add Xey:=Rangs("T31"), _
SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets("Flyash").sort
.SetRange Range{"R31:AH1048000")
.Header = xlNo
MatchCase = False
Orientation = x1TopToBottom
.SortMethod = x1PinYin
-Apply
Sheets ("Sheetl”) .Select
End With

End If
End If
If di0.Value = True Then
If add = "FLYASH" Then
Sheet?.Range ("v3') = ¢i0.Value
a = Sheest?,Range ("w3")
Sheet2.Rows (a) .EntireRow.delete
dl0.Value = False
cla - LR
slo -
Hlo - o
MMJ.G -
NGIL0 = "™
LLI“ -
PIla - nw
PTJ-O - nn
Mlﬁ - n
010 = un
plo - "o
HD‘IQ - Mn
Molo L
Ulo - Hn
uoig = v
MPI10 = "«
Yio = "
Sheets ("Flyash").Select
Range ("T31").Select
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields,Clear

ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields,add Key:=Range("731%), _

SortOn:=xlSortOnValues, Order:=xzlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets("Flyash").sort

.SetRange Range ("R31:AH1048000")

Header = xlNo

MatchCase = False

.Orientation = x1TopToBottom

.SortMethod = ®lPinYin

-Apply

Sheets ("Sheetl") .Select
End With

End If
Else

If dl.value = True Then
If add = "CKD™ Then
Sheetd,Range ("v3") = el.value
a = Sheets.Range("w3")
Sheaté.Rows(a) .EntiréRow.delete
dl.Value = False
cl = "n
31 = "N
Hl - nw
MM = v
NGI1 = ™
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LY = W0
PI] = N
PT1 = Mw
M1 o= wn

01 = "n
Pl = nm
MDl = "¢
MOl = "m
Ul = ww
Uo1 = "m
MPI1 = "%

¥] = mn

Sheets("CKD")  Select
Range ("T31") .Select
Aotivedorkbook.Worksheets ("CKR") .sort,SortFields.Clear
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.add Key:=Range ("T31"), _

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("CKD") .sort

«SetRange Range ("R3I1:AH104B000")

Header = x1No

MatchCase = False

.Orientation = xl1TopToHottom

.SortMethod = x1Pin¥Yin

~Apply

Sheets("Sheetl") .Select
End With

End 1If

End 1If
If d2.Value = True Then

If add = “CKD" Then

Sheeté.Range("v3") = c2.Value

a = Sheet6.Range ("wi")

Sheet6.Rows (a) .EntireRow.delete

d2.Value = False

G2 o= "

g2 = M»

H2 =

MM2 - N

NGI2 = "*

LLZ = w0

PIZ = "0

PTZ2 = mn

MZ = mw

02 = "

FZ - N

MDZ = hn

MOZ = e

yz = un

vo2 = "o

MPI2 = u®

Y2 o= un

e Ly £

Shests ("CKD") ,Select
Range ("7T31") .Select
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.Clear
ActiveWorkbook .Worksheets ("CKD") .sort.SortFields.add Key:=Range("T31"), _

SortOn:=xlS5ortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets{"CKD").sort

.SetRange Range ("R3I1:AH104B000")

.Header = xlNo

.MatchCase = False

.Orientation = x1TeopToBottom

.SortMethod = xlPinYin

-Apply

Sheets ("Sheet1") .Select
End With

End If
End Lf

1f d3.value = True Then
If add = "CKD" Then
Sheeth,Range ("vi") = c3.Value
a = Sheetf,.Range ("wi")
Sheet6&.Rows (a) .EntireRow.delete
d3.Value = False

¢33 = v
53 = "n
H3 = wn
MH3 = nw
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NGI3 = "v

LLY = "h

P13 = "n

PT3 = "N

M3 = nww

03 = "o

P3 -

"03 -

ms -

{13 - w

U°3 - i

MPI3 = v

YS - nm
Sheets ("CKD") .Select
Range ("T31") .Select
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("CKD").sort.SortFields.add Key:=Range("T31"), _

‘SortOn:i=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortMNormal
With ActiveWorkbook.Worksheets{"CKD").sort

.SetRange Range ("R3I1:AH1048000")

.Header = xlNo

.MatchCase = False

.Orientation = x1TopToBottom

-SortMethod = x1PinYin

-Apnly

Sheets{"Sheetl") .Select
End With

End If

End If
1f di.Valuve = True Then

If add = "CKDP" Then

Sheeté.Range("v3") = ecd.Value

a = Sheer6.Range ("w3")

Sheet6.Rows (a) .EntireRow.delete

d4.Value = False

cf = M»
sq = M0
HE = M0
MMA = M
NGI4 = "
Ll = A
PI4 = Ww
PTA = 40
MA = "
QA = mH
By = o
MDA = MmN
MO4 = W0
Uqg = "o
Ugq = v
MBI4 = "n
¥4 =

[T e

Sheats ("CKD") .Select
Range ("T31").Select _
ActiveWorkbook.Worksheets ("CKDY) .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.add Key:=Range ("T31"), _

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xiSortNormal
With ActiveWorkbook.Worksheets("CKD").sort

.SetRange Range("R31:AH1048000")

.Header = xiNo

.MatchCase = False

.Orientation = xlTopToHottom

.SortMethod = x1Pin¥in

LApply

Sheetsg ("Sheetl") .Select
End With

End If
End 1F

1f dS5.Value = True Then
1f add = "CKD" Then
Sheet§,Range ("v3") = ¢5,.Value
a = Sheet6.Range("w3")
Sheet&.Rows (a) .EntireRow.delete
d5.Value = False
5 = "
8.5 - "N
Hs = nn
MM5 = v
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NGIE, - W
L’l‘s -
PIS = "M
PTS = v
MG .
0% = v
B5 o« om
T
MO5 - e
Uh m mn
ues -
MPI5 -
Y5 = Wn

Sheets ("CKD") .Select
Range ("T31"%) .Select
ActiveWorkbook.,Worksheats ("CKD") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("CRD") .sort.SortFields.add Key:=Range("T31"), _
SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("CKD").sort
.SetRange Range ("R31:AH1048000")
+Header = x1No
.MatchCase = False
.Crientation = xlTopToBottom
.SortMethod = x1PinYin
-Apply
Sheets ("Sheetl") .Select
End With
End If
End If
1f d6.Value = Trus Then
If add = "CKD" Then
Sheet6.Range ("v3") = cé6.Value
a = Sheaté.Range ("w3i")
Sheet®.Rows (a) .EntireRow.deiete
dé.Value = False

cf = "
56 = "
HE = "
MME = MW
NGI§ =
LLE = Mw
916 = w
?1‘6 —_—)
Hs = My
06 = "*
P6 = Mn
M6 = v
ueﬁ - M
Us - e
uge = "
MPIG = M
YG - nn

Sheets ("CKD") .Select
Range ("T31") .Select
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("CKD") .sort.5ortFields.add Key:=Range("T31"),

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets("CKRD").sort

.SetRange Range ("R31:AH1048000")

.Header = xlNo

.MatchCase = False

.Orientation = xlTopToBottom

.SortMethod = x1PinYin

~Apply

Sheets ("Sheet1") ,Select
End With

End If

End TE
1f d7,Value = True Then

1f add = "CKD" Then

Sheet6 .Range ("v3d") = c7.Value

a = Sheeth.Range ("w3")

Sheetb.Rows(a) .EntireRow.delete

d7.Value = False

T = "
57 = "
HT = "
MMT = nn
NGIT = "*
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LLT = "
BIT = o
pT7 =
M7 =
07 = "
g7 = nw
ME7 = "¢
MO = m»
U7 = ww
uo7 = "
MPI7 = "
¥7 = "m

Sheets("CXD") .Select
Range ("T31") .Select
ActiveWorkbook,Worksheets ("CKD") .sort.SortFislds.Clear
ActiveWorkbook.Worksheets ("CKD") .sort .SortFields.add Key:=Range("T31"), _

SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("CKD") .sort

.SetRange Range ("R31:AH1048000")

.Header = xlNo

.MatchCase = False

-Orientation = xITopTeBottom

.SortMethod = x1Pin¥Yin

<hpply

Sheets ("Sheetl") .Select
End With

End If

End If
If d8.Value = True Then

If add = "CKD" Then

Sheeté.Range ("vi") = cB8.Value

a = Sheet®.Range ("wi")

Sheet®.Rows(a) .EntireRow.delete

df.Value = False

nn

el =

g8 = "n
HE = w»
MM = "¢
NGI8 = "u
LLE - nn
pig = M»
TR = ¢
MB = "0
08 = nn
P8 = ®n
Mpg = "o
MOg = "
ug = w»
uog = o
MBI8 = #»
Ys = Hw

y 5
Sheets ("CKD") .Select
Range ("T31") .Select
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.Clear
ActiveWorkbook,Worksheets ("CKD") .sort.SortFields.add Key:=Range("T31"),

SortOn:=x15ortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("CKD") .sort

.SetRange Range ("R31:AH1048000")

.Header = xlINo

.MatchCase = False

.Orientation = *x1TopToBot ton

.SertMethod = x1Pin¥in

-Apply

Sheets ("Sheetl") .Select
End With

End If

End If
If d9.Value = True Then

If add = "CKD" Then

Sheet6,.Range ("v3") = c9, Value

4 = Sheetf.Range ("w3")

Sheetd.Rows {a) .EntireRow.delete

d9.Value = False

c9 w un

sg = "N

Hg = un

mg =

NGI9 = ""

LLS = "%
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PI9 = "°"
BPTY = P%
M3 = W
08 = "
FQ = Wm
MDY = "©
MOS8 = "M
U9 = nv
Uog = np
MPI9 = "7
¥ o= P

Sheets ("CKD") .Select
Range ("T31").Select
hotiveWorkbook.Worksheets ("CKD") .sort.SorcFields.Clear
ActiveWorkbook . Worksheets ("CKD") .sort.SortFields.add Key:=Range("T31"),
SortOn:=xl1SortOnValues, Order:=xlAscending, DataOption:=slSortNormal
With ActiveWorkbook.Worksheets ("CKD").sort
.SetRange Range ("R31:AH1048000")
.Header = xlNo
MatchCase = False
JQrientation = xlTopToBottom
.SortMethed = xlPinYin
Apply
Sheets ("Sheetl") .Select
End With
End 1f
End IE
If dl10.Value = True Then
If add = "CKD" Then
Sheet6.Ranga("v3") = cl0.Value
@ = Sheetb.Range("w3")
Sheet6.Rows (a) .EntireRow,delete
dlif.Value = False
clo - W
510 - W
A0 = "™
MM10 = #n
NGII0 = "
LL1O0 = "%
PI10 = "¢
PT10 = "»
M10D = v
Ol0 = "»
PLD = nm
MD1D = v
MOLO = "
Ulp = Wi
uolp = v
MPI10 = v
Yig = »v

Sheets ("CKD") .Select
Range ("T31") .Select
ActivaWorkbook.Worksheets ("CKD") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields,add Key:=Range("131"), _

SortOn:=xlSortOnValues, Order:=xlAscending, DataOptien:=xlSortNormal
With ActiveWorkbook.Worksheets ("CKD").sort

.SetRange Range ("R31:AH104B8000™)

.Header = x1No

MatchCase = False

Orientation = x1TopToBottom

+SortMethod = xlPinYin

«Apply

Sheets {"Sheetl") .Select
End With

End If

Else

If dl.value = True Then
I1f add = "LIME"™ Then
Sheetd.Range ("v3") = cl.Value
a = Sheet3.Range ("wi")
Sheet3.Rows(a) .EntireRow.delete
dl.Value = False
cl‘i - nn
sl - e
Hl = v
MMl = "
NGI‘E - LR
IJLI =
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pT] = mu
M1 = mn
Ol =
Pl = v
MD1 = "7
MOl = "»
u] = W
vor = v
MPI1 = "
¥] = un

Sheets("LIME") .Selact
Range ("T31") .Select
heriveWorkbook.Worksheets ("LIME") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.add Key:=Range("T31"), _
SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("LIME") .sort
+SetRange Hange ("R31:AH10Q48000")
.Header = xlNo
.MatchCase = False
«Orientatien = x1TopToBottom
SortMethod = xlPin¥Yin
~Apply
Sheets ("Sheetl"”) .Select
End With
End 1f
End If
If d2.Value = True Then
If add = "LIME" Then
Sheet3d.Range("v3") = ¢2.Value
a = Sheet3.Range("w3")
Sheet3d.Rows (a) .EntireRow.delete
d2.Value = False

g2 =
&2 = N
H2 = "
MM2 = w0
NGIZ = o
LL2 = %
PI2 w "%
PT2 = n
M2 = he
02 = Ww
P2 = W
Mp2 = v
MO2 = aw
Uz = wn
Uo2 = an
MPI2 = "
¥2 - mnm

Sheets ("LIME") .Select
Range ("T31") .Select
ActiveWorkbook,Worksheets ("LIME") .sort.SortFields,.Clear
ActiveWorkbook.Worksheets ("LIME") .sorc.SortFields,add Key:=Range("T31"), _

SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("LIME") ,sort

.SetRange Range ("R3I1:AH1048000")

-Header = xlNo

MatchCase = False

.Orientation = x1TopToBottom

.SortMethod = x1PinYin

.Apply

Sheets ("Sheetl") .Selact
End With

End If

End If
If d3.value = True Then

If add = "LIME" Then

Sheet3.Range("v3") = c3.value

a = Sheercl.Range ("w3")

Sheet3.Rows (a) .EntireRow.delete

d3.Value = False

::3 -
83 = Mo
Hs L
MM3 = W0
NGI3 = "»
LL3 = W
P13 =

85



BT3 = WM

M3 = n0

03 = nn

P3 = w0

MD3 = "1

m3 - hi

U3 = "»

U03 = "M

MPI3 = "t

Y3 -

o] |

Sheets ("LIME") .Select
Range ("T31") .Select
ActiveWorkbook.Worksheats("LIME") .so0rt.SortFields.Clear
ActiveWorkbook.Worksheets{"LIME") .sort.SortFields.add Key:=Range{"T31"),

SortOn;=xlSortOnValues; Order:=xlAscending; BDataOption:=xlSortNormal
With ActiveWorkbook.Worksheets("LIME").sort

-SetRange Range ("R31:AH1048000")

-Header = xiNo

.MatchCase = False

.Orientation = x1TopToBottom

sSortMethod = xlPinYin

-Apply

Sheets ("Sheetl") .Select
End With

Bnd If

End If
If d4.Value = True Then

If add = "LIME" Then

‘Sheet3.Range ("v3I") = cd.Value

a = Sheet3.Range ("w3")

Sheet3.Rows (a) .EntireRow.delete

d4.Value = False

cd = nm

54 = "n

Hq = vw

MM = uw

NGT4 = 'w»

LL4 = "w

PL4 = "»

PT4 = "»

My = mn

0’4 -

-pq -

MDY = W

M’aq - M

g4 = m»

uo‘ = EORT)

MPIq = "¢

Y" = N
Sheets ("LIME") ,Select
Range ("T31") ,Select
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.Clear
ActiveWorkbook .Worksheets ("LIME") .sort.SortFields.add Key:=Range("T31™), _

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook,Worksheets ("LIME"™),sort

.SetRange Range("R31:AH1048000™)

.Header = xlNo

MatchCase = False

.Orientation = x1TopToBottom

+SortMethsd = x1Pin¥in

-Apply

Sheats ("Sheetl") .Select
End With

End If

End If
I1f d5.Value = True Then

If add = "LIME" Then

Sheet3.Range ("v3") = cS.Value

a = Sheet3.Range("wi")

Sheet3.Rows (a) .EntireRow.delete

di.Value = False

cs = W

85 = W
H5 — hw
MMs = N
NGIS - N
LLS = un
FIS = nn
PTs = Mo
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M5 = MH
05 - MN
P& = Al
Mns - MW
Mos - MW
uﬁ - Wh
uos =
MPIS = MM
Ys - he
Sheets("LIME") .Select
Range ("T31").Select
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("LIMEY) .sort. SortFields.add Key:=Range("T31"), _
SertOn:=x1SortOnValues, Order:=xlAscending, DataOpticon:=xlSortNormal
With ActiveWorkbook.Worksheers ("LIME™) .sort
SetRange Range ("R31:AH1048000")
+Header = xlNo
.MatchCase = False
.Orientation = x1TopToBottom
SortMethod = x1Pin¥in
JApply
Sheets ("Sheetl").Select
End With
End If
End If
1f d6.Value = True Then
If add = "LIME" Then
Sheet3.Range ("v3") = c6.Value
a = Sheet3.Range ("w3")
Sheet3.Rows(a) .EntireRow.delete
d6.Value = False
cﬁ = e
56 = Ot
H6 = "
mﬁ = W
NG_IG = hw
LLG =
PIG = n»
PTE = M
Mg = nun
06 = "n
BE = "0
MDG = "
MOB = "
Ug = mn
uge = "
MPIG = "V
¥6 = v

Sheets ("LIME") ,Select
Range ("T31") .Select
ActiveWorkbook,Worksheats("LIME") ,s0rt . SortFields.Clear

ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.add Hey:=Range("731"), _

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets|"LIME").sort
.SetRange Range ("R31:AH104B8000")
.Header = xlNo
.MatchCase = False
.Orientation = xlTopToBottom
.SortMethod = x1PinYin
.Apply
Sheets ("Sheet1") .Select
End With
End If
End If
If d7.value = True Then
If add = “LIME" Then
Sheet3.Range ("v3") = c7.Value
a = Sheetd.Range ("w3")
Sheet3.Rows (a) .EntireRow.delete
d7.Value = False

cq o=
g7 = nn
H7 = "»
MM7 = u#
NGIT = “»
LLT = “u
PI7 = b4
PT = =4
My = e
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07 = nv
Py - v
MD7 = wn
MO7 = v
U7 = o
Uo7 =
MPL7 = n
Y7 -y

Sheets ("LIME") .Select
Range ("T31") ,Select
Activellorkbook.Worksheets ("LIME") .s0rt.SortFields . Clear
ActiveWlorkbook.Worksheets ("LIME") .s0rt.SortFields . add Key:=Range ("T31"),
SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("LIME") .sort
.SetRange Range ["R31:AH1048000")
.Header = xINo
MatchCase = False
.Orientation = xl1TopToBottom
+SortMethod = x1PinYin
~Apply
Sheets ("Sheetl") .Salect
End With
End If
End If
If d8.Value = True Then
1f add = “"LIME" Then
Sheet3.Range("v3") = cB.Value
a = Sheet3.Range("w3")
Sheat3.Rows (a) .EntireRow.delete
dB.Value = False
cH = mw
S8 = nw
HE = wn
MME = "¢
NGI8 = "¢
LLE = mu
PIg = "
PTE = “»
ME = mn
o = "
PR = nn
Mpg = "v
MO = "¢
Ug = uw
uos =
Mpig = "o
Yg = *»
L i
Sheets ("LIME") .Select
Range ("T31") .Select
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.add Key:=Range(“T31"), _
SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("LIME") .sort
.SetRange Range("R31:AH1048000")
.Header = xlNo
.MatchCase = False
.Orientation = x1TopToBottom
.SortMethod = x1PinYin
LApply
Sheets ("Sheetl"),Select
End With
End If
End If
If d9.value = True Then
If add = "LIME" Then
Sheet3,Range ("v3") = c9.Value
& = Sheet3.Range ("w3")
Sheet3.Rows (a) .EntireRow.delete
df.Value = False

cq = nn
59 = "n
HG = nn
MM = "M
NGI9 = "»
LL8 = ""
pIg = ""
PT9 = "M
MG = Wm
0% = "w
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PG s M

MDY = "n
MDG = "
Ug = mn
UQg = nw
MPTS' & v

Y9 = "n
Sheets ("LIME") ,Select
Rarige ("T31") .Select
ActiveWorkbook . Worksheets ("LIME") .sort.SortFlelds.Clear
ActiveWorkbook.Worksheets ("LIME") .sort.SortFlelds.add Key:=Range ("T31"), _

SortOn:=x1SortOnValues, Order:i=xlAscending, DataOptioni=x]SortNormal
With ActiveWorkbook.Worksheets("LIME").sort

.SetRange Range ("R31:AH1048000")

.Header = x1No

.MatchCase = False

.Orientation = x1TopToBottom

.SortMethod = x1Pin¥Yin

-Apply

Shests ("Sheetl") .S=lect
End With

End If

End If
If di0.Value = True Then

If add = "LIME" Then

Sheet3.Range("v3") = cil.Value

a = Sheer3.Range ("w3")

Sheet3.Rows (a) .EntireRow.delate

dif.vValue = False

cln - un

S].U - N

Hlo - "

mle - hn

NGI1O0 = "®

LL1O = =»

PI1Q = “»

PT1Q = u#

M1D = "M

010 - Un

?10 T

MDi0 = "*

MO10 = “®

010 = oo

Gol0 = "™

MPI1Q = “»
Ylu = "
' - ; -
Sheets ("LIME") .Select
Range ("T31") .Select
Activelorkbook.Worksheets ("LIME") .sort.SortFields. Clear _
ActiveWorkbook.Worksheets ("LIME") .sort.Sort¥ields.add Key:=Range("T31"),

SortOn:i=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook,.Worksheets("LIME").sort

.SetRange Range ("R31:AH1048000")

.Header = xlNo

.MatchCase = False

Orieptation = x1TopToBottom

.SortMethod = x1lPinYin

-Apply

Sheets ("Sheetl") .5elect
End With

End If

End If

End If

End If

End Sub

Private Sub DELETEMODE Click()
Label3q . Visible = True
dl.visible = True
d2.Vistble = True
d3.visible = True
di,.Visible = True

d5.Visible = True
dé.Vigikile = True
d7.visible = True
d8.Visible = True

d9.visible = True
dl0.Visible = True
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delete.Visible = True
INSERTMODE.Visible = False
exitmode.Visible = True
MMENU.Visible = False
editmode.Visible = False
dl = False

d?2 = False

d3l = False

d4 = False
d5 = False
d6 = False
d7 = False
d8 = False
d9 = False
dl0 = False

With data

With .Labell ° i
.ForeColer = EHFF§
.Caption = “DELETE MODE"
Jdeft =0
.Left = Labell.lLeft + data.Width / 2 - Labell.Width / 2
End With

With .Labell®
JForeColor = gHFF& ' .=>° --.
End With

With .Label34
+ForeColor = 4HFFE

If VIEWMODE = True Then

Else
1€ INSMOD = True Then
FORMATVIEWMODE
data,CLEARFORM
End If
End If
End With
End With
End Sub
Private Sub EDITFLYASHI () ‘s STF 2= =l e =
1€ dl.Value = True Then
Sheet2,Range ("v3") .Value = data.cl.Text
row = Sheet2,Range ("w3")
1f H1.Value <> "™ And MM1.Value <> "" And NGI1.Value <> "" And P1.Value <> "" And MPl.Value <> "¢
And MO1.Value <> "" And Ul.Value <> "" And UOl.Value <> "" And MPIl.Value <> "" fnd ¥1.Value <> "" Then

Sheet2 . Range("s"™ & (row)).Value = data.MMI1, Text
MMl . value = ""

Sheet? . Range ("r" & (row)).Value = data.Hl.Text
Hl.Valuye = "

Sheat2.Range ("t" & (row)).value = data.NGI1.Text
NGI1l.Valug = ""

Sheet2,.Range ("u™ & (row)).Value = data.LLl.Text
LLl1.Value = ""

Sheet2.Range ("v" & (row)).Value = data.PIl.Text
PI1.Value = "

Sheet2.Range ("w" & (row)).Value = data.PT1.Text
PT1.Value = ""

Sheet2.Range ("x" & (row)).Value = data.Ml.Text
Ml.value = ""

Sheet2.Range{"y" & (row)).Value = data.0l.Text
0l.Value = "M

Sheet?.Range("ab" & (row}).Vaiue = data.pPl.Text
Fl.Value = ""

Sheet?.Bange ("ac" & (row)).Value = data.MDl.Text
MDl.Value = ""

Sheet?.Bange{"ad" & (row)).Value = data.MOLl.Text
MOl.Value = ""

Sheet2.Ranga("as" & (row)).Value = data.Ul.Text
Ul.Value = "*

Sheatz.aange{“af" & {row)).Value = data.U0l.Text
vol.value = "*

Sheet2.Range("ag" & (row)).Value = data.MPIl.Text
MEIl.Value = ""

Sheet2.Range ("ah" & (row)).Value = data.Yl.Text
Yl.vValue = ""

cl.Value = "*

dl.Valye = "¢

90



End If
End If
End Sub
Private Sub EDITFLYASHZ ()
If d2.value = True Then
Sheat?.Range("v3") .Value = data.c2.Text
row = Sheet?,Range("w3")

If HZ.Value <> "" And MM2Z.Value <> "" Apnd NGIZ.Value <> "" And P2.Value <> "' And MD2.Valus <> "
And MOZ.Value <> "" And U2,Value <> "" And UO2.Value <> "" And MPIZ.Value <> "" And Y2.Value <> "% Then

Sheet2.Range("s" & (row)).Value = data.MM2.Text
MM2.Value = ""
Sheet2.Range("r" & (row)).Value = data.H2.Text
HZ2.Value = ""
Sheet2.Bange({"t" & (row)).Value = data.NGI2.Text
NGIZ.Value = ""
SheetZ.Range("u" & (row)).Value = data.LLZ.Text
LLZ.Value = "0
Sheet2.Range("v" & (row)).Value = data.PI2.Text
PIZ.Value = "*
Sheet2.Range("w" & (row)).Value = data.FT2.Text
FT2.Value = ""
Sheet2.Range ("x" & (row)).Value = data.M2.Text
M2.Valupe = ""
Sheet2.Range("y" & (row)).Value = data.02.Text
02.Value = ""
Sheat2.Range("ab" & (row)).Value = data.pP2.Text
P2.Value = "" '
Sheet2.Range("ac" & (row)).Value = data.MD2.Text
MD2.Valype = "
Sheet2.Range("ad" & (row)).Value = data.MO2.Text
Mo2.Value = "
Sheet2.Range (“ae"™ & (row)).Value = data.U2.Text
Uz.valve = ""
SheetZ.Range ("af" & (row)).Value = data.U0Z,Text
o2 .value = "
Sheet2.Range ("ag" & (row)).Value = data.MPIZ.Text
MPI2.Value = "
Sheet?,Range ("ah" & (row)).Value = data.¥Y2.Text
Y2.Value = ""
c2.Value = "v
d2.Value = "

End If

End If

End Sub

Private Sub EDITFLYASH3()

1f d3.Value = True Then
Sheet2,.Range ("v3") .Value = data.c3.Text
row = Sheet?.Range ("w3")

If H3.Value <> "" And MM3.Value <> "" And NGI3.Value <> "" And P3.Yalue <> "" And ‘MD3.Value <>
" And MO3.Value <> "" And U3.Value <> "" And U03.Value <> "" And MPI3.Value <> "" And Y3.Value <> "" Then

Sheet?.Range ("s" & (row)).Value = data.MM3.Text
MM3.Valug = ™"

Sheer2,.Range ("r" & (row)).Value = data.H3.Text
H3.Value = ""

Sheet2 . Range{"t" & (row)).Value = data.NGI3, Text
NGI3.Value = "

SheetZ.Range ("u" & (row)).Value = data.LL3.Text
LL3.Value = ™V

SheetZ.Range ("v" & (row)).Value = data.PI3.Text
PI3.Value = ""

Sheet2.Range ("w" & (row)).Value = data.PT3.Text
PT3.Value = ""

Sheet2 .Range ("x" & (row)).Value = data.M3.Text
M3.Value = "

Sheet2.Range ("y" & (row)).Value = data.03.Text
03.Value = "

Sheet2.Ranga("ah" & (row)).Value = data.P3.Text
P3.Value = ""

Sheet2.Range ("ac" & (row)).Value = data.MD3.Text
MD3.Value = "V

Sheet?.Range ("ad" & (row)).Value = data.MO3.Text
MO3.Value = ""

Sheet2.Range ("ae" & (row)).Value = data.U3.Text
u3.Vvalue = "%
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SheetZ.Range ("af" & (row)).Value = data.U03.Text
ug3.value = ""

SheetZ.Range ("ag" & (row)).Value = data.MPI3.Text
MPI3.Value = "V

Sheet2.Range ("ah"” & (row)).Value
Y3.Valua = ""

c3.Valus = "%

di.Value = """

data.Y3.Text

End If

End If

End Sub

Brivate Sub EDITFLYASHA ()

If dd.Value = True Then
Sheet2.Range ("w3").Value = data.cd.Text
row = Sheet?.Range ("w3")

If H4,Value <> "" And MM4.Value <> "" And NGI4.Value <> "" And P4.Value <> "" And MD4.Value <
“* And MO4.Value <> "" And U4.Value <> "' fnd UO4.Value <> "" And MPI4.Yalue <> "" And Y4.Value <> "" Then
Sheet2.Range("s" & (row)).Value = data.MMi.Text
MM4 . Value = "
SheetZ.Range("r" & (row)).Value = data.Hd.Text
H4.Value = ""
Sheet2.Range("t" & (row)).Value = data.NGl4.Text
NGI4.Value = """
Sheet2.Range ("u" & (row)).Value = data.LL4.Text
LL4.value = "*
Sheet2.Range("v" & (row)).Value ~ data.PI4.Text
PI4.value = "
Sheet2.Range ("w" & (row)).Value = data.PT4.Text
PT4.Value = ""
Sheet2 . Range ("x" & (row)).Value = data.M4.Text
M4.Value = "
Sheet2.Range("y" & (row)).Value = data.04,Text
04.Value = "¢
Sheet2.Range ("ab" & (row)).Value = data.P4.Text
P4.Value = "
Sheet2.Range("ac" & (row)).Value = data.MD4.Text
HD4.Value = "v
Sheet2.Range("ad" & (row)).Value = data.MO4.Text
MO4.Value = "
Sheet2.Range ("ae" & (row)).Value = data.Ud.Text
U4.value = *n
Sheet2 . Range ("af" & (row)).Value = data.Uo4.Text
Uo4.value = "»
Sheet2.Range("ag" & (row)).Value = data.MPI4.Text
MPI4.Value = ""
Sheat2.Range (*ah" & (row)).Value = data.¥4,Text
Y4.Value = "»
cd4.Value = "
di.Value = v
End If
End 1f
End Sub
Private Sub EDITFLYASHS () Y e b
If d5.Value = True Then
Sheet2.Range ("v3") ,value = data.cH.Text
row = Sheet2.Range("w3")

IE H5.¥alue <> "" And MM5.Value <> "™ And NGIS.Value <> "" And P5.Value <> "" And MD5.Value <>
"M And MOS5.Value <> "" And U5.Value <> "" And UOS5,.Value <> "" Apnd MPIS5.Value <> "" And ¥Y5.Value <> "" Then

Sheet? . Range ("s" & (row)).Value = data.MM5.Text
MM3.Value = ""

Sheet2.Range("r" & (row)).Value = data.HS5.Text
HS.Value = ""

Sheet2.Range("t" & (row)).Value = data.NGI5.Text
NGIS.Value = "%

SheetZ.Range ("u" & (row)).Value = data.LL5.Text
LL5.Value = ""

Sheet?.Range ("v" & (row)).Value = data.PI%.Text
PIS.Value = ""

Sheet?.Range ("w" & (row)).Value = data.PT5.Text
Pr5.Value = """

Sheet?.Range ("x" & (row)).Value = data.M5.Text
M5.Valug = ""

Sheet2.Range ("y" & (row)).Value = data.05.Text
05.Value = "*
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Sheet?.Range("ab" & (row)).Value = data.P5.Text
P5.Value = "
Sheet?.Ranga("ac" & (row)).Value = data.MD5.Text
MD5.Value = ""
Sheet2.Range ("ad" & (row)).Value = data.MO5.Text
MO5.Value = "V
Sheet2.Range("ae" & (row)).Value = data.US.Text
U5.Valug = "»
Sheet2.Range ("af" & (row)).Value = data.U05,Text
U05.Value = """
Sheet2.Range("ag" & (row)).Value = data.MPI5.Text
MPIS.Value = ""
Sheet2.Range("ah" & (row)).Value = data.¥5.Text
¥Y5.Value = """
ci.Value = ""

_ d5.Value = ""

End If

End 1f

End Sub

Private Sub EDITFLYASH6 () ) . 7 =

If dé.Value = True Then

Sheet2.Range ("v3") .Value = data.c6.Text
row = Sheet?,Range ("w3")

_ If H6.Value <> "™ And MM6.Value <> "" And NGI6.Value <> "" And P6.Value <> "" And MDE.Value <>
"" And MO6.Value <> "" And U6.Value <> """ And UO6.Value <> "" And MPI6.Value <> "" And Y6.Value <> " Then

Sheet2.Range ("s" & (row)).Value = data.MME.Text
MM6 . Value = ""
Sheet?.Range ("r" & (row)).Value = data.H6.Text
H6,Value = "
Sheet?.Range("t" & (row}).Value = data.NGI6,Text
NGI6.Value = "
Sheet2.Range ("u" & (row)).Value = data.LL6.Text
LL6.Value = "W
Sheet2 ,Range ("v" & (row)).Value = data.PIf,Text
PI6.Value = ""
Sheet2.Range ("w" & (row)).Value = data.PT6.Text
Pr6.vValue = "
Sheet?.Range ("#" & (row)).Value = data.M6.Text
M6.Value = "
Sheet?.Range ("y" & (row)).Value = data.06.Text
06.Valuye = "»
Sheer?.Range ("ab" & (row)).Value = data.P6.Text
Po.Value = "»
Sheet?,Range ("ac" & (row)).Value = data.MD6,Text
MD6.Value = ""
SHeet2 .Range{"ad" & (row)).Value = data.MO6,Text
MO6.Value = "¢
Sheet2 . Range ("ae" & (row)).Value = data.U6.Text
Ue.value = "*
Sheet? . Range("at" & (row)).Value = data.U06.Text
U06.Value = ""
Sheet2.Range ("ag" & (row)).Value = data.MPI6.Text
MPI6.Value = ""
Sheet2.Range("ah" & (row)).Value = data,Y6.Text
Y6.Value = ""
cb.Value = ""
dé.valug = ""

End If

End If

End Sub

Private Sub EDITFLYASHT() Y " B i ]

I1f d7.Value = True Then
Sheet2.Range ("v3") .Value = data.c’.Text
row = Sheet?.Range("w3")

If HY7.Value <> "" And MM7.Value <> “" And NGI7.Value <> "" And P7.Value <> "" And MD7.Value <> ""
And MO7.Value <> “" And U7.Value <> "" And UOT.Value <> "" And MPIV7.Value <> "" And Y7.Value <> "" Than

Sheet2.Range ("s" & (row)).Value = data.MM7.Text
MM7.Value = "

Sheet2.Range("r" & (row)).Value = data.H7.Text
H7.Value = "¢

Sheet2.Range("t" & (row)).Value = data.NGI7,Text
NGIT.Value = """

Sheet2.Range ("u" & (row)).Value = data.LL7.Text
LL7.Value = "

Sheet2 . Range ("v" & (row)).Value = data.PI7.Text
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PIT.Valyg = ""
Sheet? .Range("w" & (row)).Value = data.PT7.Text
PTT.Value = ""
Sheet? . Range("x" & (row)).Value = data.M7.Text
M1.Valug = ""
Sheet?.Range("y" & (row)).value = data.07.Text
0'1 = va -LI}E -
Sheet?.Range ("ab" & (row)).value = data.P7.Text
B7.value = "™
Sheet?.Range("ac" & (row)).vValue = data.MD7.Text
MD7.Valua = "7
Sheet2.Range ("ad"” & (row)).Value = data.MO7.Text
MO7.valua = "7
Sheet2.Range("ae" & (row}).Value = data.U7.Text
U7.Value = ""
Sheec?.Range ("af" & (row)).Value = dava.u07.Text
UQ7.value = "
Sheet?.Range ("ag" & (row)).Value = data.MPI7.Text
MPI7.Value = ""
SheetZ.Range("ah" & (row)).Value = data.Y7.Text
¥7T.Value = ""
cT.Value = ""
d7.Value = ""

End If

Fnd If

End Sub

Private Sub EDITFLYASH8()

If d8.Value = True Then
Sheet2.Range("v3").Value = data.ec8.Text
row = Sheet2.Range ("w3")

1f HB.Value <> "" And MMB.Value <> "" And NGIB.Value <> "" And PB.Value <> "" And MDB.Value <>
"woand MOB.Value <> "" And UB.Value <> "" And UGS.Value <> "" And MPI8.Value <> ™" And Y8.Value <> "" Then

Sheet2.Range("s" & (row)).Value = data.MMB.Text
MM8.Value = ""
Sheet2.Range("r" & (row)).Value = data.HB.Text
HB.Value = """
Sheet2.Range ("t" & (row)).value
NGI8.Valug = """
Sheet2,Bange ("u" & (row)).Value = data.LL8.Text
LLB.Value = ""
Sheet2,Range("v" & (row)).Value = data.PI8.Text
PI8.Value = "
Sheet2.Range ("w" & (row)).Value -« data.PT8,Text
PT8.Value = "V
Sheet2.Range("x" & (row)).Value = data.MB.Text
M8, Value = "
Sheet2 .Range ("y" & (row)).Value = data.0B8.Text
08.Value = “"
Sheet2.Range ("ab" & (row)).Value = data.P8.Text
PB.Value = ""
Sheet2.Range ("ac™ & (row)).Value = data.MDB.Text
MD8.Value = "
Sheet2.Range ("ad" & (row)).Value = data.MOB.Text
MOB.Value = """
Sheet2.Range ("ae" & (row)).Value = data.UB8,Text
ug.value = "
Sheet2,.Range (“af" & (row)).Value = data,.UOS8.Text
U0B . Valua = ",
Sheet2.Range ("ag" & (row)).Value = data.MPIB.Text
MPI8.Value = "*
Sheet2.Range ("ah" & (row)).Value = data,YB.Text
Y8.Value = ""
c8.Value = ""
dd.valoe = ""

data.NGIB.Text

End If
End If
End Sub
Private Sub EDITFLYASHY9()
1f d9.Value = True Then
Sheet2.Range ("v3") .Value = data.c2.Text
row = Sheet?.Range ("w3")

1f H9.Value <> "" And MM%.Value <> "" And NGI9:Value <> "" And P9.Value <> "" Apd MD9,Value <>
"*oand MO9.Value <> " And U9.Value <> "' And U09.Value <> "" And MPI9.Value <> "" And Y9.Value <> "" Then

Sheet?.Range ("s" & (row)).Value = data.MM9.Text
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MM3.Value = ""

Sheet2.Range("r" & (row)).Value = data.H9.Text
H9.Value = ""

SheetZ.Range ("t" & (row)).Value = data.NGI9.Text
NGI9.Value = "

Sheet?.Range ("u" & (row)).Value = data.LL9.Text
LL9.Value = ""

Sheet2.Range ("v" & (row)).Value = data.PI9.Text
PI9.Value = “"

Sheet?.Range ("w" & (row)).Valus = data.P1%.Text
er9.value = ""

Sheet2.Ranga{"x" & (row)).Value = data.M9.Text
M3.Value = "

Sheet2.Range("y" & (row)).Value - data.09.Text
09.value = """

Sheet2,Range ("ab" & (row)).Value = data.P9,Text
P9.Value = "*

Sheet2.Range("ac" & (row)).Value = data.MD9.Text
MD9.Value = "

Sheet2.Range("ad" & (row)).Value = data.MO9%.Text
MO9.Value = ""

Sheet2.Range(“ae” & (row)).Value = data.U9.Text
ug.value = "

Sheet2.Range ("af" & (row)).Value = data.U09.Text
Uo9.Value = "¢

Sheet2.Range ("ag" & (row)).Value = data.MPI9.Text
MPI9.Value = "
Sheet2.Range ("ah" & (row)).Value = data.Y9.Text
Y9.Valuye = "

c9.Valye = "

d9.Value = "%

End If
End If
End Sub
Private Sub EDITFLYASH1O() '~ = =° - X =
1f dl0.Value = True Then
Sheet2,Range ("v3") .Value = data.cl0.Text
row = Sheet2.Range("w3")
If H10.Value <> "" And MM10.Value <> " And NGI1O0.Value <> "" And Pl0.Value <> "" And MD10.Value <>
" And MO10.Value <> "" And U10.Value <> "" And UO10.Value <> "" And MPI10.Value <> "¥ And Y10,Value <> "" Then

Sheet2.Range("s" & (row)).Value = data.MM10.Text
MM10.Valye = "»

Sheet2.Range ("r" & (row)).Value = data.H10,Text
H10.vValue = ""
Sheet2.Ranga ("¢"
NGI10.Value
Sheet2,Range ("
LL10.Value = "»

Sheet2 Range("v" & (row)).Value = data.PI10,Text
PIl0.value = "»

Sheet? Range("w" & (row)).Value = data,PT1l0.Text
PT10.Value = "%

Sheet2 . Range ("x" & (row)).Value = data.M10.Text
M10.Value = ""

Sheet2.Ranga("y" & (row)).Value = data.01l0.Text
0l0.value = ""

Sheet2.Range ("ab" & (row)).Value = data.Pl0.Text
P10.Value = ""

Sheet2,Ranyge ("ac" & (row)).vValue = data.MD10.Text
MPl0.Value = """

Sheet?.Range ("ad" & (row)).Value = data.MO10:Text
MO10.Value = "V

Sheet?.Range ("ae" & (row)).Value = data.Ul0.Text
U10.value = "

SheetZ.Range ("at" & (row)).Value = dava.UQgl0.Text
Uoid.value = """

Sheet2.Range ("ag" & (row)).Value = data.MPT10.Text
MPI10.Value = "

Sheet2.Range ("ah" & (row)).vValue = data.Y10.Text
¥10.value = "»

cl0.Valuye = ""

dl0.Value = ""

& (row)).value = data,NGI1U.Text

& (row)).Value = data.LLL1(, Text

End If
End If
End Sub
Private Sub EDITCKDL () .
If dl.Value = True Then
Sheet6.Range (“v3") ,Value = data.cl.Text
row = Sheet6.Range("w3d")
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If Hl.Value <> "" And MM1.Value <> "" And NGI1l.Value <> "" And Pl.Value <> "" And MDl.Value <> ""
“And MO1.Value <> "" And Ul.Value <> "" And UOl.Value <> "" And MPIl.Value <> "" And Y1.Value <> "" Then

Sheer6.Range("s" & (row)).Value = data.MMl.Text
MM1l.Value = ""
Sheet6.Range ("r" & (row)).Value = data.Hl.Text
Hl.Valpe = ""
Sheeté.Range ("t" & (row)).Value = data.NGI1.Text
NGI1.Value = "%
Sheet6.Range ("u" & (row)).Value = data.LLl.Text
LLl.Value = "%
Sheet6.Range("v" & (row)).Value = data.PIl.Text
PIl.Value = ""
Sheetb.Range ("w" & (row)).Value = data.PTl.Text
PTl.Value = ™"
Sheet6.Range ("x" & (row)].Value = data.Ml.Text
Ml.Value = ""
Sheaet6.Range("y" & (row)).Value = data.O0l.Text
0l.Value = "™
Sheeth.Range ("ab" & (row)).Value = data.Pl.Text
Pl.Value = "*
Sheet6.Range("ac" & (row)).Value = data.MDl.Text
MDl.Value = "®
Sheet6.Range (“ad" & (row)).Value = data.MOl.Text
MOl.Value = ""
Sheet6.Range ("ae" & (row)).Value = data.Ul.Text
Ul.Value = ""
Sheet6.Range ("af" & (row)).Value = data.U0Ll.Text
Uol.value = "" )
Sheet6.Range ("ag" & (row)).Value = data.MPI].Text
MPIl.Value = "¢
Sheet6,Range("ah" & (row)).Value = data.¥Yl.Text
¥Yl.Value = ""
cl.Valug = "M
dl.Value = "»
End If
End If
End Sub
Private Sub EDITCKD2({) T 5T
I1f d2.¥alue = True Then
Sheeth.Range ("v3") .Value = data.c2,.Text
row = Sheet6.Range("w3")

) If H2.Value <> "" And MM2.Value <> "" And NGI2.Value <> “" And P2.Value <> "" And MD2.Value <> ""
And MD2.Value <> "" And U2, ,Value <> "" And UO2.Value <> "" And MPI2.Value <> "" And Y2.Value <> "" Then

Sheetb.Range ("s" & (row)).Value = data.MM2,Text
MMZ.Value = """

Sheet6.Range ("r" & (row)).Value = data.H2.Text
H2.Value = "»

Sheet6.Range ("t" & (row)).Value = data.NGIZ,Text
NGI2.Value = "

Sheet6.Range ("u" & (row)) ., Value = data,LLZ,Text
LLZ,.Valug = ""

Sheet6.Range ("v" & (row)) .Value = data.PI2.Text
PI2.Value = .M"

Sheet6.Range ("w" & (row)) .Value = data.PT2. Text
PT2.Value = ""

Sheet6.Ranga("x" & (row)).Value = data.M2.Text
M2.Value = ""

Sheet6.Range ("y™ & (row)).Value = data.02.Text
02.value = "M

Sheet6.Range ("ab" & (row)).Value = data.P2.Text
P2.Value = ""

Sheet&.Range("ac" & (row)).Value = data.MDZ2.Text
MD2.Value = "V

Sheet6.Range ("ad” & (row)).Value = data.MO2.Text
MOZ.Value = "V

Sheeté.Range ("ae" & (row)).Value = data.UZ.Text
U2.value = ""

Sheeté.Range ("af" & (row)).Value = data.U02.Text
uo2.value = "%

Sheetf.Range("ag"” & (row)).Value = data.MPIZ.Text
MPIZ2.Value = "*

Sheet6.Range ("an" & (row)).Value = data.¥Y2.Text
Y2.Value = "%

c2.Value = ""
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d2.Value = ""

End 1f
End 1f
End Sub
Private Sub ERITCKD3 () e :
If d3.Value = Trus The
Shest6.Range ("v3") .Value = data.c3.Text
row = Sheet2.Range ("w3")

If #H3.Value <> "" And MM3.Value <> "" And NGI3.Value <> "" And F3.Value <> "" And MD3.Value <>
""" And MD3.Value <> "" And U3.Value <> "" And UO3.Value <> "" And MPI3.Value <> "" And Y3.Value <> "" Then

Sheetf.Range ("s" & (row)).Value = data.MM3.Text
MM3.Value = ""

Sheeté.Range ("r" & (row)).Value = data.H3.Text
Hi.vValue = "*

Sheet6.Range("t" & (row)).Value = data.NGI3.Text
NGI3.Value = ""

Sheet6.Range("u" & (row)).Value = data.LL3.Text
LL3.Value = ™"

Sheeté.Range("v" & (row)).Value = data.PI3.Text
PI3.value = "*

Sheet6.Range ("w" & (row)).Value = data.PT3.Text
PT3.valug - "*

Sheeto.Range ("x" & (row)).Value = data.M3.Text
M3.Value = "

Sheet6.Range ("y" & (row)).Value = data.03.Text
93.Value = ""

Sheet6.Range ("ab" & (row)).Value = data.P3.Text
P3.Valus = “"

Sheet6.Range ("ac" & (row)).Value = data.MD3.Text
MP3.Value = "*

Sheeté.Range ("ad" & (row)).Value = data.MO3.Text
MC3.Valye = ""

Sheet6.Range ("ae" & (row)).Value = data.U3.Text
U3.Value = "»

Sheet6.Range ("af" & (row)).Value = data.U03.Text
Uo3.Value =

Sheet6.Range("ag" & (row)).Value = data.MPI3.Text
MPI3.Value = "

Sheet6.Range("ah" & (row)).Value = data.¥3.Text
¥3.valye = "0

e3.Value = "

d3.Value = “»

End If
End If
End Sub
Private Sub EDITCKD4() ° -
1f d4.Value = True Then
Sheet6.Range ("v3") .Value = data.cd.Text
roW = Sheet6.Range ("w3")

1f H4.Value <> "" And MM4.Value <> "" And NGI4.Value <> "" And P4.Value <> "" And MD4.Value <>
" And MO4.Value <> "" And U4.Value <> "" And UO4.Value <> "" And MPI4.Value <> "" And ¥4.Value <> ™" Then

Sheet6.Range ("s" & (row)) .Value = data.MMd, Text
MMA, Value = ¢

Sheet6.Range ("t" & (row)).Value = data.Hd.Taxt
H4.Values = "¥

Sheet6.Range ("t" & (row)).Valua = data.NGIA.Text
NGI4.Value = ""

Sheet6.Range("u" & (row)).Value = data.LLd.Text
LLA.Value = "

Sheet6.Range ("v" & (row)).Value = data.PId4.Text
PI4.Value = ""

Sheet6.Range ("w" & (row)).Value = data.PT4.Text
PT4.Value = ""

Sheet6.Range ("x" & (row)).Value = data.Md.Text
M4.Value = "

Sheet6.Range ("y" & (row)).Value = data.04.Text
04.Value = "

Sheeté.Range ("ab" & (row)).Value = data.Pdi.Text
P4.Value = "

Sheet6.Range("ac" & (rowl).Value = data.MDA.Text
MDA . Valpe = "

Shesté.Range ("ad" & (row)).Value = data.MOA.Text
MO4.Value = "¢
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Sheet6.Range("ae" & (row)).Value = data,Ud,Text
Ud.Value = ""
Sheet6.Range(“af" & (row)).Value = data,U04.Text
UQ4 . Valye = "v
Sheet6.Range(“ag" & (row)).Value = data.MPI4.Text
MPI4.Value = "®
Sheetd.Range ("ah" & (row)).Value = data.¥d.Text
Y4.Value = ""
c4.Value = "
d4.Value = "

End If

End If

End Sub

Private Sub EDITCKDS()

If d5.Value = True Then
Sheeth.Range ("v3") .Value » data.c5.Text
row = Sheeté.Range ("w3")

If H5.Value <> " And MM5.Value <> " And NGI5.Value <> “" And P5.Value <> "" And MD5.VYalue <>
"“ And MO5.Value <> "" And U5.Value <> "" And U05.Value <> "" And MPI5.Value <> "" And Y5.Value <> "" Then

Sheetf.Range("s" & (row)).Value = data.MM5.Text
MM5.Value = "»
Sheetf.Range ("r" & (row)).Value = data.HS5.Text
HS.Value = v
Sheet6.Range ("t" & (row)).VYalue = data.NGI5.Text
NGIS.Value = "»
Sheeté.Range ("u"™ & (row)).Value = data.LL5.Text
LLS,Value = "
Shesté.Range ("v" & (row)).Value = data.PI5.Text
PI5,Value = "%
Sheetf.Range ("w" & (row)).Value = data.PT5,Text
PT5,Value = """
Sheet6.Range ("x" & (row)).Value = data.M5,Text
M5.Value = "
Sheats.Range ("y" & (row)).Value = data.05.Text
05.value = "»
Shest6.Range ("ab" & (row)).Value = data.P5.Text
P5.Value = W¥
Sheat6.Range ("ac" & (row)).Value = data.MD5.Text
MD5.Value = ""
Sheet6.Range ("ad" & (row)).Value = data.MO5.Text
MOS.Valua = "
Sheeté.Range ("ae" & (row)).Value = data.U5.Text
US.Value = ""
Sheet6.Range ("af" & (row)).Value = data.U05.Text
U05.value = ""
Sheet6.Range {"ag" & (row)).Value = data.MPI5.Text
MPIS.Value = "%
Sheet6.Range ("ah" & (row)).Value = data.¥5.Text
¥5.Value = ""
e5.Value = ""
d5.Value = "

End If

End If

End Sub

Brivate Sub EDITCKDG ()

1£ dé.Value = True Then
Sheeté.Range ("v3").Value = data.ct.Text
row = Sheetf.Range ("w3")

If H6.Value <> “" And MM6.Value <> "" And NGI6.Value <> "" And P6.Value <> "" And MD6;Value <>
" And MO6.Value <> "" And Ue.Value <> "" And U06.Value <> "" And MPI&.Value <> "" And ¥6.Value <> "" Then

Sheet6.Range("s" & (row)).Value = data.MM6.Text

MM6.Value = "* i

Sheet6.Range("t" & (row)).Value = data.H6.Text

H6.Value = "*

Sheet6.Range ("t" & (row)).Value = data.NGI6.Text

NGI6.Value = ""

Sheeté.Range ("u" & (row)).Value = data.LL6.Text

LL6.Valug = "

Sheet6.Range ("v" & (row)).Value = data.PI6,Text

PI6.Valug = "*

Sheetb.Range ("w" & (row)).Value = data.PT6.Text

PT6.Value = "*

Sheet6.Range ("%" & (row)).Value « data.M6.Text

M6.Value = "
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Sheet6.Range ("y" & (row)).Value = data.06.Text
06.Value = "» _
Sheet6.Range("ab" & (row)).VYalue = data.P6.Text
P6.Value = "»
Sheeté.Range("ac" & (row)).Value = data.MD6.Text
MD6. Value = "
Sheet6.Range ("ad" & (row)).Value = data,MO6.Text
MO6.Value = "¢
Sheerd.Range ("ae" & (row)).Value = data.U6.Text
U6.Value = "»
Sheets.Range ("af" & (row)).Value = data.UOG.Text
UQE.Value = "»
Sheet6.Range ("ag" & (row)).Value = data.MPI6.Text
MPI6.Value = v
Sheetf.Range{"ah" & (row)).Value = data.Y6.Text
Y6.Value = "»
ch.Value = "
df. Value = "»

End If

End If

End Sub

Private Sub EDITCKDT()

If d7.Value = True Then
Sheet6.Range ("v3") ,Value = data.c?.Text
row = Sheeté.Range ("w3")

If H7.value <> "' And MM7,Value <> "" And NGI7.Value <> "" And P7.Value <> "" And MD?7.Value <> "*
And MOT.Value <> "™ And U7.Value <> "" And UD7,.Value <> "" And MPI7.Value <> "" And Y7.Value <> "" Then

Sheeté.Range ("s" & (row)).Value = data.MM7,Text
MM7 . Value = "n

Sheets, Range ("r" & (row)).Value = data.H7.Text
H7.value = v

Sheeté . Range ("t" & (row)).Value = data,NG17.Text
NGI7.Value = "%

Sheest6.Range ("u" & (row)).value = data.LL7.Text
LL7.Value = "

Sheet6.Range ("v" & (row)).Value = data.P17.Text
PI7.Valug = ""

Sheet6.Range ("w" & (row)).Value = data.PT7.Text
PT7.Value = "

Sheet6.Range ("x" & (row)).Value = data.M7.Text
M7.Value = "*

Sheet6.Range ("y" & (row)).Value = data.0?,Text
07.Value = "

Sheet6.Range ("ab" & (row)).Value = data,.P7,Text
P7.Valug = ""

Shest6.Range ("ac" & {row)).Value = data.MD7.Text
MB7.Value = "

Sheet6.Range ("ad" & (row)).Value = data.MOT7.Text
MO7.Valug = "

Sheet6.Range ("ae" & (row)).Value = data.U7.Text
U7.value = "

Sheet6.Range ("af" & (row)).Value = data.UO7.Text
Uo7 . value = """

Sheet.Range ("ag" & (row)).Value = data.MPIT.Text
MPI7.Value = ""

‘Sheet6.Range ("ah" & (row)).Value = data.¥7.Text
¥1.Value = "*

c7.Value = ""

d?.Value = "*

End If
End If
End -Sub
Private Sub EDITCKDE () v S -
If d8.Value = True Then
Sheeté.Range ("v3") .Value = data.c8.Text
row = Sheeté.Range("w3i")

_ If H8.Value <> ™" And MM8.Value <> "" And NGIB.Value <> "" And P8.Value <> "" And MD8.Value <>
"% And MOB.Value <> "™ And UB.Value <> "" And UOB.Value <> "" And MPIB.Value <> "" And YB.Value <> """ Then

Sheeté.Range ("s" & (row)).Value = data MM8.Text
MM8 . Value = "»

Sheet6.Range ("r" & (row)).Value = data.HB8.Tlext
HB . Valuye = nv

Sheet6,Range ("t" & (row)).Value = data.NG18.Text
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NGIB.Value = "*

Sheet6.Range("u" & (row)).VYalue = data.LLB.Text
LLB.Valug = "»

Sheetd.Range ("v" & (row)).Value = data.PIB.Text
PI8.Valup = "*

Sheeté,.Range ("w" & (row)) .Value = data.PTB.Text
PT8.Value = """

Sheeté.Range ("x" & (row)).Value = data.M8.Text
MB.Value = "™

Sheet6.Range ("y" & (row)).Value = data.08.Text
08.Value = "

Sheet6.Range ("ab" & (row)).Value = data.PB,.Text
P8.Value = "

Sheetf.Range ("ac" & (row)).Value = data.MiB.Text
MDB.Value = "*

Sheet6,Range ("ad" & (row)).Value = data.MOB.Text
MOB.Value = ¢

Sheet6,Range ("ae" & (row))}.Value = data.U8,Text
Ug.vValue = "*

Sheet6.Range ("af" & (row)).Value = data.U08.Text
ugs.value = "

Sheet6.Range{"ag" & (row)).Value = data,MPIB.Text
MPIB.Value = "

Sheeté.Range ("ah" & (row)).Value = data.¥8.Text
YB.value = "

cB.value = "

dB.Value = ""

End If
End If
End Sub
Private Sub ERITCKD9() - - : - E=TER=
If d9.value = True ‘Then
Sheetd, Range ("v3") ,Value = data.c9,Text
row = Sheetf.Range ("w3")

If H9.Value <> " And MM9.Value <> "' And NGI9, Value <> "' And P9.Value <> " And MD9.Value <>
"M And MO9.Value <> "" And U9.Value <> "% And U09.Value <> " And MPI9.Value <> " And ¥9.Value <> "" Then

Sheet6.Range ("s" & (row)).Value = data.MM9.Text
MM9.Value = ""

Sheet6.Range ("t" & (row)).Value = data,H9.Text
HI.Value = ""

Sheet6.Range ("t" & (row)).Value = data.NGI2.Text
NGI9.Value = ""

Sheetf.Range ("u" & (row)).Value = data.LL9.Text
LL9.Value = ""

Sheet6.Range ("v" & (row)).Value = data.PI9.Text
PI9.Value = "7

Sheet6.Range ("w" & (row)).Value = data.PT8.Text
PT9.Value = "V

Sheer6.Range ("x" & (row)).Value = data.M9.Text
M9.Value = ""

Sheet6.Range ("y" & (row)).Value = data.09.Text
09.Value = ""

Sheet6.Range ("ab" & (row)).Value = data.P%.Text
P9.Value = "

Sheet6.Range ("ac" & (row)).Value = data.MDS.Text
MD9,Value = ""

‘Sheet6.Range ("ad" & (row)).Value = data.MO9.Text
MO%.Value = ""

Sheet6.Range ("ae" & (row)).Value = data.U9.Text
u9.value = "

Sheet6.Range ("af" & (row)).Value = data.Uo9.Text
Uo9%.value = "

Sheet6.Range ("ag"” & (row)).Value = data.MPI9,Text
MPI9.Valug = "»

Sheeté.Range ("ah" & (row)).Value = data.Y9.Text
Y9.Value = "»

c9.Value = ""
d9.Valye = ""
End If
End Lf
End Sub

Private Sub ERITCKD1O() e ) )
If dl0,Value = True Then
Sheetb.Range ("v3") .Value = data.cl0.Text
row = Sheet6.Range ("w3")
If HI0.Value <> “" And MM10.Value <> "" And NGI10.Value <> "* And P10.Value <> "" and HDIO.V&lug <>
unoAnd MO10.Value <> "" And Ul10.Value <> "" And UD10.Value <> "" And MPI10.Value <> "" And Y10.Yalue <> "" Then
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Sheet6.Ranga("s" & (row)).Value = data.MM10.Text
MMIO.Value = "0
Sheetf.Range("r" & (row)).Value = data.H10.Text
H10.Value = ""
Shest6.Range ("t" & (row)).Value = data.NGI10.Text
NGI10.Value = "%
Shestf.Range ("u" & (row)).value = data.LL10.Text
LLl0.Value = "M
Sheet6.Range ("v" & (row)).Value = data.PI10.Text
PI1lC.Value = "V
Sheet6.Range ("w" & (row)).Value = data.PT10.Text
PT10.Value = ""
Sheeth.Range ("x" & (row)).Value = data.M1(.Text
M10.Value = ""
Sheetb.Range ("y" & (row)).Value = data.01l0.Text
010.Value = ""
Sheet6.Range{"ab" & (row)).Value = data.Fl10.Text
Pl0.Value = ""
Sheet6.Range("ac" & (row)).Value = data.MD10.Text
MplQ.value = """
Sheet6.Range ("ad" & (row)).Value = data.MO10.Text
MOl0.Value = ""
Sheet6.Range("ae" &k (row)).Value = data.Ul0.Text
UlD.value = "*
Sheet6.Range ("af" & (row)).Value = data.U010.Text
voll.value = "
Sheeté.Range("ag" & (row)).Value = data.MPI10.Text
MPI10.Value = *"
Sheet6.Range ("ah" & (row)).Value = data.Y10,Text
Y10.Value = ""
cl0.Value = ""
dlg.vValue = "

End If

End If

End Sub

Private Sub EDITLIME] () N 3

1f dl.vValue = True Then
Sheet3.Range("v3").Value = data.cl.,Text
row = Sheetl.Range("w3i")

1f Hl.Value <> "% And MM1.Value <> """ And NGI1.Value <> "* And Pl.Value <> "* And MD1.Value <> ""
And: MOl.Value <> "' And Ul.Value <> "" And MPil.Value <> "" And ¥1.Value <> "" Then

Sheet3.Range ("s" & (row)).Value = data.MMl.Text
MM1.Value = "
Sheet3,Range ("r" & (row)).Value = data.Hl.Text
Hl.Valuye = m¢
Sheet3.Range ("t" & (row)).Value = data.NGIl.Text
NGIl.value = "¢
Sheet3.Range ("u" & (row)).Value =« data.LLl.Text
LLl.Valyg = ""
Sheet3,Range ("v" & (row)).Value = dara.PIl,Text
P11.Valus = ""
Sheetd,Range ("w" & (row)).Value = data.PTl,Text
PT1,Valuye = "»
Sheetd, Range ("®" & (row)).Value = data.Ml.Text
Ml.value = "¢
Sheet3.Range("y" & (row)).Value = data.0l.Text
0l.Value = ""
Sheet3.Ratige ("ab" & (row)).Value = data.Pl.Text
Pl.Value = ""
Sheet3.Range ("ac” & (row)).Value = data.MDl.Text
MDl.Value = ""
Sheetd.Range ("ad"” & (row)).value = data.MOl.Text
MOl.Value = "¢
Sheet3.Range ("aa" & (row)).Value = data.Ul.Text
Ul.value = "
Sheet3.Range("af" & (row)).Value = data.U00l.Text
Uol.value = ™"
Sheet3.Range ("ag" & (row)).Value = data.MPIl.Text
MPI1.Value = ""
Sheet3.Range ("anh" & (row)).Value = data.Y¥l.Text
¥1l.Value = ""
cl.Valye = "
dl.Value = ""

End If

End Lf
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End Sub
Private Sub EDITLIME2()
If d2.Value = True Then
Sheet3.Range("v3").Value = data.cZ.Text
row = Sheet3.Range("w3")

If H2.Value <> "" And MMZ.Value <> "" And NGI2.Value <> "" And P2.Value <> "" And MDZ.Value <> "%
And MO2.Value <> "" And UZ.Value <> "" And MPI2.Value <> "" And Y2.Value <> "% Then

Sheet3.Range("s" & (row)).Value = data.MM2.Text
MM2.Value = "7
Sheet3.Range("r" & (row)) .Value = data.H2.Text
HZ.Value = ""
Sheet3.Range ("t" & (row)).Value = data.NGI2.Text
NGIZ2.Value = ""
Sheec3.Range("u" & (row)).Value = data.LL2.Text
LL2.Value = "™
Sheet3.Range ("v" & (row)).Value = data.PIZ.Text
FI2.Value = ""
Sheet3.Range("w" & (row)).Value = data.PT2.Text
PTZ2.Value = ""
Sheet3.Range ("x" & (row)).Value = data.M2.Text
M2.Value = "M
Sheet3.Range("y" & (row)).Value = data.02.Text
02.Value = ""
Sheet3.Range ("ab" & (row)).Value = data.P2.Text
P2.Value = "
Sheet3,Range ("ac" & (row)).Value = data.MD2.Text
MP2.Valye = "™
Sheet3.Range ("ad" & (row)).Value = data.MOZ.Text
MO2.Value = "
Sheet3,Range ("ae" & (row)).Value = data.UZ.Text
U2.value = ""
Sheet3.Range ("af" & (row)).Value = data.U0O2.Text
o2.Valye = ""
Sheet3.Range("ag" & (row)).Value = data.MPI2,Text
MPI2.Valug = "
Sheet3.Range ("ah" & (row)).Value = data.¥2.Text
Y2.Value = *"
c2.Valye = "»
d2.Value = "»

End If

End If

End Sub

Private Sub EDRITLIME3() == o ST = L h FH

If d3.Value = True Then

Sheet3.Range ("v3") .Value = data.c3.Text
row = Sheetd.Range ("w3")

If H3.Value <> "% And MM3.Value <> "™ And NGI3.Value <> "" And P3.Value <> "" And MD3.Value <>
" And MO3.Value <> "" And U3.Value <> "" And ‘MPI3.Value <> "" And ¥3.vValue <> ™" Then

Sheet3.Range ("s" & (row)).Value = data.MM3. Text
MM3 ., Value = "

Sheet3.Range ("r" & (row)).Value = data.H3.Text
H3,Value = "

Sheet3.Range{"t" & (row)) .Value = data.NGI3, Text
NGI3.Value = """

Sheet3.Range ("u" & (row)) .Value = data.LL3.Text
LL3.value = "%

Sheet3.Range ("v" & (row)) .Value = data.Pl3.Text
PI3.Value = ""

Sheet3.Range ("w" & (row)).Value = data.PT3.Text
PT3.Value = ""

Sheet3.Range ("x" & [row)).Value = data.M3.Text
M3.Value = "V

Sheetd.Range ("y" & (row)).Value = data.03.Text
03.Value = ""

Sheetl.Range ("ab" & (row)).Value = data.P3.Text
P3.Value = "V

Sheet3.Range ("ac" & (row)).Value = data.MD3.Text
MD3.Valua = ""

Sheecd,.Range{"ad" & (row)).Value = data.MO3.Text
MO3.Value = ""

Sheet3.Range ("ae" & (row)).Value = data.U3.Textc
U3.value = "*

Sheet3.Range("af" & (row)).Value = data.U03.Text
Uo3.Value = """

Sheet3.Range{"ag" & (row)).Value = data.MPI3.Text
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MPI3.Value = ""
Sheet3.Range("ah" & (row)).Value = data.Y3.Text
¥3.Value = "*
c3/Valuye = "%
d3:Value = "*
End 1f
End If
End Sub
Private Sub ERITLIMEA4 () 3
If dd4.Value = True Then
Sheet3.Range ("v3") .Value = data.cd.Text
row = Sheet3.Range ("w3")

If H4.Value <> "" And MM4.Value <> “" And NGI4.Value <> "" And P4.Value <> "" And MD4.Value <>
" oAnd MO4.Value <> "" And U4d.Value <> “" And MPI4.Value <> "* And Y4.Value <> "" Then

Sheet3.Range ("s" & (row)).Value = data.MM4, Text
MMA , Value = ""
Sheet3.Range ("r" & (row)).Yalue = data.H4.Text
H4.value = "¢
Sheet3.Range ("t" & (row)).Value = data.NGI4.Text
NGI4,.Valua = "
Sheet3d.Range ("u" & (row)) .Value = data.LL4.Text
LL4.Valye = "
Sheet3.Range("v" & {row)).Value = data.PIl4.Text
PI4.Valye = ""
Sheet3.Range ("w" & (row)).Value = data.P?r4.Text
PT4.Value = """
Sheet3,Range ("x" & (row)).Value = data.M4.Text
M4 . Value = "
Sheet3,.Range ("y" & (row]).Value = data.04.Text
04.value = "*
Shegt3.ﬂanget”ab“ & (row)).Value = data.P4.Text
Pi.value = "
Sheet3.Range ("ac" & (row)).Value = data.MD4.Text
MD4.Value = ""
Sheet3.Range ("ad"™ & (row)).Value = data.MO4.Text
MO4.Value = ""
Sheetd.Range ("ae" & (row)).Value = data.Ud.Text
U4.Valug = ""
Sheet3.Range ("af™ & (row)).Value = data,UQ4,Text
Uo4 ,value = "
Sheet3.Range|"ag" & (row)).Value = data.MPIq.Text
MPI4.Value = "
Sheet3.Range (Yah" & (row)).value = data.¥Yd.Text
Y4.Value = "»
cd ,Value = "M
dd.vValua = "
End If
End If
End Sub
Private Sub EDITLIMES() A 3o ) 3l
If d5.Value = True Then
Sheet3.Range ("v3").Value = data.c5.Text
row = Sheetd. Range("w3")

If HS5.value <> "" And MM5.Value <> "" And NGIS.Value <> "" And P5.Value <> "" And MD5.Value <>
" And MOS.Value <> "" And US.Value <> "" And MPIS.Value <> "" And Y5.Value <> "" Then

. 13 =" .
Sheet3.Range ("s" & (row)).Value = data.MM5S.Text
MM5.Value = ""
Sheet3.Range("r" & (row)).Value = data.H5.Text
H5.Value = "V

Sheet3,Range("t" & (row)).Value = data.NGIS5.Text
NGIS.Value = ""

Sheet3.Range ("u" & (row)).Value = data.LL5.Text
LL5:Valug = "»

Sheet3.Range ("v" & (row)).Value = data.PI5.Text
PI5.Value = """

Sheet3.Range ("#" & (row)).Value = data.Pi5.Text
P15.Value = "

Sheet3.Range ("x" & (row)).Value = data.M3.lext
M5.Value = "

Sheet3.Range ("y" & (row)).Value = data.05.Text
a5.Value = “»

Sheet3.Range ("ab" & (row)).Value = data.P5.Text
P5.Value = ""

Sheet3 . Range ("ac" & (row)).Value = data.MDS5.Text
MD5.Value = "»
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Sheet3.Range ("ad" & (row)).Value = data.MO5.Text
MO5.Value = "»
Sheet3.Range ("ae" & (row)).Value = data.Ub.Text
Us.Value = "
Sheetd . Range("af" & (row)).Value = data.U05.Text
Uos5.Value = "*
Sheet3 . Range("ag" & (row)).Value = data.MPI5.Text
MPIS.Value = "*
Sheet3d.Range ("ah" & (row)).Value = data.¥5.Text
YS.Value = “"
cS5.Valug = "0
di.Value = ""
End If
End If
End Sub
Private Sub EDITLIMES() ' : ;
If d6.Value = True Then
Sheet3.Range ("v3i").Value = data.c6.Text
row = Sheet3.Range(“"w3")

If He.Value <> "" And MM6.Value <> "" And NGI6.Value <> "" And P6.Value <> "" And MD6.Value <>
" And MD6.Value <> "" And U6.Value <> "" And MPI6.Value <> "" And Y6.Value <> "" Then
'Sends data to LIME sheet
Sheet3.Range ("s" & {row}).Value = data.MM6.Text
MM6. Value = "" _
Sheet3.Range ("r" & (row)).Value = data.H6.Text
He.Value = “"
Sheet3.Range ("t" & (row)).Value = data.NGIE.Text
NGI6.Value = "»
Sheetd . Range("u" & (row)).Value = data.LL6.Text
LL6.Valye = "»
Sheet3,Range ("v" & (row)).Value = data.Pl6,Text
PI6.Valug = ""
Sheet3 . Range ("w" & (row)).Value = data.PT6.Text
PT6.Valug = "
Sheet3.Range ("x" & (row)).Value = data.MG.Text
MG6.Value = "~
Sheet3.Range ("y" & (row)).Value = data.06.Text
06.value = "
Sheet3.Range ("ab" & (row)).Value = data.P6.Text
PG, Valua = "™
Sheer3.Range ("ac" & (row)).Value = data.MD6.Text
MD6.Value = ""
Sheet3, Range ("ad" & (row)).Value = data.MO6.Text
MO6.Value = "
Sheet3, Range ("ae" & (row)).Value = data.Us,Text
U6 .value = "
Sheet3.Range ("af" & (row)).Value = data.U06.Text
Uo6.value = "*
Sheet3 Range("ag" & (row)).Value = data.MPI6&.Text
MPIG.Value = ""
Sheetd.Ranga("ah" & (row)).Value = data.Y6.Text
Y6.Value = "»
c6.Valye = ""
d6,Value = ""
End If
End If
End Sub
Private Sub EDITLIMEY () 2
1f d7.Value = True Then
Sheetd.Range ("v3") .Value = data.c7.Text
row = Sheet3.Range ("wi")

1f H7.Value <> "" And MM7.Value <> "" And NGIT.Value <> "" And P7.Value <> "" And MD7.Value <> ""
And MOT7.Value <> "" And U7.Value <> "" And MPI7.Value <> "" And ¥7.Value <> " Then

'Sends data to LIME sheet

Sheetd.Range ("s" & (row)).Value = data.MM7.Text
MMT . Value = ""

Sheetd.Range ("r" & (row)).Value = data.H7.Text
H1.Valug = "¢

Sheet3.Range("t" & (row)).Value = data.NGI7.Text
NGIT.Value = ""

Sheet3.Range ("u" & (row)).Value = data.LL7.lext
LLT.Value = "*

Sheet3.Range("v" & (row)).Value = data.PI7.Text
PI7.Value = "

Sheat3.Range("w" & (row)).Value = data.PT7.%Text
PT?.Valua = "»

Sheet3.Range ("2" & (row)).Value = data.M7.Text
M7.Value = "v
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Sheet3.Range("y" & (rowl).Value = data.07.Text
07.Valye = ""
Shest3.Range ("ab" & (row)).Value = data.P7.Text
Pi.Value = ""
Sheetd.Range("ac" & (row)).Value = data.MD7.Text
MD7.Value = "®
Sheet3.Range("ad" & (row)).Value = data.MO7.lText
MO7.Value = ""
Sheetl.Range ("ae" & (row)).Value = data.U7.Text
U7.Value = ""
Sheet3.Range ("af" & (row)).Value = data.U07.Text
U07.Value = “*
Sheet3.Range("ag" & (vow)).Value = data.MPI7.Text
MPI7.Value = "°
Sheet3.Range("ah" & (row)).Value = data.¥Y7.Text
Y1.Valve = "»
ol.Value = ""
d7.Value = "*
End If
End If
End Sub
Private Sub EDITLIMES () ’ = wel
If d8.vValue = True Then
Sheet3.Range ("v3") .Value = data.c8.Text
row = Sheet3.Range ("w3")

If HB.Value <> “" And MMB.Valus <> "" And NGIB.Value <> "“ And PB.Value <> "" And MD8.Value <>
"oAnd MOB.Value <> " And US.Value <> "" And MPI8.Yalue <> "" And Y8.Value <> " Then

Sheet.Range("s" & (row)).Value = data.MMB.Text
MMB.Value = “"
Sheet3.Range("r" & (row)).Value = data.H8,Text
H8.Value = "
Sheet3.Range{"t" & (row)).Value = data.NGIB.Text
NGI8.Valye = "*
Sheet3.Range("u" & (row)).Value = data,LLB.Taxt
LL8.Value = ""
Sheet3.Range ("v" & (row)).Value = data.PIB.Text
PI8.value = ""
Sheet3.Range ("w" & (row)).Value = data.PTB.Text
PT8.Value = "»
Sheet3.Range ("X" & (row)).Value = data.MB.Text
MB,.Valya = "
Sheet3d.Range ("y" & (row)).Value = data.08.Text
08.Valye = "
Sheet3,Range ("ab" & (row)).Value = data.P8,Text
P8.Valye = "»
Sheetd,Range ("ac™ & (row)).Value = data,MD8.Text
MD8,Valug = "
Sheet3.Range (“ad" & (row)).Value = data.MOB.Text
MO8, Value = "
Sheet3.Range ("as" & (row)) .Value = data.UB,Text
Ug.valua = "%
Sheet3.Range ("af" & (row)).Value = data.UOB.Text
Uo8.value = ""
Sheet3.Range ("ag" & (row)).Value = data.MPIB,Text
MPIB.Value = ""
Sheet3.Range ("ah" & (row)).Value = data.Y8.lext
¥8.value = ""
c8.Value = ""
dB.Value = ""
End If
End If
End Sub
Private Sub EDITLIMESY()
1f d%.Value = True Then
Sheet3.Range ("v3i") .Value = data.c9.%ext
row = Sheet3.Range("w3")

1f HI9.value <> "" And MM2.Value <> "" And NGI9.Value <> "" Apnd P9.Value <> "" And MD9.Value <>
"* And MO9.Value <> "M And U9.Value <> "" And MPI%,Value <> “" And Y9.Value <> "" Then

Sheet3.Range("s" & (row)).Value = data.MM9.Text
MM .Valus = "*

Sneet3.Range ("r" & (row)).Value = data.H9.Text
H9.Value = "*

Sheetd.Range("t" & (row)).Value = data.NGID,Text
NGI9.Value = “"

Sheet3.Range ("u" & (row)).Value = data.LL9.Text
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LL9.Valuye = "
Sheet3.Range("v" & (row)).Value = data.Pi9.Text
PI9.Value = "
Sheet3.Range ("w" & {row)).Value = data.pP19.Text
PT9.Value = "
Sheet3.Range ("x" & (row)).Value = data.M9.Taxt
M9.Value = "»
Sheet3.Range("y" & (row)).Value = data.09.Text
09.Value = ""
Sheet3.Range ("ab" & (row)).Value = data.P9.Text
P9.Value = ""
Sheet3.Range("ac" & (row)).Value = data.MD9.Text
MP9.Value = "*
Sheet3.Range ("ad" & (row)).Value = data.M0O9,.Text
MO9.Valug = ""
Sheet3.Range("ae" & (row)).Value = data.U9.Text
U9.Value = "»
Sheet3.Range ("af" & (row)).Value = data.U09.Text
uEa.value = """
Sheetl.Range ("ag" & (row)).Value ~ data.MPI9, Text
MPI9.Value = “"
Sheetl.Range ("ah" & (row)).Value = data.Y3.Text
¥9.Valye = """
¢9.Valuye = w»
d9.valys = "
End If
End If
End Sub
Private Sub EDITLIME10() :
If dl0.Value = True Then
Sheet3.Range ("v3") .Value = data.cl0.Text
row = Sheetld.Range("w3")
If H10.Value <> "" And MM10.Value <> "' And NGI10.Value <> "" And P10.Value <> "" And MD10.Value <>
" And MO10.Value <> " And Ul0.Value <> "" And MPI10.Value <> "" And Y10.Value <> "" Then

Sheet3 . Range("s" & (row)).Value = data.MM10.Text
MM10,.Value = "»

Sheet3.Range ("r" & (row)).Value = data.Hl10,Text
H10.Valuye = "»

Sheet3.Range("t" & (row)).value = data.NGI10,.Text
NGI10.Value = "»

Sheet3.Range ("u" & {row)).vValue = data.LLl10.Text
LL10.Value = ""

Sheet3.Range ("v" & (row)).Value = data.PIl0.Text
PI10.Value = ""

Sheet3.Range ("w" & (row)).Value = data.PT10.Text
PT10.Value = """

Sheetd.Range ("x" & (row)).Value = data.M10,.Text
M10.Value = ""

Sheet3.Range ("y" & (row)).Value = data.010.Text
010.Valug = ""

Sheet3.Range ("ab" & (row)).Value = data.Pl0.Text
P10.Value = ""

Sheet3.Range ("ac" & (row)).Value = data.MD10.Text
Mpid.Value = "

Sheet3.Range ("ad" & (row)).Value = data.MO10.Text
MO10.vValue = ""

Sheet3.Range ("ae" & (row)).Value = data.uUlQ.Text
Ul0.value = ""

Sheet3.Range ("at" & (row)).Value = data.UD10.Text
U010.Value = "

Sheetl.Range ("ag" & (row)).Value = data.MPI10.Text
MP110.Value = "®

Sheet3,Range ("ah"” & (row)).Value = data.¥10.Text
¥10.value = "¢

clf.Valua = "*

dlf.Valua = "*

End If
End If
End Sub
Private Sub editinsert Click() ' = .- ; 3 P GRTING BY NGT's

I1f add.Value <> "FLYASH" And add.Valus <> "CKD" And add.Value <> "LIME" Then
prompt = "Missing Additive Type"
status = MsgBox(prompt, vbOKOnly + vbApplicationModal, “"Error")

Else
If add.Value = "FLYASH" Then
EDTTFLYASH]
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EDITFLYASH2
EDITFLYASH3
EDITELYASHA
EDITFLYASHS
EDITELYASHG
EDITFLYASHT
EDITFLYASHS
EDTTFLYASHS
EDITFLYASH1O0

i !
Sheets ("FLYASH") .Select
Range ("T31").Select
AotiveWorkbook.Worksheets ("FLYASH") .sort.SortFields.Clear

AotiveWorkbook.Worksheets ("FLYASH") .sort.SortFilelds,add Key:=Range("T31"), _

SortOnt=xlSortOnValues, Order:=xlAscending, DataOption:=xiSortNormal
With ActiveWorkbook.Worksheets ("FLYASH").sort

+SetRange Range ("R31:AH1048000")

.Header = xlNo

-MatchCase = False

.Orientation = x1TopToBottom

-SortMethod = x1Pin¥Yin

-Apply

Sheets ("Sheetl") .Select
End With

Else

If add.Valus = "CKP" Then
EDITCKDL
EDITCRDZ
EDITCKD3
EDITCKD4
EDITCHDS
EDITCKDE
EDITCKD?
EDITCKDB
EDITCKDY
EDITCKDL0

Shests ("CXD") .Select
Range ("T31"),Select
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields . add Key:=Range("T31"),

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNermal
With ActiveWorkbook.Worksheats ("CKD"),sort

.SetRange Range ("R31:AH1048000")

.Header = x1No

.MatchCase = False

JOrientation = xlTopToBottom

SortMethod = x1Pin¥Yin

<Apply

Sheets("Sheetl") .Select
End With

Else

1f add.Value = "LIME" Then
Label2l.Visible = False
Uol.Visible = False

ERITLIMEL
EMITLIMEZ
EDITLIME3
EDITLIMEA
EDITLIMES
EDITLIMEG
EDITLIMET?
EDITLIMES
EDITLIMES
EDITLIMELO

i ]
Sheets ("LIME") .Select
Range ("T31").Select
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.add Key:=Range ("T31"),

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("LIME") .sort

.SetRange Range ("R31:AH1048000")

.Header = xlNo

.MatchCase = False

.Orientation = x1TopToBottom

+SortMethed = x1Pin¥in
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SApply
Sheats("Sheetl") .Select
End With

End If
End If
End 1f
End If
End Sub
Private Sub exitmode_Click ()
FORMATVIEWMODE
Sheets ("FLYASH") .Select
Range ("T31") .Select
ActiveWorkbook.Worksheets ("FLYASH") .sort.SortFields.Clear )
ActiveWorkbook.Worksheets ("FLYASH") .sort,SortFields.add Key:=Range ("131"), _
SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("FLYASH") .sort
SetRange Range ("R31:AH1048000")
Header = xiNo
MatchCase = False
Orientation = xlTopToBottom
.SortMethod = xIPin¥in
.Apply
Sheets ("Sheetl").Select
End With

Sheets ("CKD") .Select
Range ("7T31").Select
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.add Keyi=Range ("T31"), _

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=x1SortNormal
With ActiveWorkbook.Worksheets|"CKD").sort

.SetRange Range ("R31:AH1048000")

.Header = xlNo

MatchCase = False

Orientation = x1'loploBottom

SortMethod = x1Pin¥in

-Apply

Sheets ("Sheetl") Select
End With

Sheats ("LIME") ,Select
Range ("T31") .Select
ActiveWorkbook .Worksheets ("LIME") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("LIME") .sort.S5ortFields.add Key:=Range{"T31"), _
SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xiSortNormal
With ActiveWorkbook.Worksheets ("LIME").sort
.SetRange Range ("R31:AH1048000")
.Header = xlNo
.MatchCase = False
.Orientation = x1TopToBottom
“SortMethod = x1Pin¥Yin
-Apply
Sheers {"Sheetl") .Selact
End With
End Sub
Private Sub INSERTFLYASHI () f - e
If Hl.Value <> "" And MMIl.Value <> "" And NGIl.Value <> "" And P1l.Value <> "" And MDl.Value <>
" And MO1l.Value <> "" And Ul.Value <> "" And UOl.Value <> "" And MPI1.Value <> ™" And ¥1.Value <> "" Then
lastrow = Sheet2.Range("r" & Rows.Count).End(xlUp).row
Sheet2.Range ("t29") .Value = lastrow + 1
row = Sheet?.Range ("£23")

Sheet2.Range ("s" & (row)).Value = data.MMl.Text
MM1.Value = "

Sheet2.Range{"r" & (row)}.Value = data.Hl.Text
Hl.Value = "

Sheet2.Range ("t" & (row)).Value = data.NGIL.Text
NGIl.Value = '""

Sheet2 . Range ("u" & (row)).Value = data.LLl.Text
LLl.Value = "*

Sheet2.Range ("v" & (row)).Value = data.PIl.Text
PI1.Value = "

Sheet2.Range ("w" & (row)).Value = data.PTl.Text
PTl.Value = ""

Sheet2,.Range ("x" & (row)).Value = data.Ml.Text
Ml.Value = "%

Sheet2.Range("y" & (row)).Value = data.0l.Text
01.Valye = "»

Sheet2.Range("ab” & (row)).Value = data,Pl.Text
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Pl.Value = "
SheetZ.Range ("ac" & (row)).Value = data.MDI,Text
MDl.Value = ""
SheetZ.Range ("ad" & (row)).Value = data.MOl.Text
MOl.Value = “"
Sheet2.Range ("ae" & (row)).Value = data.Ul.Text
Ul.Value = "*
Sheet2.Range("af" & (row)).Value = data.UOl.Text
Uol.value = “*
Sheet?.Range ("ag" & (row)).Value = data.MPI1.Text
MPIl.Value = "%
SheetZ.Range("ah" & (row)).Value = data.¥l.Text
¥1.Valug = "*
Sheet2.Range(“z" & (row)).Value =
Sheet2.Range("aa24") + 1
cl,Value = "
Sheet2,Range("aa" & (row)).Value = "Flyash"

End 1f
End Sub
Private Sub INSERTELYASHZ () S 3= [ : = 7o
If H2.Value <> "% And MM2.Value <> "" And NGI2.Value <> "% And P2.Value <> "™ And MD2.Value <> "*

And MO2.Value <> "" And U2.Value <> "" And UO2.Value <> "" And MPIZ.Value <> "" And Y2.Value <> "" Then

lastrow = Sheet2.Range("r" &

Rows.Count) .End (x1Up) . row
Sheet2.Range ("t29") .Value = lastrow + 1
row = Sheet2,Range ("t29")

Sheet2.Range ("s" & (row)) .Value = data.MM2.Text

MM2.Value = "M

Sheet?.Range ("r" & (row)).Value = data.H2,Text

H2.Value = "

Sheet?.Range ("t" & (row)).Value = data.NGI2.Taext

NGIZ2.Value = "¢

Sheet2.Range{"u" & (row)).Value = data.LL2.Text

LL2.Valuye = "v

Sheet2,.Range ("v" & (row)).Value = data.PI2.Text

PI2,Valug = "

Sheet2,Range("w" & (row)).Value = data.PT2.Text

PTZ.Value = "

Sheet? .Range ("®" & (row)).Value = data.M2,Text

M2.Value = "

Sheet2 . Range ("y" & (row)).Value = data.02,Textc

02.Value = "*

Sheet2 . Range ("ab" & (row)).Value = data.P2,Text

B2.Value = "%

Sheet2.Range ("ae" & (row)).Value = data.MD2 Text

MD2.Value = "¢

Sheet2.Range ("ad" & (row)).Value = data.MOZ.Text

MOZ2 . Valus = ""

Sheet?.Range ("as" & (row)).Value = data,.U2.Text

u2.,value = ""

Sheet? .Range ("af" & (row)).Value = data.U02.Text

uo2.valope = ""

Sheet2.Range (“aq" & (row)).Value = data.MPI2.Text

MPI2.Value = ""

Sheet2.Range ("ah" & (row)).Value = data.Y2.Text

Y2.Value = "

Sheet2.Range("z" & (row)).Value =

Sheet2.Range ("aa2d4"™) + 1

cl.Value = "

Sheet2.Range ("aa" & ({(row)).Value = "Flyash"

End If
End Sub
Private Sub INSERTFLYASH3() PN s : 3
_ 1t H3.Malue <> "" And MM3.Value <> "" And NGI3.Value <> "" And P3.Value <> "" And MD3.Value <>
% And MO3.Value <> "" And U3.Value <> """ And UO3.Value <> "" Apnd MPI3.Value <> "" And Y3.Value <> "" Then
lastrow = Sheet2.Range("r" & Rows.Count).End(xlUp).row
Sheet2.Range ("t29") .Yalue = lastrow + 1
row = Sheet2.Range("t29")

Sheet2.Range(“"s" & (row)).Value = data.MM3.Text
MM3.Value = "¢

Sheet2.Range ("r" & (row)).Value = data.H3.Text
H3.Value = "~

Sheetr2.Range("t" & (row)).Value = data.NGI3. Text
NGI3.Value = "¢

Sheet2.Range ("u" & (row)).Value = data.LL3.Text
LL3.Value = ""

Sheet2.Range("v" & (row)).Value = data.PI3.Text
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PI3.Value = "¢
Sheet?.Range ("w" & (row)).Value = data,PT3,Text
PT3.Value = "»
Sheet2.Range("x"™ & ({(row)).Value = data.M3.Text
M3.Value = "»
Sheet2.Range("y" & (row)).Value = data.03.Text
03.Value = "%
Sheet2.Range ("ab" & (row)).Value = data.P3.Text
P3.Value = "n
Sheet2.Range ("ac" & (row)).Value = data.MD3.Text
MD3.Value = ""
Sheetz2.Range ("ad" & (row)).Value = data.MO3.Text
MO3.Value = "
Sheet2.Range (“ae" & (row)).Value = data.U3.Text
U3.value = "¢
Sheet?. Range ("af" & (row)).Value = data.U03,Text
Uo3.valuye = "¢
Sheet?.Range ("ag" & (row)).Value = data.MPI3,Text
MPI3.Value = "*
Sheet2.Range ("ah" & (row)).Value = data.¥3.Text
Y3.Value = ™"
Shest?.Range("z" & (row)).Value =

Sheet2 Range ("aa24") + 1
cl.value = ""
Sheet2.Range("aa" & (row)).Value = "Flyash"

End If
End Sub
Private Sub INSERTFLYASH4 () 1 3
If H4.value <> "M And MM, VaLue <> "W And NGId Value <> " And P4.Value <> "" And MPd.Value <>
" And MO4.Value <> "' And U4.Value <> "" And UQ4.Value <> "" And MPI4.Value <> "" And ¥4,Value <> "" Then
lastrow = Sheet2,Rdnge("r" & Rows.Count).End(x1Up).row
Sheet2.Range ("t29") .Value = lastrow + 1
row = Sheet2.Range("t29")

Sheet2,Ranga("s" & (rew)).Value = data.MM4.Text

MM4 . Value = "%

Sheet2.BRange{("r" & (row)).Value = data.H4.Text

H4.Value = ""

Sheet?,Range ("t" & (row)).Value = data.NGI4.Text

NGI4.Value = ""

Sheet2.Range ("u" & (row)).Value = data.LL4.Text

LL4.Value = ""

Sheet2.Range ("v" & (row)).Value = data.Pld.Text

PI4.valus = "

Sheet2.Range ("w" & (row)).Value = data.PT4.Text

PT4.Value = ""

Sheet2.Range ("x" & (row)).Value = data.mMd.Text

M4.Value = "

Sheet2.Range ("y" & (row)).Value = data.04.Text

R4.Value = ""

Sheet2.Range ("ab" & (row)).Value = data.Pd.Text

P4.Value = "

Sheet2.Range ("ac" & (row)).Value = data.MD4.Text

MDA.Value = "»

Sheet2.Range ("ad" & (row)).Value = data.MO4.Text

MO4.Value = ""

Sheet2.Range("ae" & (row)).vValue = data.Ud.Text

Ud.Value = "

Sheet2.Range (“af" & (row)).Value = data.U04.Text

UQ4.Value = "»

Sheet2.Range {"ag" & (row)).Value = data.MPid.Text

MPI4.Valye = "¢

Sheet2.Range ("ah" & (row)).Value = data.Y4.Text

¥4.,Value = "

Sheet2 . Range("2" & (row)).Value =
Sheet2.Range("aaz24") + 1

cl.Valueg = "

Sheet2.Range("aa" & (row)).Value = "Flyash"

End If
End Sub
Private Sub INSERTFLYASHS()
LE H5.Value <> "" And MM5.Value <> "" And NGIS Value <> "W And P5.Value <> "" And MD5.Value <>
" and MOS.Value <> " And US.Value <> " And UO5.Value <> "W And MPIS.Value <> "" And ¥5.Value <> "“ Then
lastrow = Sheet2,Range{"r" & Rows.Count).End(x1Up).row
Shest?.Range ("£29") .Value = lastrow + 1
row = Sheet2.Range("c29")

Shéeﬁz.aangel"s“ & (row)).Value = data.MM5,Text
MM5.Yalue = "
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Sheet2.Range ("r" & (row)).Value = data.H5.Text

H5.Value = "*

Sheet2.Range ("t" & (row)).Value = data.NGIS,Text

NGLI5.Valye = "

Sheet?.Range ("u" & (row)).Value = data,LL5.Text

LLS,Value = "W

Sheet2 . Range (“v" & (row)).Value = data.Pl5,Text

P15,.Value = "v

Sheer2.Range ("w" & (row}).Value = data.PT5.Text

PT5,Value = "

Sheet2.Range("x" & (row)).Value = data.M5.Text

M5.Value = ""

Sheet2.Range ("y" & (row)).Value = dara.05.Text

05.Valug = "»

Sheet2.Range ("ab" & (row)).Value = data.P5.Text

P5.Value = "»

Sheet? Range ("ac" & (row)).Value = data.MD5,Text

MD5.Valug = v

Sheet?, Range ("ad" & (row)).Value = data.MO5.Text

MO5.Value = "n

Sheet2 Range ("ae" & (row)).Value = data.US.Text

US.Value = "» '

Sheet2.Range ("af" & (row)).Value = data.U0S5,Text

Ugs,value = "

Sheet2.Range ("ag" & (row)).Value = data.MP15,Text

MPIS. Value = "

Sheet2 Range ("ah™ & (row)).Value = data.¥YS5.Text

Y5.value = ",

Sheet2.Range ("2z" & (row)).Value =
Sheet2 . Range ("aa24") + 1

cl.Valua = "*

Sheet?.Range ("aa" & (row)).Value = "Flyagh"

End If
End Sub
Private Sub INSERTFLYASHG() ’ 3 : 3 T =
1f H6.Value <> "" And MM6.Value <> "" And NGI6.Value <> "" And P6.Value <> "" And MD6.Value <>
" And MOG6.Value <> "" And U6.Value <> "" And UD6.Value <> "" And MPI6.Value <> "" And Y6.Value <> "" Then
lastrow = Sheet2.Range("r" & Rows.Count).End(xlUp).row
Sheet2,Range ("£29") .Value = lastrow + 1
row = Sheet2.Range ("t23")

Sheet2.Range ("s" & (row)).Value = data.MM6.Text
MM6.Value = ""
Sheet2.Range ("r" & (row)).Value = data.Hb.Text
H6.Value = ""
Sheet2.Range ("t" & (row)).Value = data.NGI6.Text
NGI6.Value = ""
Sheet2.Range ("u" & (row)).Value = data.LL6.Text
LL6.Value = ""
Sheet?.Range ("v" & (row}).Value = data.PI6.Text
PIb.Value = ""
Sheet2.Range ("w" & (row)).Value = data.PT6.Text
BT6.Value = "®
Sheet2.Range ("x" & (row)).Value = data.M6.Text
M6, Value = “"
Sheet?.Range("y" & (row)).Value = data.06.Text
06.Value = ""
Sheet2.Range (“ab" & (row)).Value = data.P&.Text
P6.Value = "»
Sheet?.Range("ac" & (row)).Value = data,MDé,Text
MP6.Value = ""
Sheet2.Range ("ad" & (row)).Value = data.MOG.Text
MO6.Value = ""
Sheet2.Range ("ae" & (row)).Value = data.U6.Text
U6.Value = ™"
Sheet2.Range ("af" & (row)).Value = data.U06.Text
U06.Value = "®
Sheet2,.Range ("ag" & (row)).Value = data,MPLl6.Text
MP16.Value = " _
Sheet2.Range ("ah" & (row)).Value = data.Y6.Text
¥6.Value = *»
Sheet2.Range ("z" & (row)).Value =

Sheet?.Range ("aa24") + 1

} cl.Value = "»

Sheet2.Range ("aa" & (row)).Value = “Flyash"

End If
End Sub
Private Sub INSERTFLYASHT()
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If Hl.Value <> " Apd MM7.Value <> "" And NGI7.Value <> "" And P7.Value <> "" And MD7.Value <> "% And MOT,Value
<> " And U7.Value <> "" And UO7.Value <> "' And MPI7.Value <> "" And Y7.Value <> "" Then
lastrow = Sheet2.Range{"r" & Rows.Count).End(x1Up).row
Sheet2,Range ("t29") .Value = lastrow + 1
row = Sheet?.Range ("t29")
Sheer?.Range("s" & (row)).Value = data.MM7.Text
MHM7.Valye = ""
Sheet2.Range{"r" & (row)).Value = data.H7.Text
H7.¥alue = "
Sheet2.Banga("t" & (row)).Value = data.NGI7.Text
NGI7.Value = "*
Sheet2.Range("u" & ({(row)).Value = data,LL7.Text
LL7 .value = "*
Sheet2.Range("v" & (row)).Value « data,PI7,Text
P17.Value = "¢
Sheet2.Range (“w" & (row)).Value = data.PT7.Text
PI7.Value = Mo
Sheet2,.Range ("x" & (row)).Value = data.M7.Text
M7.Valye = v
Sheet2.Range ("y" & (row)).Value = data.07.Text
O7.Value = ""
Sheet2.Range ("ab" & (row)).Value = data.P7.Text
P7.value = ""
Sheet2.8ange{"ac" & (row)).Value = data.MD7.Text
MD7.Yalpe = "
Sheet2,.Range ("ad" & (row)).Value = data.MO7,Text
MO7.Valye = ""
Sheet2 . Range ("ae" & (row)).Value = data.U7.Text
U7.value = v
Sheet?.Range("af" & (row)).vValue = data,UO7,Text
uo7.valus = """
Sheet2,Range ("ag" & (row)).Value = data.MPI?7,Text
MPIT.Value = ""
Sheet?.Range ("ah" & (row)).Value = data.¥7.Text
¥7.Value = "
Sheet2 . Range ("z" & (row)) .Value =
Sheet2,.Range ("aa24") + 1
cl.Value = "*
Sheet2.Range ("aa" & (row)).Value = "Flyash"

End IE
End Sub
Private Sub INSERTFLYASHS () (v ) F
If HB.Value <> "" And MMB.Value <> "" And NGIB.Value <> "" And P8.Value <> "" And MDB.Value <> "" And MOB.Value
<> ™" And UB.Value <> "" And UOB.Value <> "" And MPI8.Value <> "" And Y8,Value <> "' Then
lastrow = Sheet2.Range("r" & Rows.Count) .End (x1Up).row
Sheet2.Range ("t29") .Value = lastrow + 1
row = Sheet2.Range("t29")

Sheet2.Range ("s" & (row)).Value = data.MMB.Text
MMB . Value = ""

Sheet?.Range ("r" & (row)).Value = data.HB.Text
H8.Value = ""

Sheet2.Range ("t" & (row)).Value = data.NGI8.Text
NGI8.Value = ""

Sheet2 Range ("u" & (rowl).Value = data.LLB.Text
LL8 . Value = ""

Sheet2.Range("v" & (row)).Value = data.PI8.Text
PIg.Value = ""

Sheet2.Range ("w" & (row)).Value = data.PT8.Text
P8 .Value = ""

Sheet.Range ("x" & (row)).Value = data.MB.Text
M8.Value = ""

Sheet2.Range ("y" & (row)).Value = data.08.Text
08.Value = "¢

Sheet2,Range("ab" & (row)).Value = data.PB,Text
PB.Value = "»

Sheet? . Range ("ac" & {(row)).Value = data.MD8.Text
MDB . Value = ""

Sheet?.Range("ad" & (row)).Value = data.MO8.Text
MO8.Value = "

Sheet2.Range ("as" & (row)).Value = data.U8,Text
UB.Value = "

Sheet2.Range ("af" & (row)).Value = data.U08.Text
uos.value = "¢

Sheet2.Range ("ag" & (row)).Value = data.MPI8.Text
MPI8 . Value = "

Sheet2 .Range ("ah" & (row)).Value = data.¥8.Text
Y8.Value = M
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Sheet2.Range ("aa24")

Sheet2.Range ("2"
+ 1

& (row)) .Value =

cl.vValue = ""
Sheet?2.,Range ("aa" & (row)).Value = "Flyash"
End If
End Sub
Private Sub INSERTFLYASHO ()} . i = B
If HY9.Value <> "" And MM9.value <> "" And NGI9. Value <> "" And P9.Value <> "" And MD9.Value <> "" And MO9.Value
<> "" And U09.vValue <> "" And U09.Value <> "" And MPI9.Value <> "" And Y9.vValue <> "" Then
lastrow = Sheet2.Range("r" & Rows.Count) .End(xlUp).row
Sheet2.Range ("t29") .Value = lastrow + 1
row = SheetZ.Range("tZB"
! - - A i P
Sheet2.Range("s" & (row)) Value = data.MM9,Text
MM9.value = ""
Sheet2.Range ("r" & (row)).Value = data.H8.Text
HY9.Value = ""
Sheet2.Range ("t" & (row)).Value = data.NGI9.Text
NGI9.vValue = ""
Sheet2.Range ("u" & (row}).Value = data.LLS.Text
LL9.vValue = ""
Sheet2.Range ("v" & (row)).Value = data.PI9.Text
PI9.Value = ""
Sheet2.Range ("w" & (row)).Value = data.PT9.Text
PT9.Value = ""
Sheet2.Range ("x" & {(row)).vValue = data.M9.Text
M9.value = ""
Sheet2.Range ("y" & (row)).Value = data.09.Text
09.value = ""
Sheet2.Range ("ab" & (row)).Value = data.P9.Text
P9.value = ""
Sheet2.Range ("ac" & (row)).Value = data.MD9.Text
MD9.vValue = ""
Sheet2.Range ("ad" & (row)).Value = data.MO9.Text
MO%.vValue = ""
Sheet2.Range ("ae" & (row)).Value = data.U9.Text
U9.value = ""
Sheet2.Range ("af" & (row)).Value = data.U09.Text
U0%.value = ""
Sheet2.Range ("ag" & (row)).Value = data.MPIO.Text
MPI9.Value = ""
Sheet2.Range ("ah" & (row)).Value = data.Y9.Text
¥9.value = ""
Sheet2.Range ("z" & (row)).vValue =
Sheet2.Range ("aa24") + 1
cl.value = ""
Sheet2.Range("aa" & (row)).Value = "Flyash"
End If
End Sub
Private Sub INSERTFLYASH10 () ! L= 2T o0 - 2w FlLY 3
If H10.value <> "' And MM10.value <> "" And NGI1O. Value <> "" And P10. Value <> "" And MD10.Value <> "" And
MO10.Value <> "" And U10.Value <> "" And UO1l0.Value <> "" And MPI10.Value <> "" And Y10.Value <> "" Then

lastrow = Sheet2.Range("r
SheetZ.Range {"t29") .Value = lastro
row = Sheet2. Range("t29")
Ve ye=r (- 1 . il
SheetZ.Range("s" & (row)) Value =
MM10.Value = ""
Sheet2.Range ("r" & (row)).Value =
H10.Value = ""
Sheet2.Range ("t" & {(row)).Value =
NGI10.value = ""
Sheet2.Range ("u" & (row)).Value =
LL10.Value = ""
Sheet2.Range ("v" & (row)).Value =
PI10.vValue = ™"
Sheet2.Range ("w" & (row)).Value =
PT10.Value = ""
Sheet2.Range("x" & (row)).value =
M10.value = ""
Sheet2.Range ("y" & (row)).Value =
010.value = ""
Sheet2.Range ("ab" & (row)).Value =
Pl0.value = ""
Sheet2.Range ("ac" & (row)).Value =
MD10.Value = ""
Sheet2.Range {"ad" & (row)}.Value =
MO10.vValue = ""

Sheet2.Range ("ae"

& (row)).Value =

w + 1

data.MM10.Text

data.H10.Text
data.NGI10.Text
data.LL10.Text
data.PI10.Text
data.PT10.Text
data.M10.Text
data.010.Text
data.P10.Text
data.MD10.Text
data.MO10.Text

data.Ul0.Text
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Ulo.value = "*
Sheet2 Range ("af" & (row)).Value = data,U010,Text
Uol0.value = "W
Sheet2 . Range ("ag" & (row}).Value = data MPILO.Text
MPI10.Value = "»
Sheet2 Range ("ah"™ & (row)).Value = data.Y10.Text
Y10.Valua = "®
Sheet? . Range("z" & (row)).Value =
Sheet2 Range("sa24") + 1
cl.Value = "¢
Sheat2 . Range ("aa"™ & (row)).Value = "Flyash"

End IE
End Sub
Private Sub INSERTCKD1() 3 _ =
If Hl.Value <> ™" And MMl.Value <> ™" And NGIl.Value <> "" And Pl.Value <> "™ Apnd MD1,Value <>
"% And MOl.Value <> "" And Ul.Value <> “" And UDl.Value <> "" And MPI1.Value <> "" And Y1.Value <> "" Then
lastrow = Sheet6.Range("r" & Rows.,Count).End(xl1Up).row
Sheet6.Range("t29") .Value = lastrow + 1
row = Sheet6.Range("t23")

Sheeté.Range ("s" & (row)).Value = data.MMl.Text
MMl .Value = ™"
Sheetf.Range ("r" & (row)).Value = data.Hl.Text
Hl.Valua = """
Sheet6.Range ("t" & (row)).value = data.NGIl.Text
NGI1l.Value = ""
Sheet6.Range ("u" & (row)).Value = data.LLl.Text
LLl.Value = ""
Sheetd.Range("v" & (row)).Value = data.PIl.Text
PI1l.Value = "V
Sheeté.Range ("w" & (row)).Value = data.PT1.Text
BTL.Valug = "
Sheet6.Range ("x" & (row)).Value = data.Ml.Text
Mi.Valuye = "%
Sheet6.Range ("y" & (row)).Value = data.0l.Text
0l.Value = "*
Sheet6.Range ("ab" & (row)).Value = data.Pl.Text
Pl.Value = """
Sheet6.Range("ac" & (row)).Value = data.MDl.Text
MDl.Value = ""
Sheet6.Range ("ad" & (row)).Value = data.MOl.Text
MOl.Value = “®
Sheetf.Range ("ae" & (row)).Value = data.Ul.Text
Ul.value = "¢
Sheet6.Range (“af" & (row)).Value = data.UOl.Text
Uol.valuye = "%
Sheet6.Range (“ag" & (row)).Value = data.MPIil.Text
MPIl.Value = "»
Sheetf.Range("ah" & (row)).Value = data.Yl.Text
¥1.Valye = "
Sheeté.Range("2z" & (row)).Value =

Sheet6.Range ("aa2d")
cl.Valuye = ""
Sheet6.Range ("aa" & (row)).Value = "CKD"

End If
End Sub
Private Sulz INSERTCKDZ2 () " =T by x =
If H2.Value <> “"" And MM2.Value <> "" And NGI2.Value <> "" And P2.Value <> "" And MD2.Value <> "v
And MOZ.Value <> "" And U2.Value <> " And U02.Value <> "" And MPIZ.Value <> "" And Y2.Value <> "" Then
lastrow = Sheetb.Range("r" & Rows.Count).End(xlUp).row
‘Sheeth.Range ("t29") .Value = lastrow + 1
row = Sheetf.Range ("t29")

Sheet6.Range ("s" & (row)).Value = data.MM2.Text
MM2 . Valye = ""

Sheeté.Range ("r" & (row)).Value = data.H2.Text
H2,valuye = "»

Sheet6.Range("t" & (row)).Value = data.NGI2.Text
NGI12.Value = "¢

Sheetb,Range ("u" & (row)).Value = data.LL2, Text
LL2.Valye = "»

Sheet6,Range ("v" & (row)).Valuye = data,.PIZ, Text
PIZ . Value = "V

Sheet6.Range (“w" & (row)).Value = data.PT2, Text
PT2,.Value = ""

Sheet6.Range ("x" & (row)).Value = data.M2.Text
M2.Valye = ""

Sheet6.Range ["y" & (row)).Valus = data.02,Text
02.valpya = """
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Sheet6.Range ("ab" & (row)).Value = data.P2.Text
P2.Value = "»
Sheet6.Range ("ac" & (row)).Value = data.MD2.Text
MD2.Value = """
Sheet6.Range("ad" & (row)).Value = data.MOZ.Taxt
MO2.Value = "»
Sheer6.Ranue ("ae" & (row)).Value = data.U2.Text
u2,value = "»
Sheet6.Range ("af" & (row)).Value = data.U02.Text
Uo2.value = "n
Sheet6.Range ("ag" & (row)).Value = data.MPI2, Text
MPIZ2,Value = "m
Sheet6,.Range ("ah" & (row)).Value = data.¥2.Text
¥2.Value = "»
Sheet6.Range("2" & (row)).Value =

Sheeté.Range ("aa2q") + 1
cl.Valueg = "»
Sheers,Range ("aa™ & (row)).Value = "CKD"

End If
End Sub
Private Sub INSERTCKD3() ! : W= : ¥ ’
If H3.Value <> "™ And MM3.vValue <> "" And NGI3,Value <> "" And P3.Value <> "" Angd MD3.Value <>
" And MO3.Value <> "" And U3.Value <> "" And UO3.Value <> "" And MPI3.Value <> "" And ¥3.Value <> "" Then
lastrow = Sheeté.Range ("r" & Rows.Count).End(xlUp).row
Sheet6,Range ("t29") .Value = lagtrow + 1
row = Sheetf.Range("t29")

Sheet6.Range ("s" & (row)).Value = data.MM3.Text
MM3.Value = """
Sheetf.Range ("c" & (row)).Value = data.H3.Text
H3.Value = "¢
Sheet6.Range ("t" & (row)).Value = data.NGI3.Text
NGI3.Value = "*
Sheetb.Range ("u" & (row)).vValus = data.LL3.Text
LL3.Value = """
Sheet6.Range ("v" & {row)).Valua = data.PI3.Text
PI3.Value = ""
Sheer6.Range ("w" & (row)).Valus = data.PT3.Text
PT3.Value = ""
Sheeté.Range ("x" & (row)).Value = data.M3.Text
M3.Value = "v
Sheet6.Range ("y" & (row)).Value = data.03.Text
03.valuye = "*
Sheet6.Range ("ab" & (row)).Value = data.P3.Text
B3.Value = ""
Sheet6.Range ("ac" & (row)).Value = data.MD3.Text
MD3.Value = "*
Sheet6.Range (Yad" & (row)).Value = data.MO3.Text
MO3.Value = "
Sheet6.Range ("ae" & (row)).Value = data.U3.Text
Ul.Valua = ""
Sheet6.Range ("af" & (row)).Value = data.U03.Text
Uo3.value = "
Sheeté,Range ("ag" & (row)).Value = data.MPI3.Text
MPI3.Value = “*
Sheet6,.Range ("ah" & (row)).Value = data,Y3.Text
¥3i.value = "*
Sheet6.Range("z" & (row)).Value =

Sheet6.Range ("aa24") + 1
Sheetb.Range (“aa" & (row)).Value = "CKD"

End If
End Sub
Private Sub INSERTCKDA () " ; = 5 e
If H4.Value <> "" And MM4.Value <> "" And NGI4.Value <> "" And P4.Value <> "" And MD4.Value <>
"t And MOA.Value <> "" And U4.Value <> "" And UOA.Value <> " And MPI4,Value <> "" And Y4.Value <> "" Then
lastrow = Sheetf.Range("r" & Rows.Count).End(xlUp).row
Sheet6.Range ("t29") .Value = lastrow + 1
row = Sheet6.Range("t23")

Sheet6.Range("s" & (row)).Value = data.MM4.Text
MM4.Valuye = "¢

Sheet6.Range ("r" & (row)).Value = data,Hd,Text
HY.Value = "

Sheeté,Range ("t" & (row)).Value = data.NGI4.Text
NGI4.value = "

Sheet6,Range ("u" & (row)).Value = data.LL4.Text
LL4 .Valua = "¢

Sheet6.Range("v" & (row)).Valug = data.Pl4q,Text
PI4.Valua = »n
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Sheet6.Range ("w" & (row)).Value = data.PT4.Text

PT4.Value = ""

Sheet6.Range ("x" & (row)).Value = data.M4.Text
M4.vValue = ""

Sheet6.Range ("y" & (row)).Value = data.04.Text
04.value = ""

Sheet6.Range ("ab" & (row)).Value = data.P4.Text
P4.vValue = ""

Sheetb6.Range ("ac” & (row)) .Value = data.MD4.Text
MD4.Value = ™"

Sheet6.Range {("ad" & (row)).Value = data.MO4.Text
MO4.value = ""

Sheet6.Range ("ae" & (row)).Value = data.U4.Text
U4.valpye = ""

Sheet6.Range ("af" & (row)) .vValue = data.UO4.Text
Uo4.value = ""

Sheeté6.Range ("ag" & {(row)).Value = data.MPI4.Text
MPI4.,value = ""

Sheet6.Range ("ah" & (row)).Value = data.Y4.Text
Y4.vValue = ""

Sheet6.Range{"z" & (row)).Value =
Sheet6.Range ("aa24™) + 1

Sheeté6.Range ("aa" & (row)).Value = "CKD"
End If
End Sub
Private Sub INSERTCKDS () AR AR SR F LT SF 2B =IiE
I1f H5.Value <> "" And MM5.Value <> "" And NGI5.Value <> "" And P5.Value <> "" And MD5.Value <>
"' And MO5.Value <> "" And US.Value <> "" And U05.Value <> "" And MPI5.Value <> "" And Y5.Value <> "" Then

lastrow = Sheeté6.Range("r" & Rows.Count) .End(x1Up).row
Sheet6.Range ("t29") .Value = lastrow + 1
row = Sheeté6.Range ("t29")

Sheet6.Range("s" & (row)).Value = data.MM5.Text

MM5.Value = ""

Sheet6.Range ("r" & (row)).Value = data.H5.Text
H5.Value = "

Sheet6.Range ("t" & (row)).Value = data.NGI5.Text
NGI5.Value = ""

Sheeté6.Range ("u" & (row)).Value = data.LL5.Text
LL5.Value = ""

Sheet6.Range ("v" & (row)).Value = data.PI5.Text
PI5.Value = ""

Sheet6.Range ("w" & (row)).Value = data.PT5.Text
PT5.Value = ""

Sheeté6.Range ("x" & (row)).Value = data.M5.Text
M5.vValue = ""

Sheet6.Range ("y" & (row)).value = data.05.Text
05.value = ""

Sheet6.Range ("ab" & (row)).Value = data.P5.Text
P5.Value = ""

Sheet6.Range ("ac" & (row)).Value = data.MD5.Text
MD5.Value = ""

Sheet6.Range ("ad" & (row)).Value = data.MO5.Text
MO5.Value = ""

Sheet6.Range ("ae" & (row)).Value = data.U5.Text
U5.Value = ""

Sheet6.Range ("af" & (row)).Value = data.UO05.Text
U05.vValue = ""

Sheeté.Range ("ag" & (row)).Value = data.MPI5.Text
MPI5.Value = ""

Sheet6.Range ("ah" & (row)).Value = data.Y5.Text
¥5.Value = ""

Sheet6.Range ("z" & (row)).Value =
Sheet6.Range ("aa24") + 1

Sheet6.Range ("aa" & (row)).Value = "CKD"
End If
End Sub
Private Sub INSERTCKDG () SRS TR LT LA e = =,
If H6.Value <> "" And MM6.Value <> "" And NGI&.Value <> "" And P6.Value <> "" And MD6.Value <>
"" And MO6.Value <> "" And U6.vValue <> "" And UO6.Value <> "" And MPI6.Value <> "" And Y6.Value <> "" Then

lastrow = Sheeté6.Range ("r" & Rows.Count) .End(x1lUp) .row
Sheeté6.Range ("t29") .Value = lastrow + 1
row = Sheet6.Range ("t29")

Sheet6.Range ("s" & (row)).Value = data.MM6.Text
MM6.Value = ""

Sheet6.Range ("r" & (row)).Value = data.H6.Text
H6.Value = ""

Sheet6.Range ("t" & (row)).Value = data.NGI6.Text
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NGl6.Value = ""
Sheet6.Range ("u" & (row)).Value = data.LL6.Text
LLE.Value = "
Sheeté6.Range("v" & (row)).Value = data.PIi6.Text
Pl6.Value = "v
Sheet6.Range ("w" & (row)).Value = data.PT&.Text
PTE.Value = "»
Sheet6.Range ("x" & (row)).Value = data.M6.Text
M6, Value = "»
Sheet6.Range ("y" & (row)).Value = data.06.Text
06.Value =~ "
Sheetf.Range ("ab" & (row)).Value = data.P6.Text
P6.Value = "
Sheet6.Range ("ac" & (row)).Value = data.MU6.Text
MDG.Value = " _
Sheet6.Range ("ad" & (row)).Value = data.MO6.Text
MOB6.Value = "¢
Sheet6,Range ("ae" & (row)).Value = data.Ub.Text
Ug.valug = "
Sheet6.Range ("af" & (row)).Value = data.UO6.Text
UOG.Valug = “»
Sheetf.Range{"ag" & (row)).Value = data.MPIE.Text
MPI6.Value = "*
Sheet®.Range("ah" & (row)).Value = data.¥6.Text
¥6.Value = "
Sheeth.Range ("z" & (row)).Value =

Sheet®.Range ("aaz4") + 1 :
Sheet,Range("aa" & (row)).Value = "“CKD"

End 1f
End _Sub
Privats Sub INSERTCKDT() X TaR = ; ]
If H7.value <> "" And MM7,.Valys <> "" And NGI17.Value <> "" And P7.Value <> "" And MD7.Value <>
"" And MO7.Value <> "" And U7.value <> "" And UD7.Value <> "" And MPI7.Value <> "" And Y7.Value <> "" Then
lastrow = Sheet6,Range("r" & Rows.Count).End(x1Up).row
Shest6.Range ("t29") .Value = lastrow + 1
row = Sheeté,Range ("t29")

Sheet6,.Range ("s" & (row)).Value = data.MM7, Text
MM7.Value = "
Sheetb,Range ("r" & (row)).Value = data.H7.Text
H7.Value = "»
Sheet6.Range("t" & (row)).Value = data.NGI7.Text
NGI7.Value = ™"
Sheeté.Range("u" & (row)).Value = data.LL7,Text
LL7.Value = "¥
Sheet6.Range ("v" & (row)).Value = data.PI7.Text
PI7.Value = "*
Sheet6.Range ("w" & (row)).Value = data.PT7.Text
PT7.Value = ""
‘Sheet6.Range ("x" & (row)).Value = data.M7.Text
M7.Value = "
Sheeté.Range ("y" & (row)).Value = data.07.Text
Q7.Value = ""
Sheet6.Range ("ab" & (row)).Valus = data.P7.Text
P7.Value = ""
Sheeté.Range ("ac" & (row)).Value = data.MD7.Text
MD7.Value = ""
Sheetb.Range ("ad" & (row)).Value = data.MO7.Text
MO7.Value = ""
Sheetd.Range ("ae" & (row)).Value = data.U7.Text
U?.value = ""
Sheet6,.Range ("af" & (row)).Value = data.U07.Text
uo?.value = "
Sheet6.Range("ag" & (row)).Value = data.MPI7.Text
MPIV . Value = "*
Sheet6.Range("ah" & (row)).Value = data.¥7.Text
Y7.Value = "
Sheet6.Range("2" & (row)).Value =

Sheeth.Range ("aa24™) + 1
Sheetd.Range("aa" & (row)).Value = “"CKD"

End Lf
End Sub
Private Sub INSERTCKDE () ) 5 - : 7 *
If H8,Value <> "" And MMB.Value <> " And NGIB.Value <> "" And PB.Value <> "“ And MD8.Value <>
"" And MOB.Value <> "" And U8.Value <> “" And UOB.Value <> "“ And MPIB.Value <> "" And YB8.Value <> "% Then
lastrow = Sheeté,Range("r" & Rows.Count).End(xlUp).row
Shestd.Range ("£29") Value = lastrow + 1
row = Sheet6.Range ("£29")
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Sheet6.Range ("s" & (row)).Value = data.MMB.Text
MMB.Value = "*
Sheet6.Range ("r" & (row)).Value = data.HB8.Text
H8.Value = “"
Sheetf.Range ("t" & (row)).Value = data.NGi8.Text
NGI8.Value = "*
Sheet6.Range ("u" & (row)).Value = data.LL8.Text
LLB.Value = """
Sheet6.Range ("v" & (row)).Value = data.PIB.Text
PIB.Value = "»
Sheet6.Range ("w" & (row)).Value « data.PTB.Text
PT8.Value = "
Sheethf.Range{"x" & (row)).Value = data.M8.Text
M8, . Value = "
Sheet6.Range{"y" & traw:[.valuz = ¢ata.08.Text
08.Value = ""
Sheetf.Range ("ab" & (row)).Value = data.P8.Text
P8.Value = "*
Sheet6.Range ("ac" & (row)).Yalue = data.MDB,Text
MDB.Value = ""
Sheet6.Range ("ad" & (row)).Value = data.MOB.Text
MOB.Value = "
Sheet6.Range ("ae" & (row)).Value = data.UB8.Text
ug.value = ""
Sheet6.Range ("af" & (row)).Value = data.U08.Text
uog.Value = “»
Sheetf.Range ("aq" & (row)).Value = data.MPIB.Text
MPIB, Value = "
Sheet6.Range ("ah" & (row)).Value = data.Y8, K Text
¥Y8.valug = ""
Sheet6.Ranges ("2" & (row)).Value =

Sheet6.Ranga ("aa24") + 1
Sheet6.Range ("aa” & (row)).Value = "CKD"

End If
End Sub
Private Sub INSERTCKDI() L L - i
If HY9.Value <> "" And MM2,Value <> "" And NGI9.Value <> "" And P9.Value <> "" And MD9.Value <>
""oAnd MO9.Value <> "" And U9.Value <> "" And UQD9.,Value <> "" And MPI9.Value <> "" And Y9.Value <> "" Then
lastrow = Sheet6.Range("r" & Rows,Count).Bnd(x1Up).zrow
Sheet6.Range("t29") .Value = lastrow + 1
row = Sheetf.Range("t£29")

Sheet6.Range (3" & (row)).Value = data.MM9.Text
MMI.Valug = "V
Sheet6.Range ("t" & (row)).Value = data.H9.Text
H9.Value = ""
Sheet6.Range ("t" & (row)).Value = data.NGI9.Text
NGI9.Value = "V
Sheet®.Range ("u™ & (row)).Value = data.LL9.Text
LL9.Value = ""
Sheetd.Range ("v" & (row)).Value = data.PI2.Text
PI9.Vatue = "
Sheeté.Range ("w" & (row)).Value = data.PT9,Text
P19 . Value = ""
Sheetd.Range ("x" & (row)).Value = data.M9.Text
M9.value = "
Sheet6.Range ("y" & (row)).Value = data.0%9.Text
09.Value = ""
Sheetd.Range ("ab" & (row)).Value = data.P2.Text
P9.Value = "" .
Sheet6,Range ("ac" & (row)).Value = data,MD9.Text
Mp9.Value = ""
Sheeto.Range("ad" & (row)).Value = data.M09.Text
Mo9.Value = "¢
Sheet6,Range ("ae" & (row)).Value = data.U9.Text
U9.valus = "
Sheet6.Range ("af" & (row)).Value = data.U09.Text
Uo9.vValue = v
Sheet6,Range ("ag" & (row)).Value = data.MPI%2.Text
MPI9.Value = "»
Sheet6.Range{"ah" & (row)).Value =~ data.Y9.Text
¥9.Value = """
Sheet6.Range("z" 4 (row)).Value =

Sheet6.Range ("aa24") + 1
Sheet§.Range ("aa" & (row)).Value = "CKb"

End If
End Sub
Private Sub INSERTCKDIO ()
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IF H10.Value <> "“ And MM10.Value <> "% And NGI10.Value <> "" And P10.Value <> "" And
MD1D.Value <> "% Apnd MO10.Value <> "™ And Ul0.Value <> " And UOI0.Value <> "" And MPI10,Value <> “" And
¥10.Value <> "" Then

lastrow = Sheet6,Range("r" ¢ Rows.Count).End(x1Up).row

Sheet6,Range("t29") .Value = lastrow + 1

row = Sheet6,Range ("t29")

Sheeto,Range ("s" & (row)).Value = data.MM10.Text

MM10.Value = "

Sheeté.Range ("™ & (row)) .Value = data.Hl0.Text

H10.Value = “»

Sheet6.Range ("t" & (row)).Value = data .NGI10.Text

NGIl0.Value = "

Sheet6,Range ("u" & (row)).Value = data.LL10,Text

LL10.Value = "

Sheet6.Range ("v" & (row)).Value = data.PI10.Text

PI10,Value = "®

Sheeth.Range ("w" & (row)).Value = data.PT10.Text

PTi0.Valye = "»

sheeps.aanqa{“x“ & (row)).Value = data.M10.Text

M10.Value = "*

Sheet6.Range ("y" & (row)).Value = data.0l0.Text

0l0.valuye = n»

Sheet6.Range ("ab" & (row)).Value = data.pPl0,.Text

Pl10.Value = "*

Sheet6.Range ("ac" & (row)).Value = data MD10,Text

MD10,Valus = "*

Sheetf,Range ("ad" & (row)).Value = data.MO10,Text

MO10.valye = "*

Sheet6,Range (“ae" § (row)).Value = data.Ul0.Text

Ul0.value = "¥

Sheet6, Range (Yaf" & (row)).Value = data.UDLl0.Text

Uol0.valuye = "¢

Sheet6.Range ("ag" & (row)).Value = data.MPI10.Text

MPI10.Value = "%

Sheet6.Range ("ah" & (row)).Valus = data.¥10,Text

Y10.Value = “"

Sheet6.Range ("z" & (row)).Value =
Sheet6.Range("aa24") + 1

Sheet6.Range("aa" & (row)).Value = "CKD"

End Tf

End Sub
Private Sub INSERTLIMEIL () = - X . 3
If Hl.value <> """ And MMl.Value <> "" And NGI1.Value <> "" And Pl.Value <> "" And MDl.Value <>
"" And MOl.Value <> "™ And Ul.Value <> "" And MPIl.Value <> "M And Yl.Value <> "" Then
lastrow = Sheet3.Range("r" & Rows.Count).End(xlUp).row
Sheet3.Range ("t29") .Value = lastrow + 1
row = Sheet3.Range ("t29")

Sheet3.Range ("s" & (row)).Value = data.MM1.Text
MM1 . Value = "0

Sheet3.Range ("r" & (row)).Value = data.Hl.Text
Hl.Value = ""

Sheet3.Range ("t" & (row)).Value = data.NGIl.Text
NGT1.Value = "»

Sheetd.Range ("u" & (row)).Value = data.LLl.Text
LLl1.Value = "V

Sheetd.Range ("v" & (row)).Value = data.PIl.Text
PI1.Value = """

Sheet3.Range ("w" & (row)).Value = data.P?l,Text
PT1.Value = ""

‘Sheet3.Range ("x" & (row)).Value = data.Ml.Text
Ml.Value = "

Sheet3 . Range("y" & (row)).Value = data.0l,Text
0l.Value = "

Sheet3.Range("ab" & (row)).Value = data.Pl.Text
Pl.Value = "¢

Sheetl.Range("ac" & (row)).Value = data.MD].Text
Mol .Valye = """

Sheet3.Range ("ad" & (row)).Value = data.MOl.Text
Mol.Value = ""

Sheet3.Range ("ae" & (row)).Value = data.Ul,Text
Ul.Value = "

Sheet3.Range ("af" & (row)).Value = data,U0l.Text
uol.valye = "»

Sheetd.Range("ag" & ({row) ) .Value = data.MPI1.Text
MPI1.Value = "»

Sheet3.Range ("ah" & (row)).Value = data.¥l.Text
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Y1.value = "

Sheet3.Range ("2" & (row)).Value =
Sheetd.Range {"aa24") + 1

Sheet3.Range ("aa" & (row)).Value = "Lime"

End If
End Sub
Private Sub INSERTLIMEZ{) !
1f H2.Value <> " And MM2.Value <> " And NGI2.Value <> "" And P2.Value <> "" And MD2.Value <> "*
And MO2.Value <> "" And U2.Value <> "" And MPI2.Value <> "" And Y2.Value <> "" Then
lastrow = Sheet3.Range ("r" & Rows.Count).End(xlUp).row
Sheet3.Range ("£29") .Value = lastrow + 1
row = Sheet3.Range ("t29")

Sheet3,Range ("s" & (row)).Value = data.MM2, Text
MMZ.Value = "n

Sheetd,Range("c™ & (row)).Value = data,H2,Text
HZ.Value = ""

Sheetd.Range ("t" & (row)).Value = data, NGI2.Text
NGIZ.Value = "¢

Sheet3.Range ("u" & (row)).Value = data.LL2, Text
LLZ .Valuye = **

Sheet3.Range ("v" & (row)).Value = data.PI2.Text
PI2.Valug = "

Sheetd.Range ("w" & (row)).Value = data.PT2.Text
PT2.Value = ""

Sheet3.Range ("x" & (row)).Value = data.M2,Text
M?-Vﬁ]ue - hn

Sheet3.Range("y" & (row)).Value = data.0D2.Text
02.Valug = ""

Sheet3.Range ("ab" & (row)).value = data.P2.Text
pZ.Value = ""

Sheet3.Range (Yac" & (row)).Value = data.MD2.Text
MD2.Value = "W

Sheet3.Range ("ad" & (row)).value = data.MO2.Text
MOZ2.Value = ™"

Sheet3.Range ("ae" & (row)).Value = data.U2.Text
U2.value = "*

Sheet3.Range ("af" & (row)).Value = data.U02.Text
Up2.Value = "

Sheet3.Range ("ag" & (row)).Value = data.MPI2.Text
MPIZ.Value = "*

Sheet3.Range ("ah" & (row)).Value = data.¥2.Text
¥2.Value = "%

Sheet3.Range("z" & (row)).Value = Sheetd.Range("aa24") + 1
Sheet3.Range("aa" & (row)).Value = "Lime"

End If
End Sub
Private Sub INSERTLIME3() ) T ! ¥ =" - -
If H3.value <> "" And MM3.Value <> "" And NGI3.Value <> "" And P3.Value <> "" And MD3.value <>
" And MO3.Value <> "" Apd U3.Value <> "" And MPI3.Value <> "" Apnd Y3.Value <> "" Then
lastrow = Sheat3.Range("r" & Rows.Count).End(xlUp).row
Sheet3.Range ("£29") .Value = lastrow + 1
row = Sheet3.Range ("t29")

Sheet3.Range ("s" & (row)).Value = data.MM3.Text
MM3 . Value = "¢

Sheet3.Range ("r" & (row}).Value = data.H3.Text
H3.Value = "»

Sheetd,Range ("t" & (row)).Value = data.NGI3.Text
NGI3.Value = "v

Sheet3.Range ("u" & (row)).Value = data.LL3.Text
LL3.Valye = "

Sheet3.Range ("v" & (row)).Value = data.PI3.Text
PI3.Value = "¢

Sheet3.Range ("w" & (row)).Value = data.PT3.lext
BT3.Value = "»

Sheet3.Range ("x" & (row)).Value = data,M3.Text
M3.Value = "»

Sheet3.Range ("y" & (row)).Value = data.03.Text
03.Value = "V

Sheet3,Range ("ab" & (row)).Value = data.P3.Text
P3.Value = "»

Sheetd,Range ("ac” & (row)).Value = data.MD3.Text
MD3.Valuye = "~

Sheet3. Range("ad" & (row)).Valus = data.MO3, Text
MO3.vValue = "»

Shestl.Range("aa" & (row)).Value = data,U3.Text
U3.value = "

Sheet3.Range("af" & (row)).Value = data.U03.Text
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Uo3.value = "»
Sheet3.Range("ag"” & (row)).Value = data.MPI3.Text
MPI3.Value = "»
Sheet3.Range ("ah" & (row)).Value = data.¥3.Text
Y3.Value = "»
Sheet3.Range (2" & (row)) .Value =
Sheet3.Range ("aa24") + 1
‘Sheet3,.Range ("aa" & (row)).Value = "Lime"

End If
End' Sub
Private Sub INSERTLIMEZ () ’ - $ AT
If H4.Value <> "" And MM4,Value <> "" And NGI4,Value <> "" And P4.Value <> " And MD4.Value <>
" And MO4.Value <> "' And U4.Value <> " And MPI4.Value <> "" And Y4.Value <> " Then
lastrow = Sheet3.Range("r" & Rows.Count).End(x1Up).row
Sheetd.Range ("t29") .Value = lastrow + 1
row = Sheet3.Range ("t29")

Sheet3.Range ("s" & (row)).Value = data.MMd.Text
MM4,Valye = v

Sheet3.Range ("r" & (row)).Value = data.Hd, Text
H4.value = """

Sheet3. Range ("t" & (row)).Value = data.NGI4, Text
NGI4.Valye = "n

Sheet3,Range("u" & (row)).Value = data.Lld.Text
LL4.Value = "» =

Shest3.Range ("v" & (row)).Value = data.PId4, Text
PI4.Value = "

Sheet3.Range ("w" & (row)).Value = data.PTd.Text
PT4.Valua = ""

Sheet3.Range ("x" & (row)).Value = data.Md.Text
M4.Value = ""

Sheetd.Range ("y" & (row)).Value = data.0dq.Text
04.Value = ""

Sheet3.Range ("ab" & (row)).Value = data.Pd.Text
Pd.Valuye = "»

Sheetl.Range ("ac” & (row)).Value = data.MD4,Text
MD4.Value = """

Sheetd.Range ("ad" & (row)).Value = data,.MO1.Text
MO4 . Value = "

Sheet3.Range ("ae" & (row)).Value = data.Ud,.Text
U4.Value = "V

Sheet3.Range("af" & (row)).Value = data.UO4.Text
Uo4.value = ""

Sheet3.Range ("ag" & (row)).Value = data.MPI4.Text
MPI4.Value = ""

Sheet3.Range ("ah" & (row)).Value = data.Yd.Text
Y4.Value = "V

Sheet3.Range("z" & (row)).Value = Sheet3.Range ("aa24"™) + 1
Sheet3.Range ("aa" & (row)).Value = "Lime"

End If
End Sub
Private Sub INSERTLIMES() ' ; = e =
1f H5.Value <> "" And MM5.Value <> "" And NGI5.Value <> "" And P5.Value <> "" And MDS.Value <>
" oAnd MOS.Value <> " And US5.Value <> "" And MPIS.Value <> "" And Y5.Value <> "" Then
lastrow = Sheet3.Range{"r" & Rows.Count).End(xlUp).row
Sheet3.Range("t29") .Value = lastrow + 1
row = Sheet3.Range{"t29")

Sheet3.Range ("s" & (row)).Value - data.MM5.Text
MM5.Value = "

Sheet3.Range("r" & (row)).Value = data.H5.Text
H5.Value = "¢

Sheet3.Range("t" & (row)).Value = data.NGI5.Text
NGIS.Value = "

Sheet3,Range("u" & (row)).Value = data.LL5.Text
LLS.Value = "¥

Sheet3.Range("v" & (row)).Value = data.PI5.Text
PI5.Value = "»

Sheet3.Range ("w" & (row)).Value = data.PT5.Test
BT5.Value = v

Sheet3.Range ("x" & (row)).Value = data.M5.Text
M5.Valuye = "o

Sheet3.Range ("y" & (row)).Value = data.05,Text
05.Value = "»

Sheet3.Range ("ab" & (row)).Value = data.P5.%ext
P5.value = "»

Sheetd,Range ("ac" & (row)).Value = data.MD5.Text
MD5,Valye = ™

Sheetd,Range ("ad" & (row)).Value = data.MOS5.Text

121



MO5.Value = "n

Sheet3.Range("ae" & (row}).Value = data.Us.Text
US.Value = "»

Sheet3.Range ("af" & (row)).Value = data.U0S5.Text
Uos . Value = "

Sheet3.Range ("ag" & (row)).Value
MPIS.Value = u»

Sheet3,Range ("ah" & (row)).Value = data,Y5.Text

¥5,Value = "¢

Sheet3.Range ("z" & (row)).Value = Sheet3.Range("aa24") + 1
Sheetd,Range ("aa" & (row)).Value = "Lime"

data . MPI5.Text

End If
End Sub
Private Sub INSERTLIMEG() ! = . - T o 3
If H6.Value <> "" And MM6.Value <> "" And NGI6.Value <> "" And P6.Value <> "" And MD6,Value <>
" And MOG.Value <> "" And U6.Value <> "" And MPI6.Value <> "" And Y6.Value <> "" Then
lastrow = Sheet3.Range("r" & Rows.Count).End(xlUp).row
Sheet3.Range ("£29™) .Value = lastrow + 1
row = Sheetd.Range ("t29")

Sheet3,Range ("s" & (row)).Value = data.MM&.Text
MM6.Value = "»
Sheet3.Range ("r" & (row)).Value = data.H6,Text
HE6.value = "¢
Sheet3.Range ("t" & (row)).Value = data,NGIG,Text
NGI&.Value = "#
Sheeti.Range ("u" & (row)).Value = data, LL§, Text
LL6.Value = ""
Shest3.Range ("v" & (row)).Value = data.PI6,Text
PI6.Value = ""
Shest3.Range ("w" & (row)).vValue = data.PT8&.Text
PT6.Value = ""
Sheet3.Range ("x" & (row)).Value = data.M6.Text
ME.Value = """
Sheet3.Range{"y" & (row)).Value = data.06,Text
06.Value = ""
Sheet3.Range {"ab" § (row)).Value = data.P6.Text
P6.Value = ""
Sheet3.Range ("ac" & (row)).Value = data.MD6.Text
MD6.Value = "
Sheet3.Range ("ad" & (row)).Value = data.MOG6.Text
MO6.Value = "W
Sheet3.Range ("ae" & (row)).Value = data.U6.Text
Us.value = "
Sheet3.Range("af" & (row)).Value = data.UD6.Text
Ugs.Value = ""
Sheetd.Range ("ag" & (row)).Value = data.MPI&.Text
MPI6.Value = ""
Sheet3.Range ("ah" & (row)).Value = data.Yb.Text
¥6.Value = ""
Sheet3.Range("z" & (row)).Value =

Sheet3.Range ("aa24") + 1
Sheet3.Range ("aa" & (row)).Value = “Lime"

End If
End Sub
Private Sub INSERTLIMET () - . r
1f H7.Value <> "" And MM7.Value <> ™" And NGI7.Value <> "" And P7.Value <> "* And MD7.Value <>
"UoAnd MO7.Value <> "" And UT.Value <> " And MPI7.Value <> "" And Y7.Value <> "" Then
lastrow = Sheet3.Range("r" & Rows.Count).End(xlUp).row
Sheet3.Range ("t29") .Value = lastrow + 1
row = Sheet3,.Range ("t29")

Sheet3.Range("s" & (row)).Value = data,MM7.Text
MM7.Value = "¢

Sheet3,Range ("r" & (row)).Value = data.H7.Text
H?.Value = "¢

Sheet3.Range ("t" & (row)).Value = data.NGI7.Text
NGIT.Value = "*

Sheet3.Range ("u" & (row)).Value = data,LL7.Text
LL7 .Value = "¥

Sheet3.Range ("v" & (row)).Value = data.PI7,Text
P17.Value = »v

Sheet3.Range ("w" & (row)).Value = data.pPl7.Text
PT7.Value = "

Sheet3.Range ("x" & (row)).Value = data.M7.Text
M7.Value = "»

Sheet3,Range ("y" & (row)).Value = data.07.Text
07.Valye = nn»

Sheet3,Range ("ab" & {row)).Value = data.P7.Text
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P7.Value = "
Sheet3.Range ("ac" & (row)).Value = data.MD7.Text
MD7.Value = "»
Sheet3.Range ("ad" & (row}).Value = data.MQ7.Text
MO7.Valuye = "
Sheet3.Range ("ae" & (row}).Value = data.U7.Text
u?.value = "
Sheetd . Range ("af" & (row)).Value = data.U0?.Text
uo?.value = "
Sheet3 . Range("ag" & (row)).Value = data.MPI7.Text
MPI7.Value = "w
Shaet3.Range("ah" & (row)).Value = data.¥7.Text
Y7.Value = "¢
Sheet3.Range ("z" & (row)).Value =

Sheet3,Range ("aa24") + 1
Sheet3.Range ("aa" & (row)).Value = “"Lime"

End If
End Sub
Private Sub INSERTLIMEB () ' - = ]
Lf H8.Value <> "" And MMB.Value <> " And NGIB.Value <> "™ And P8.Value <> "" And MDS.Value <>
""" And MOB.Value <> "" And UB.Value <> "" And MPIB.Value <> "™ And YB.Value <> "" Then
lastrow = Sheet3.Range("r" & Rows.Count).End(x1Up).zow
Sheet3,Range ("t29") ,Value = lastrow + 1
row = Sheet3.Range("t29")

Sheetd.Range ("s" & (row)) .Value = data.MMB.Text

MMB.Value = "

Sheet3,.Range("r" & (row)) .Value = data.H8.Text

H8.Value = ""

Sheet3.Range ("t" & (row)).Value = data.NGIB.Taxt

NGIB.Value = "W

Sheet3.Range("u" & (row)).Value = data.LL8.Text

LL8.Value = "

Sheet3d.Range ("v" & (row)).Value = data,PI8.Text

PI8.Value = ""

Sheet3d.Range("w" & (row)).Value = data,PT8.Text

PT8.Value = "

Sheet3.Range ("x" & (row)).Value = data.MB.Text

M8.Value = "7

Sheet3.Range ("y" & (row)).Value = data.0B8,Text

08.Value = ""

Sheetld.Range ("ab™ & (row)).Value = data.P8.Text

P8.Value = ""

Sheetd.Range ("ac™ & (row)).Value = data.MDB.Text

MD8.Value = ""

Sheet3.Range ("ad" & (row)).Value = data.MO8.Text

MOB.Value = ""

Sheet3.Range ("ae" & [row)).Value = data.UB.Text

ug.value = ""

Sheet3.Range ("af" & (row)).Value = data.U0B.Text

uoa.value = "

Sheet3.Range ("ag" & (row)).Value = data.MPI8.Text

MPI8.Value = "™

Sheet3,Range ("ah" & (row)).Value = data.Y8.Text

Y8 .Value = "

Sheet3.Range("z" & (row)).Value =
Sheet3.Range("aa24") + 1

Sheet3.Range("aa" & (row)).Value = "Lime"

End If
End Sub
Private Sub INSERTLIMES() ¥ : ; i w
If H3.Value <> "" And MM9.Value <> "% And NGI9.Value <> "" And P9.Value <> "" And MD9.Value <>
" And MO9.Value <> "' And U9.Value <> "" And MPI9.Value <> "* And ¥9.Value < " Then
lastrow = Sheet3.Range("r" & Rows.Count).End(xlUp).row
Sheet3.Range (Yt29") .Value = lastrow + 1
row = Sheet3.Range ("t293")

Sheet3.Range ("s" & (row)).Value = data.MM9.Text
MM3  Value = "

Sheet3.Range ("r" & (row)).Value = data.H9,Text
HY9.Valuye = "

‘Sheet3.Range ("t" & (row)).Value = data.NGI9.Text
NGI9.Value = "

Sheet3.Range("u" & (row)).Value = data.LL9.Text
LL9.Value = "»

Sheet3.Range ("v" & (row)).Value = data.Pl9.Text
PI9.Value = "n

Sheetd.Range ("w" & (row)).Value = data.P79.Text
PT9.Value = "
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Sheet3,Range("x" & (row)).Value = data.M9.Text

M9.Value = "v

Sheet3.Range ("y" & (row)).Value = data.09.Text

09.Value = ""

Sheet3.Range ("ab" & (row)).Value = data.P9.Text

P9.Value = "

sheet3.Range ("ac" & (row)).Value = data.MDI, Text

MD9.Value = v

Sheetl,Range ("ad™ & (row)).Value = data.MO9.Text

MO9.Value = ""

Sheet3.Range ("ae" & (row)).Value = data.U9.Text

U9.Value = "

Sheat3.Range ("af" & (row)).Value = data.U09.Text

Uo9.Value = "»

Sheet3.Range ("ag" & (row)).Value = data.MPI19, Text

MPI9.Value = "

Sheet3.Range ("ah" & (row)).Value = data.Y9.Text

¥9.Valug = ""

Sheetd.Range ("2" & (row)).Value =
Sheatl . Range ("aa24") + 1

Sheet3.Range ("aa" & (row)).Value = "Lime"

End If
End Sub
Private Sub INSERTLIME10() y ot . d
If H10.Value <> "™ And MM10,Value <> "" And NGI10.Value <> "" And P10,.Value <> "" And
MP10.Value <> "" And MOl0.Value <> "" And Ul0.Value <> "™ And MPI10.Value <> "" And Y10,Value <> "" Then
lastrow = Sheet3.Range("r" & Rows,Count).End(x1Up).row
Sheetd.Range ("t29") .Value = lastrow + 1
row = Sheet3.Range ("t29")

Sheet3.Range ("s" & (row)).Value = data.MM10.Text

MM10.Value = ""

Sheet3.Range (""" & (row)).Value = data.H10.Text

H10.Valuye = "

Sheet3.Range ("t" & (row)).Value = data.NGI10.Text

NGI10.Value = "»

Sheet3.Range ("u" & (row)).Value = data.LLl10.Text

LL10.Value = ""

Sheet3.Range("v" & (row)).Value = data.PI10.Text

PI10.Value = "»

Sheet3.Range ("w" & (row)).Value = data.PT10.Text

PT10.Value = "

Sheet3.Range ("x" & (row)).Value = data.M10.Text

M10.Value = ""

Sheet3.Range ("y" & (row)).Valus = data.010.Text

010.Value = "®

Sheet3.Range ("ab" & (row)).Value = data.Pl0.Text

Pl0.Value = ""

Sheet3.Range ("ac" & (row)).Value = data.MD10.Text

MP10:Value = "

Sheet3.Range ("ad" & (row)).Value = data.MO10.Text

MO10.Value = "

Sheet3.Range ("ae" & (row)).Value = data.Ul0.Text

Uld.value = "

Sheet3.Range("af" & (row)).Value = data.U0l0.Text

vol0.value = “*

Sheet3.Range("ag" & (row)).Value = data.MPI10.Text

MPI10.Valuye = "»

Sheet3.Range("ah" & (row)).Value = data.Y10.Text

¥i0.value = ¥

Sheetd,Range(“z" & (row)).Value =
Sheetl.Range("aa24") + 1

Sheet3.Range ("aa" & (row)).Value = "Lime"

End If
End Sub
Privata Sub INSERIMODE Click() T 3

1f INSERTMODE.Caption = "INSERT MODE" Then 'View mode
Label36.Visible = False
data.CLEARFORM
FORMATINSERTMODE
MMENU.Visible = False
Label32.Visible = False
SortSample.Vigible = False
sorthighway,Visible = False
sortngi.Visible = False
Label35.Vigible = False
editmode.Visible = False
cl.Visible = False
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c2.Visible
c3.Visible

ed. Vigible =
c5.Visible =

c6.Visible
c7.Vigible
cB.Visible
c9.Visible
c10.Visible

Elze

If ADDINSERT.Value <> "FLYASH" A

Falge
False
False
False
False
False
False
Falsge

False
prompt = "Each record must have Highway, Mile Marker, NGI, and Modified Soil Properties to be
inserted into database. ***IMPORTANT***: If data does not disappear after clicking insert button then Highway,
Mile Marker, NG1, and Modified Seoil Properties data MUST be entered.”
status = MsgBox(prompt, vbOKOnly + vbApplicationModal, "Message")

prompt = "Missing Additive Type"

status = MsgBox(prompt, vbOKOnly + vbApplicationModal, "Error")

Else

1f ADDINSERT.Text = "FLYASH"™ Then

Sheets ("FLYASH") .Select

Range ("T31") .Select

ActiveWorkbook.Worksheets ("FLYASH") .sort,.SortFields.Clear
ActiveWorkbook.Worksheets ("FLYASH") .sort.SortFields.add Key:=Range ("T31"),

SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
with ActiveWorkbook.Worksheets ("FLYASH") .sort

INSERTFLYASH1
INSERTFLYASH2
INSERTFLYASH3
INSERTFLYASH4
INSERTFLYASHS
INSERTFLYASHE
INSERTFLYASET
INSERTFLYASHE
INSERTFLYASH9
INSERTFLYASHI1O

+SetRange Range ("R31:AH1048000")
.Header = xlNo
.MatchCase = False
Orientation = x1TopToBottom
SortMethod = x1iPinYin

-Apply

Sheets ("Sheet1") .Select

End With

Else

1f ADDINSERT.Value = "CKD" Then

Sheets ("CKD") . Select
Range ("T31") ,Select _ _
ActiveWorkbook.Worksheets ("CKD") .sort,SortFields.Clear

ActiveWlorkbook.Worksheets ("CKD") .sort.Sortfields.add Key:=Range ("T31%),
SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("CKD").sort

INSERTCKDI
INSERTCKD2
INSERTCKD3
INSERTCRDA
INSERTCKDS
INSERTCKDE
INSERTCKD?
INSERTCKDS
INSERTCKDY
INSERTCKDIO

.SetRange Range ("R31:AH1048000")
.Header = xlNo
.MatchCase = False
.Orientation = xlTopToBottom
SortMethod = $1pPin¥in

-Apply

Shaets ("Sheetrl") ,Select

End With

Else

If ADDINSERT.Value = "LIME" Then

nd ADDINSERT.Value <> "CKD" And ADDINSERT.Value <> "LIME" Then
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End
End
End
End
End

Label2l Visible = False
UQl.Visible = False

INSERTLIME]
INSERTLIME2
INSERTLIMEZ
INSERTLIME4
INSERTLIMES
INSERTLIMEG
INSERTLIMET
INSERTLIMES
INSERTLIMES
INSERTLIMELQ

Sheets ("LIME") .Selsct

Range ("T31").S5elect
hetiveWorkbook.Worksheets ("LIME") . sort.SortFields.Clear
ActiveWorkbook.Worksheets ("LIME")  sort.Sort¥ields,add Key:=Range("T31"), _

SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With' ActiveWorkbook.Worksheets ("LIMEY) .sort

.SetRange Range ("R31:AH1048000")

.Header = xlNo

.MatghCase = False

Orientation = x1TopToBottom

JSortMethod = x1PinYin

-Apply
Sheets ("Sheetl") .Select
End With
End 1If
If
If
It
If
Sub

Private Sub MMENU Click()

Sheets ("FLYASH") .Select
Range ("T31") .5elect
ActiveWorkbook.Worksheets ("FLYASH") .sort.SortFields.Clear

ActiveWorkbook Worksheets ("FLYASH") .sort.SortFields.add Key:=Range ("T31"), _

SortOn;=xlSortOnValues, Order:=xlAscending, PataOption:=xlSortNormal
With ActiveWorkbook.Worksheets("FLYASH").sort

.SetRange Range ("R31:AH1048000")

.Header = xlNo

-MatchCase = False

Orientation = x1TopToBottom

.SortMethod = xX1PinYin

-Apply

Sheets("Sheetl") .Select
End With

Sheets (“CKD") .Select
Range ("T31") .Select
ActiveWorkbook,Worksheets ("CKD") .sort.SortFields.Clear
ActiveWorkbook.Worksheets {"CKD") .sort.SortFields.add Key:=Range(“"T31"), _
SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("CKD").sort
.SetRange Range ("R31:AH1048000")
.Header = xlNo
«MatchCase = False
Orientation = xl1TopToBottom
.SortMethed = x1PinYin
-Apply
Sheets ("Sheetl") .Select
End With

Sheets ("LIME") .Select
Range ("I31") .Select
ActiveWorkbook .Worksheets ("LIME") .sort.SortFields.Cléar
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.add Key:=Range ("131"),

SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("LIME") .s50rt

.SetRange Range("R31:AHL048000")

.Header = xlNo

.MatchCase = False

Orientation = xlTopToBottom

SortMethod = x1Pin¥in

Whpply

Sheets("Sheatl") .Select
End With

data.CLEARFORM
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data,Hide
MainMenu, Show

End Sub
Private Sub movell Change ()
LE add,Value = "FLYASH" Then 'Works on the Flyash data sheet2
data.movell.Max = Sheetr? Range ("y29") .Value + data.movell.Min - 10
row = data.movell, Value
SHOWFLYASH
Else
If add.value = "CKD" Then
data,movell Max = Sheets,Range ("y29"). Ualue + data movelﬂ Min - 10
row = data.movel(,Value
SHOWCKD
Else
If add.Value = "LIME" Then -
data.movell.Max = Sheet3.Range ("y29").Value + data moualn Min - 10
row = data.mpvell.Value
SHOWLIME
End 1f
End If
End If
data.MOVEZ? .Value = data.movel0.Value
End Sub
Private Sub MOVEZ Change ()

If data.add.vValue = "FLYASH" Then ' - i
data.MOVEZ.Max = Sheet2.Range("y29").Value + data.MOVEZ.Min - 10
row = data.MOVE2.Value
SHOWFLYASH
Else
If data.add.Value = "CKD" Then
data.MOVEZ . Max = Sheat6. Range("yzs“] Value + data. MOVE2 Min - 10
row = data.MOVE2.Value
SHOWCKD
Else
If add.Value = "LIME" Then T
data.MOVEZ.Max = Sheet3. Ranqe{“yzg”) VBlue + data. MUVEZ Min - 10
row = data.MOVE2.Value

SHOWLIME
End If
End If
Bnd If
data.movell.Value = data.MOVEZ.Value
End Sub

Private Sub sortngi Click()
data.MOVEZ.Value = 31

row = 31
If add.Value = "FLYASH" Then

SHOWEFLYASH

Sheets ("Flyash") .Select

Range ("T31") .Select
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.add Key:=Range("131"), _

SortOn:=xlS5ortOnValues, Order:=xlAscending, PataQption:=xlSortNormal
With ActiveWorkbook.Worksheets("Flyash").sort

.SetRange Range ("r31:AH1048000")

-Header = xlNo

.MatchCase = False

.Orientation = xlTopToBottom

.SortMethed = x1PinYin

<hpply

Sheets ("Sheetl") .Select
End With

Elge
If add.Value = "CKD" Then ' 2 o 25Ty
SHOWCKD

- : '
Sheets ("CKD") .Select
Range ("T31") ,Select
ActiveWorkbook.Worksheets ("CKD") .sort,.SortFields.Clear
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.add Key:=Range("7T31"), _

SortOn;=xlSortOnValues, Order:=xzlAscending, DataOption:=xlSortNormal
With ActiveWorkbook,Worksheets ("CKD").sort

+SetRange Range ("R31:AH104BODO")

.Headar = ¥lNo

MatchCase = False

.Orientation = xlTopToBottom

.SortMethed = x1Pin¥Yin

<Apply
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Sheets ("Sheetl") .Selact
End With
Else
1f add.value = "LIME™ ThHen ' . . :
SHOWLIME

Sheers ("LIME") .Select
Range ("T31") .Select
ActiveWorkbook . Worksheets ("LIME") .sort.SortFields.Clear
ActiveWorkbook Worksheers ("LIME") .sort.SortFlelds,add Key:=Range("131"), _
SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xiSortNormal
With ActiveWorkbook.Worksheets ("LIME") .sort
.SetRange Range ("R31:AH1048000") .
.Header = x1No
.MatchCase = False
.Orientation = x1TopToRottom
‘SortMethod = x1Pin¥in
JApply
Sheets("Sheet1").Select
End With

End If
End If
End I£
End Sub

Private Sub sortsample Click()

data.MOVEZ.Value = 31

row = 31
1f add.Value = "FLYASH" Then 'Works on the flyash data sheet2
SHOWFLYASH

Sheets ("Flyash") .Select
ActiveWorkbook,Worksheets ("Flyash") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.add Key:=Range("Z31™), _

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets("Flyasn").sort
SetRange Range ("r31:AH1048000")
Header = xlNo
-MatchCase = False
.Orientation = xl1TepToBottom
.SortMethod = x1lPinYin
-Apply
Sheets{"Sheet1l").Select
End With
Eise
If add,Value = "CKD" Then ' 3
SHOWCKD

Sheets (“CKD") .Select
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.add Rey:=Range("Z31"), .

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets("CKD").sort
.S5etRange Range ("r31:AH1048000")
.Header = xlNo
~MatchCase = False
-Orientation = xlTopToBottom
-SortMethod = x1PinYin
-Apply
Sheets ("Sheetl") .S5elect
End With
Else
1f add.Value = "LIME" Then '
SHOWLIME

Sheets ("LIME") .5elect
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("LIME") .sort,.SortFields.add Key:=Range("Z31"), _

SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xl1SortNermal
With ActiveWorkbook.Worksheets("LIME").sort

.SetRange Range ("c31:AH1048000")

.Header = xlNo

.MatchCase = False

.Orientation = xl1TopToBottom

+SortMethod = x1PinYin

-Apply

Sheets ("Sheetl") .Select
End With

End If

End If
End If
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End Sub Private Sub sorthighway_click(

data.MOVE2.Value = 31

row = 31
If add.value = "FLYASH" Then
SHOWFLYASH

Sheets ("Flyash") .Select
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.add Key:=Range ("R31:R1048000" _

), SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
ActiveWorkbook.Worksheets ("Flyash") .sort.SortFields.add Key:=Range("531:51048000" _

), SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=x1SortNormal
ActiveWorkbook.Worksheets ("Flyash").sort,SortFields.add Key:=Range ("T31:T1048000" _

), SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets("Flyash").sort

.SetRange Range ("R31:AH1048000")

.Beader = x1No

.MatchCase = False

.Orientation = x1TopToBottom

.SortMethod = x1PinYin

-Apply
Sheets ("Sheetl") .Select
End With
Else
If add.vValue = “CKD" Then ' - =z = % sy BE==25
SHOWCKD

'Ry = S Eaty, = L Y
Sheets ("CKD") .Select
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.add Key:=Range ("R31:R1048000" _
), SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=x1SortNormal
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.add Key:=Range ("$31:51048000"
), SortOn:=x1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
ActiveWorkbook.Worksheets ("CKD") .sort.SortFields.add Key:=Range ("T31:T1048000" _
), SortOn:=x1lSortOnValues, Order:=xlAscending, DataOption:=x1SortNormal
With ActiveWorkbook.Worksheets ("CKD").sort
.SetRange Range ("R31:AH1048000")
.Header = xiNo
.MatchCase = False
.Orientation = x1TopToBottom
.SortMethod = x1PinY¥in

.Apply
Sheets ("Sheetl") .Select
End With
Else
If add.value = "LIME" Then ' -~ :: 2° = = ne ATk @dd==2

SHOWLIME

& GV I B 7Y
Sheets ("LIME") .Select
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.Clear
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.add Key:=Range ("R31:R1048000"

), SortOn:=xlSortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.add Key:=Range ("S31:51048000" _

), SortOn:=x1SortOnValues, Order:=x1Ascending, DataOption:=xlSortNormal
ActiveWorkbook.Worksheets ("LIME") .sort.SortFields.add Key:=Range("T31:T1048000" _

), SortOn:=xl1SortOnValues, Order:=xlAscending, DataOption:=xlSortNormal
With ActiveWorkbook.Worksheets ("LIME").sort

.SetRange Range ("R31:AH1048000")

.Header = x1No

.MatchCase = False

.Orientation = x1TopToBottom

.SortMethod = x1PinYin

.Apply
Sheets ("Sheetl") .Select
End With
End If
End If
End If

End Sub
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